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S.Y.B.A. Examination, 2010
STATISTICS (General)
Paper — I : Research Methodology, Sampling Techniques and Statistical
Quality Control
(New Course)

Time: 3Hours Max. Marks: 80

N.B. : 1) All questions are compulsory.
i) Figures to the right indicate full marks.
i) Use of statistical table and calculator is allowed.
Iv) Symbols and abbreviations have their usual meanings.
v) Graph papers will be supplied on request.

1. Attempt any two of the following : (2x5=10)

a) In SRSWOR, show that the probability of getting a specified rth unit in a
given jth draw is same as the probability of getting that unit in the first draw
itself. Hence find the probability of inclusion of aspecified unit in asample of
size n from afinite population of size N.

b) Discuss, in brief, the need for stratified random sampling. I's the mean of the
stratified random sampl e unbiased estimator of the popul ation mean ? Justify
your answe.

c) From a population of 500 units, a sample is to be selected by SRSWOR to
estimate the population mean X within 10% of its true value apart from 1in
20. If the popul ation coefficient of variation is 45%, determine the size of the
sample.

d) Write anote on OC curve of asingle sampling plan.

2. Attempt any four of the following : (4x5=20)
a) In dtratified random sampling, show that v(X,) is minimum for fixed cost,
[
C=C,+>.cn if n o NS ' '
0 Zi if n; o /Ja.Alsomterpretlt.
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b) Explainthe method of systematic sampling. Giveoneredl life situation where
it can be used.

c) Describe the method of construction of X -chart and R-chart while studying
control chart for variable.

d) State the ratio estimate and regression estimate of the population mean and
population total.

€) For a single sampling plan n = 10, and c= 2. Compute producers risk if
AQL = 5%.

f) Insinglesampling plan N = 750, n = 76, ¢ = 1 assuming all the lots submitted
are 0.5% defective. Compute AOQ and ATI.

3. Attempt any threeof the following : (3%x10=30)

a) 1) Determine the sample size under SRSWOR of a variable of continuous
type for agiven margin of error and confidence coefficient.

i) Enumerate the salient features of agood questionnaire.

b) Twenty three samplesof size4 each wereinspected for aquality characteristic
X. It was found that mean of sample means X is 0.43 and mean of sample
ranges R is0.01.

i) Compute control limitsfor X -chart and R-chart.

ii) If the process average shifts to 0.435, what would be the probability of
catching this shift on the second sample taken after the shift ?

c) For the double sampling plan N = 1000, n; = 50, n, = 50, ¢; = 1, ¢, = 2.
Compute ASN and ATI if P=0.01.

d) With usual notations, provethat v(Xy)pa < V(Xg)pa < V(X)srawor-

€) Explain the construction of p-chart by using :
1) Varying control limits

i) Averagesamplesize.
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4. Attempt any one of the following : (1x20=20)

a) A sample of 60 students drawn from a population of size 600 students
belonging to three colleges. The following information was collected about
certain characteristic.

Total No. | Sample Sample
Stratum
of students| mean |mean square
College | 250 30 64
Callege Il 250 25 81
College 11l 100 20 121

I) Obtain PA. and N.A. for n=60
ii) Estimatethe popul ation mean and the variance of thisestimator.
b) 1) What isthe meaning of ‘Research’ ? State various types of research.

ii) Distinguish between ‘Ratio Scale’ and ‘ Interval Scale’. In which situation
Likert scaleisused ?

B/11/10/100
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SY.B.A. Examination, 2010
POLITICS
(Special Paper —11) (2004 Pattern)
Western Political Thinkers (Old Course)

Time: 3Hours Max. Marks: 80

N.B.: i) All questions are compulsory.
i) Figuresto the right indicate full marks.
1. Answer any ten questions (in 20 words each) : 20

1) State the name two important books of Plato.
2) State any two objectives of Plato’s Education.
3) What isthe base of Aristotle s classification of state ?
4) Write Aristotle sdefinition of constitution.
5) Writetwo factorsinfluencingideology of Machiavelli.
6) What are the two parts of Machiavelli’ s concept of morality ?
7) What are the three types of Government suggested by John Locke ?
8) Which form of Government is best according to Aristotle ?
9) State the two demerits of socia contract theory of Rousseau.

10) State two characteristics of Rousseau’ s human nature.

11) Write name any two writings of Hobbes.

12) Who isthe author of “On Liberty’ ?

13) Which is the most famous book of Rousseau ?

2. Answer any two questions (in 50 words each) : 10
1) State the Plato’s concept of Philosopher King.
2) Explain Locke' s state of nature.
3) Write Hobbes concept about soverignty.

4) Explain Rousseau’s state of nature.

P.T.O.
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3. Answer any two questions (in 150 words each) : 20
1) Discusstheviewsof Machiavelli on human nature.
2) CriticiseMill’sviewson Liberty.
3) Describe the features of Locke's social contract.

4) Discuss Plato’s views on Education.

4. Answer any two questions (in 300 words each) : 30
1) DiscussAristotle’ sviewson revolution.
2) Describe the features of Hobbes social contract.
3) ExplainJ. S. Mill’ sviews on representative government.

4) Write an essay on the duties of the King which is suggested by Machiavelli.
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S.Y. B.A. Examination, 2010
ANTHROPOLOGY
(2004 Pattern) (General —11)
Indian Tribesand Tribal Welfare
(Old Syllabus)

Time: 3Hours Max. Marks: 80

N.B.: i) All questions are compulsory.
I1) Figures to the right indicate full marks.
1. Answer any ten of the following questions in maximum 20 words each : 20
1) Define scheduled tribe.
2) What isthe longformof 1.T.D.P. ?
3) State the names of any two nomadic tribes.
4) What is Race ?
5) Givecultural classification of Indian tribes.
6) What isreport writing ?
7) Defineethnography.
8) What is the name of youth dormitory of Gond tribe ?
9) Define'Y outh Dormitory’.
10) What is deforestation ?
11) Defineacculturation.
12) What isreservation policy ?
13) Definemigration.

2. Write notes on any two of the following in maximum 50 words each : 10
1) Racial classification of Indiantribes.
2) Datacollection.
3) Education and social change.
4) Tribal sub plan.

P.T.O.
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3. Answer any two of the following questions in maximum 150 words each : 20

1) How education and media are the factors of social change among Indian
tribes ?

2) What are the basic preparations necessary for anthropological field work ?
3) Givelinguistic classification of Indian tribes.
4) What isthe school drop-cuts problem in tribal society ?

4. Answer any two of the following questions in 300 words each 30
1) Explainthe structure and functions of youth dormitories.
2) What isthe policy of protective discrimination for tribal development ?
3) What are the characteristic features of adivasis ?
4) Discusstheisolation and assimilation as approachesto tribal welfare.
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SY.B.A. Examination, 2010
HOME ECONOMICS (General —11)
Sociology of Family (2004 Pattern)
(Old Pattern)

Time: 3Hours Max. Marks: 80

N.B.: i) All questions are compulsory.
I1) Figures to the right indicate full marks.
1. Answer the following questionsin 20 words each (any ten) : 20

1) Define Sociology.

2) Concept of the Nuclear Family.

3) What is Woman Education ?

4) Concept of the Head of Family.

5) DefineHindu Marriage System.

6) Define Human Race.

7) DefineFamily.

8) Concept of “Socialisation of the Child”.

9) Concept of Child Welfare.
10) Concept of Woman Welfare.

11) DefineUrban Family.
12) DefineRura Family.
13) Concept of ‘Maladjustment in Family’.

2. Answer the following questions in 50 words each (any two) : 10
1) Explaintheobjectivesof Marriage Institution.
2) Explain theimportance of study of Sociology.
3) Explainthemeritsof Nuclear Family.
4) Givetheimportance of education for Family Development.

P.T.O.
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3. Answer the following questions in 150 words each (any two) : 20
1) Describein brief the basic development of human race.
2) Discussthe merits and demerits of joint family system.
3) Describethe man function of family with suitable examples.
4) Describe importance of family in the process of socialisation of the child.

4. Answer the following questions in 300 words each (any two) : 30

1) Describe the causes of family disintegration in rural and urban sectors in
India

2) Explaintheroleof government in child and woman welfarein Indian Society.

3) Write an essay on social legislation about marriage and family in India after
Independence.

4) Give your opinion about the existence of family in modern days.
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S.Y.B.A. Examination, 2010
ENGLISH GENERAL (Optional)
Paper — Il (Understanding Fiction)
(Old Course) (2004 Pattern)
Texts Prescribed :
(i) Things Fall Apart : Chinua Achebe
(i) Animal Farm . George Orwell
(iii) Temporary Answers : Jai Nimbkar
Time: 3Hours

N.B.: 1) All questions are compulsory.
i) Figures to the right indicate full marks.

1. Answer any ten of the following in not more than 40 words each :

I) Explaintheterm ‘characterization’.
ii) Comment on the novel asan art form.
i) Differentiate between dramaand novel asgenreof literature.
Iv) What isfirst person narrative ?
v) Explaintheterm * protagonist’.
vi) How sub-plot contributes to the main plot in fiction ?
vii) What ispolitical satire?
viii) Comment on the role of minor charactersin fiction.
IX) What is meant by flat characters ?
X) What istheroleof irony infiction ?
xi) Explainwhat issatire.
xii) Write a brief note on structure of novel.
xiil) What do you know about Regional novel ?

2. Attempt any two of the following in not more than 100 words each :
1) Describethe customstraditions and superstitions of thetribal peoplein‘Things

Fall Apart’.
i) Consider ‘Things Fall Apart’ astragic Novel.

Max. Marks: 80

20

10

P.T.O.
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i) How would you analyse the plot and structure of ‘ Things Fall Apart’ ?

Iv) Draw acharacter sketch of Nwoye.

3. Attempt any two of the following in not more than 200 words each :
) Discuss the structure of ‘Animal Farm’.
i) Draw acharacter sketch of Old Mgjor.

i) Discuss‘ Temporary Answers as the novel based on human relationship.

Iv) Draw acharacter sketch of Nagendra.

4. @ ldentify and attempt any two of the following passages and write aparagraph
each ontheir relevance/significancein thelight of the pointsgiven below :

) In the morning, | awoke thinking of the swami. | asked myself why |
shouldn’t go and see him. Because | didn’t believe in that sort of thing.
What sort of thing ? After | came to Pune, an aunt, my Father’s sister,
asked mewhy | didn’'t go to atemple, or attend areligious|ecture now and
then. She said that just because | was educated | need not think myself
beyond help from religion. She said she knew a doctor and two college
professorswho went to the weekly kirtan which she always attended at the
Ramatemple. | had never doneit and thought | would feel like ahypocrite
iIf | started now. If thereisgod, | said, | would not like to use him for my

purposes. But thiswas also akind of chicanery, redly.
* Vineeta sbelief in God.
* Routineactivities of Vineeta' smother.

i) MADHURI amazed me. She settled into married life with absolute
contentment, asthough that was the end she had been striving for all along.
| had thought that she might become restless and miss the freedom of
college life, but she seemed to enjoy her new role thoroughly. She liked
being the mistress of the house-supervising the kitchen, making shopping
lists, finding fault with the servants and always being there looking pleased
and pretty, to receive Vilashome. They spent aquiet life, not entertaining

or going out much except to the movies, which Madhuri loved.
» Madhuri’smarriedlife.
» Madhuri’ s hopes before marriage.

20

10
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i) The pigs had set aside the harness-room as a headquarters for themselves.
Here, in the evening, they studied blacksmithing, carpentering, and other
necessary arts from books which they had brought out of the farmhouse.
Snowball also busied himself with organizing the other animals into what
he called Animal Committees. Hewasindefatigable at this.

» The dominance of the pigs.
« Snowball’ sorganization.

Iv) Threedayslater Mollie disappeared. For some weeks nothing was known
of her whereabouts, then the pigeons reported that they had seen her on
the other side of Willingdon. She was between the shafts of asmart dogcart
painted red and black, which was standing outside a public house. A fat
red-faced man in check breeches and gaiters, who looked like a publican,
was stroking her nose and feeding her with sugar. Her coat was newly
clipped and she wore a scarlet ribbon round here forelock. She appeared
to be enjoying herself, so the pigeons said. None of the animals ever
mentioned Mollieagain.

* Mollie slifeafter disappearance
* Mollie spersonality.

b) Attempt any two of the following : 20
1) What does Mgjor appeal the animal to do and not to do ?

i) How do Boxer, clover, the sheep, Benjam in, Moses help usin
understanding Orwell’ s criticism of Soviet Myth.

i) Discuss the theme of the novel ‘ Temporary Answers'.
Iv) Draw acharacter sketch of Kishori.

B/11/10/1,005
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S.Y.B.A. Examination, 2010
ENGLISH
Special Paper — 11
(Under standing Poetry)
(Old Course) (2004 Pattern)

Time: 3Hours Max. Marks: 80
Texts Prescribed : The Mystic Drum : An Anthology of Poemsin English

N.B.: 1) All questions are compulsory.
i) Figures to the right indicate full marks.
1. Answer any ten of the following in not more than 40 words each : 20
1) What isalyric ? Give an example.

i) Write two features of the Romantic Poetry.

i) What is hyperbole ? Give an example.

Iv) State any two features of Romantic poetry.

V) Explainthestructureof villanelle.

vi) What is the structure of Shakespearean sonnet ?
vii) Explain the concept of symbol with a suitable example.
viil) What is adramatic monologue ?

IX) What do you mean by elegy ?

X) State the importance of repetition in a poem.

xi) State any two features of War poetry.
xii) What do you mean by a pun ?

xiii) Definealusion. Givean example.

P.T.O.
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2. Attempt any two of the following in not more than 100 words each : 10
I) Describe various scenes depicted on the Urn in ‘Ode on a Grecian Urn'.
i) How does the poet express his grief for his lost friend in the poem ‘Break,

Break, Break’ ?

i) What appeal does the poet make to hisfather in ‘Do not Go Gentle into That
Good Night’ ?

Iv) Inwhat senseisthe poem ‘London’ asatire ?

3. Attempt any two of the following in not more than 200 words each : 20

I) Discuss ‘Goodbye Party for Miss Pushpa T. S.’” asan Indian poem in Indian
English.

i) “The poem ‘Richard Cory’ depicts life and death as seen by the people’.
Explain.

i) Comment onthenarrator’ sattitude towardsthe old womanin‘An Old Woman'.
Iv) How does the poet handle the theme of poverty in the poem ‘Hunger’ ?

4. @ Explain with reference to the context any two of the following : 10
1) Hewill not go behind hisfather’ s saying,
And helikes having thought of it so well
He says again, “Good fences make good neighbours’.

i) Death beginsto seem afriend that one has almost
forgotten, then remembers.
In my dream, last night, | was playing in the garden.
i) Restore usto fire. New refugees,
Wearing blood-red wool intheworst heat,
Come from Tibet, scanning the sea from the north,
Dazed, holesin their cracked foot.

Iv) Then the drum beat with the rhythm
of things of the ground
and invoked the eye of the sky
the sun and the moon and the river gods
and the trees began to dance.
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b) Attempt any two of the following : 20

1) How doesthe poet justify woman’ screativity and her superiority over man
in‘Womanto Man’ ?
i) Discuss SylviaPlath’'s *Daddy’ as a confessional poem.
i) What isthe significance of the comparison between the pictures of mother
and child in the poem ‘ Refugee Mother and Child’ ?

Iv) How does the poem ‘ Father Returning Home' deals with the theme of

man’ s estrangement from aman-made world ?

B/11/10/1,065
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SY.B.A. Examination, 2010
SOCIOLOGY (Special —1)
Foundations of Sociological Thought
(Old Syllabus) (2004 Pattern)

Time: 3Hours Max. Marks: 80

N.B.: i) All questions are compulsory.
i) Figuresto the right indicate full marks.
1. Answer any ten of the following in maximum 20 words each : 20

1) What is socia thought ?

2) Statethe meaning of Positivism. (Comte)

3) State the meaning of social statics. (Comte)

4) What isHistorical Materialism ? (Marx)

5) What islogical action ? (Pareto)

6) Statethe meaning of Anomie. (Durkheim)

7) Statethe meaning of Totemism (Durkheim)

8) Who stated conflict theory ?

9) Name the two types of societies mentioned by Spencer.
10) Givethemeaningof SurplusValue. (Marx)
11) Write any two consequences of Industrial Revolution.
12) Statethe meaning of socialism. (Marx)
13) Statethe meaning of organic solidarity. (Durkheim)

2. Write notes on any two of the following in 50 words each : 10
1) Non-logical action. (Pareto)
2) Westernization. (Srinivas)
3) Any four characteristics of caste as given by Dr. Ghurye

4) Differences between organism and society. (Spencer).
P.T.O.
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3. Answer any two of the following in maximum 150 words each : 20
1) What isenlightenment ? Explain.
2) Describethefeatures of socia fact. (Durkheim)
3) Explain the concept of dominant caste and Sankritization. (Srinivas)
4) Explain Dr. Ambedkar’ sviewson untouchability.

4. Answer any two of the following in maximum 300 words each : 30
1) Elaboratethetypes of authority given by Weber.
2) Explainthetheory of social evolution as given by Spencer.
3) Describefunctional and interactionist theoriesin brief.
4) Explainthetheory of class struggle given by Max.
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3. WeficTieh! hivcITel Qe et Sciehl 150 Ieamwid 3w foret
1) Jee RIS S 7 TS .
2) "M qeAT=a JfRTeesIT auiH . (GEiH)
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4) et e I ot ger Rrgra Tuse .
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SY.B.A. Examination, 2010
SOCIOLOGY (Special —11)
(Indian Society : Issues and Problems)
(Old Syllabus) (2004 Pattern)

Time: 3Hours Max. Marks: 80

N.B.: i) All questions are compulsory.
I1) Figures to the right indicate full marks.
1. Answer any ten of the following in maximum 20 words each : 20
1) State the meaning of social problems.
2) What isgender inequality ?
3) Givethe meaning of personal deviation.
4) Definedomestic violence.
5) What isecological degradation ?
6) Definesuicide.
7) Defineterrorism.
8) State the meaning of sexual abuse.
9) Defineageing.
10) Definecaste.
11) What iscriminalization of politics?
12) Writetwo typesof environmental pollution.
13) Definecrime.

2. Write notes on any two of the following in maximum 50 words each : 10
1) Problemsof minorities.
2) Problems of women workers.
3) Displacement dueto Narmada Dam.
4) Causes of drug addiction.

P.T.O.
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3. Answer any two of the following in maximum 150 words each : 20
1) Define poverty. Discuss causes of poverty.
2) Explainthe causes of domestic violence.
3) Discuss causes of suicide.
4) Explain causes and consequences of white collar crime.

4. Answer any two of the following in maximum 300 words each : 30
1) Explain the characteristics and the causes of social problems.
2) Define dowry. Discuss the causes and consequences of dowry.

3) What is juvenile delinquency ? Explain the features and causes of juvenile
delinquency.

4) Elaborate the features and causes of corruption.

8T YT
AT AATIHH
gl i) & g A .
ii) FTaiweicT 37 JeATd QU T Fard.
1. ETeicTdeh! ShIvTTE! eTel Teieh! 20 IeaTaid 3w fofel 20
1) TrTieres werEr 31ef |,
2) fermsraTeres forwwar rev s 7
3) =aferaa forereman 31¢f @,
4) g fereh TRt e .
5) IRy 4 FeUISl S 7
6) ITTcHEIT ! ST .
7) SEIadTET= ST .
8) ifireh weatan 31k |y,
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9) Tt SATEAT .
10) STef=ht = o,

11) TSRO AT TE0TS! 1 ¢
12) wafeRe YGHUTT G SR |,
13) TR ST .
2. ETeficTish! SHIVTTE! Qreiar Seisht 50 wrearaia St foret 10
1) ATHTHT T,

2) St TR qEE.
3) THaT YRGS STeie! SAATTIH.
4) TTE YT i< IO o,

3. WAl HIVTE Faret Tk 150 IearRid I foret - 20
1) s S foTel. ST hvTr <= .
2) Igforeh feHTaTri Shol T .
3) ITTCHER=AT I ==l .
4) Ui TR SRl J TR T 3.

4. Ereficttsh! HIvTTET rere Teht 300 wsared 3w forer : 30
1) TmoTiore TueTe AT o RO TR .
2) TSI AT 1. TS ShIOTT= & TROTHT= == .
3) A TEUTS! S ¢ AT S fRTse=! STTTUT R0l T6 Al
4) g Af3Tsest 9 o forwTe .
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T.Y.B.A. Examination, 2010
STATISTICS (Special)
(Distribution Theory)

Time: 3 Hours Max. Marks: 80

N.B. : 1) All questions are compulsory.

2) Figuresto the right indicate full marks.

3) Use of calculator and statistical table is allowed.

4) Symbols and abbreviations have their usual meanings.

1. Attempt any ten of the following : (2 each)
a) State the relation between normal and lognormal distribution.
b) State Chebyshev’s theorem for discrete random variable.
o If x - uU (-1, 1), state mean and variance of X.
d) State additive property of Cauchy’s distribution.
e) State relationship between Weibull and gamma distribution.
f) Define order statistics and state where it can be used.
g) If X —L (0, 1). State its distribution function (d.f.)
h) Give real life situation where truncated binomial distribution can be used.
1) If (X,Y) - BN (O, 0, 1, 4, 0.5) then state conditional distribution of Y given
X =1

HIf X— B(lOO, }é) then compute p (X <50) by CLT.

k) If X — C (0, 1) then state the distribution of %
3 3
) If (X1, X5, X5) = M D (n, py, Py, Pg) Where Elxi =n and Elpi =1 then state

the distribution of X,
m) If X — U(-=/,, n/,) then define its p.d.f and d.f. of X.

P.T.O.
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2.

Attempt any two of the following : (5 each)
ad Let X — U (& b), find its mean deviation about mean.

b) If X - W (o, B) then find its median.
c) State and prove Chebyshev’s inequality for continuous random variable.
d) Let (X; X, - X,) — M D (n; p;, py, --—- p) Where Xpi=1and

n
%Xi =n then find its m.g.f. and hence obtain marginal distribution of X;.

. Attempt any two of the following : (10 each)

a) State and prove Central Limit Theorem (CLT) for i, i, d r.v.s. based on m.g.f.

b) If X — L (u, 1) then obtain its first four cumulants and hence find 3 ; and
B2

c) If X and Y are two independent U (0, 1) variates then find the distribution of
(X =Y) asocaculaeP[ [X —Y]|<0.5].

X
d Let (X,Y) > BN(0O0 1, 1, p). Derive the distribution of u = v and
identify the distribution.

. Attempt any two of the following : (15 each)

a) i) Let X have Poisson distribution with parameter ‘m’. If the distribution is
left truncated at X = 0 (value zero not observable) find p.m.f. of theresulting

distribution. Also find its mean and variance. 8
i) If X - LN (a p, 69, find its rt" moment about ‘a and hence find
mean. 7

b) i) A continuous random variable X has Laplace distribution with parameter
3
u=2and A = P find p(JX|< 5) and p(-3 < X < 1). 8

i) If (Xq, Xy, ----- X,) — MD (n; py, py, -- py) then find Corr (X, Xj) 7
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o i) If X4, X, ... X, isarandom sample from exponential distribution with
mean 6 . Derive the distribution of X .

Where X(n) = Max. {Xq, X5 ... X} 8
i) 1f X —» C(u, ) findits Q; and Q. 7
d) i) If X and Y aretwo independent N (0, 1) variates, obtain the distribution
X
of — . 8
Y

i) A continuousr.v. X such that E (X) = 7 and E (X?2) = 53. What is the | east
value of p (3 < X < 11) ? and what is the value of ‘K’ such that
p[ X =7]<K] =096 7? 7

B/11/10/100
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S.Y.B.A. Examination, 2010
COMMERCE (General —11)
Business Accounting (2004 Pattern)

Time: 3Hours Max. Marks: 80
N.B.: 1) All questions are compulsory.

2) Figuresto the right indicate full marks.
3) Use of calculator is allowed.

1. Answer the following questions (any five) : 10
a) What ismeant by ‘Book-Keeping' ?
b) What do you mean by Asset ?
c) State therule of personal account.
d) What is bad debt ?
e) Definetheterm‘journal’.
f) What isdrawing ?
g) What is Goods Received Note ?

h) State any three objects of book-keeping.

P.T.O.
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2. Journalise the following transactions2007 : 20
July 1 — Started business with cash Rs. 40,000
July 5 — Deposited Rs. 5,000 into Rupee bank.
July 10 — Purchased goods from Amar for Rs. 3,000 for cash.
July 11 — Paid office rent Rs. 2,000
July 13 —Withdrew for personal use Rs. 1,000
July 17 — Sold goods for cash Rs. 6,000
July 19 — Paid for stationery Rs. 800 in cash
July 20 — Received commission Rs. 500
July 22 — Purchased goods from Ravi on credit Rs. 1,000
July 23 — Distributed goods of Rs. 1,000 as free sample
July 25 — Paid salary to Parag Rs. 2,000
July 27 — Paid to Ravi Rs. 1,000

July 31 — Paid wages Rs. 200 to Pakash.

OR

Explain the rules of Journalisiling and describe the classification of Accounts.



From thefollowing particulars, prepare a cost sheet for the year ended 31-12-07.

Direct material
Direct wages
Direct Expenses
Indirect wages
Factory Rent
Lighting (factory)
Heating (factory)
Motive power

Director fee

OR

Director fee (factory)

Factory cleaning
Office Expenses
Factor stationery

Office stationery

Loose tools

The total sales has been 1,60,000.

Rs. 33,000

" 35,000
" 2,000
” 10,000
" 7,000
2,000
" 1,000
" 4,000
" 1,000
" 1,000
" 200
" 100
" 400

” 500

" 500

Office Rent
Water Supply
Factory insurance

Officeinsurance

Delivery van expenses

Bad debt
Advertising
Salesman salary
Bank charges
Sales commission
Depreciation

Plant
OfficeBuilding

Legal Expenses

3. A) Explainthe objects, utility and importance of Cost Accounting.

[3801] — 664

Rs. 500

" 1,000

” 1,000

500

100

200

300

" 1,000

7

100

500

300

700

300

15
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B) Definetheterm overhead. Explain itsvarioustypes. 15

OR

Thefollowing particularshave been extracted in respect of material ‘Z’. Prepare
astore ledger account pricing the material issue on the basisof ‘Last In First

Out’” method.

2007

January 1 Opening stock 220 units @ Rs. 9 each.
-7 — 4 Purchased 540 units @ Rs. 9.10 each
-7 — 5 Issued 280 units
-7— 10 Purchased 180 units @ Rs. 8 each
_"_ 16 Issued 160 units
-"— 18 Purchased 340 units @ Rs. 10 each
S 25 Issued 200 units

4. Write short notes on (any 4) : 20

a Utility of book-keeping

b) Ledger

c) LIFO and FIFO methods of pricing material

d) Purchase procedure

€) Timekeeping and Time booking

f) Limitationsof financial accounting

g) Trial Baance

B/11/10/230
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SY.B.A. Examination, 2010
MATHEMATICAL STATISTICS
General Paper — |
(Mathematical Statistics —11)
(New Course)

Time: 3 Hours Max. Marks: 80

N.B. : i) All questions are compulsory.
i) Figures to the right indicate full marks.
Iil) Use of calculator and statistical table is allowed.
Iv) Symbols and abbreviations have their usual meaning.
v) Graph papers will be supplied on request.

1. Attempt any two of the following : (2x5=10)
a) 1) Define probability mass function (p.m.f) of a random variable (r.v.) X.
i) Determine ‘k’ such that the given function isa p.m.f :
k _
X =X|= 1X;1,2 ......
p[ ] —(X— ! k>0
b) Let X; and X, be independent Poisson random variables with parameters
M, and M, respectively. Obtain the distribution of Y = X;+X,,
¢) With usual notations, d@crib(_eal_a_rge sampletest for testing H ;= , against
Hip<up,. Use 5% level of significance (l.0.s.).

d) State any five advantages of chain base index number over fixed base index
number.

2. Attempt any four from the following : (4%5=20)
a) If X isarandom variable (r.v.) with p.m.f. :

6
pIX =x]=—55:x=123...
n°X

=0:0.w.

Check whether E(X) exists.

b) State and prove lack of memory property of geometric distribution. Also state

its interpretation.
P.T.O.
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c) Customers arrive at a certain petrol pump in acertain city in a Poisson process
with an average time of 4 minutes. The time interval between services at the
petrol pump follows an exponential distribution.

The mean time taken to service one vehicle is one minute.
Find :
1) The probability that the petrol pump isidle.
i) Expected length of the system.
iii) Average time spent by a customer in queue.
d) Discuss in detail income method of measuring national income.

€) A random sample of 200 bolts manufactured by machine ‘A’ and 100 bolts
manufactured by machine ‘B’ showed 20 and 5 defective bolts respectively.
Test whether machine ‘B’ is better than machine ‘A’ in respect of producing
defective bolts. Use 5% level of significance. (.0.s.).

f) Show that X, ,5 is uncorrelated with X, and X,.

3. Attempt any three from the following : (3%x10=30)
a) Thejoint p.m.f of (X, Y)is:
p(x,y) = 0P ;x =12,..., (-1
y=2314
O<p<lg=1-p
Find
1) The margina p.m.f of Y.
i) The conditional distribution of X givenY =y
i) E(X|Y=y)
iv) V(X[|Y=y).
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b) i) Let X, and X, are independent Poisson variates with parameters m; and m,,
respectively. Obtain the distribution of X;| X;+X, = n; n being non-
negative integer. ldentify the name of your distribution.

i) Let X~NB (k,p). Obtain moment generating function of a r.v. X, hence
find mean and variance of it.

c) i) State the various components of time series. Discuss in detail two of them
with suitable example each.

I1) Describe moving average method to estimate trend in a time series.

d) Explain the concept of multiple correlation coefficient in case of trivariate
data. Also obtain an expression for multiple correlation coefficient Ry 55 in
terms of total correlation coefficients ry,, ry3 and ros.

€) i) Explain the concept of ‘deflating’ of index numbers. Also state its uses.
i) Discuss the census of products method of measuring national income.
4. Attempt any one from the following : (1x20=20)

a) 1) Explain the term partial correlation coefficient in case of trivariate data.
Derive an expression for the partial correlation coefficient r,, 5 in terms
of total correlation coefficients. 10

i) Construct a cost of living index number for the following data and
interpret it. 4

Commodity Base year price Baseyear quantity Current year price

A 4 40 6
B 11 90 14
C 7 20 9

D 3 30 7
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i) Compute GNP, NNP at factor cost. Given that :
GNP at market price = 1,00,000 crores Rs.
Indirect taxes = 6,000 crores Rs.

Subsidies = 1900 crores Rs.

Depreciation = 8000 crores Rs.

Net income from abroad = 1800 crores Rs.
Also compute NDP.

Where GNP, NNP and NDP are Gross National Product, Net National
Product and Net Domestic Product respectively. 6
b) i) Define the following terms : 10
|) Statistical hypothesis
I1) Critical region
[11) Typel and Type Il errors.
V) Time series
V) Index numbers.

i) Define the term ‘ Cumulant Generating Function’ (C.G.F.). State and prove
its any two properties. 7

i) Discuss additive model and multiplicative model in time series analysis. 3

B/11/10/100
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T.Y. B.A. Examination, 2010
APPLIED STATISTICS (General)
Applications of Statistics

Time: 3 Hours Max. Marks: 80

N.B. : i) All questions are compulsory.
i) Figures to the right indicate full marks.
lii) Use of calculator and statistical table is allowed.
Iv) Notations and abbreviations have their usual meanings.

1. Attempt any ten of the following : [2 each]

a) Define cumulative distribution function of acontinuous random variable (r.v.).

b) State any two properties normal distribution.

c) Let X — N (4, 16). Find P[X > 6.4].

d) Explain the term *Alternative hypothesis' with illustration.

e) State the formula of STDR in case of direct method.

f) Define Net Reproduction Rate (NRR).

g) Explain the term process control.

h) State any two measures of fertility rate and any two measures of mortality rate.

i) State the test statistic for testing Hy: u=p, against H,:u >u,, when large
sample is drawn from the population.

]) Write and explain the terms used in mathematical model used for one way
analysis of variance.

k) Explain in brief concept of distribution free statistic.
I) Explain the term ‘chance causes of quality variations.
m) State the interpretation of low spots on p-chart.

2. Attempt any two of the following : [5 each]

a) If X isar.v. with probability density function (p.d.f.)
f(x)=k/~/x ,0<x<4

=0 ; otherwise
Find the value of constant k and obtain distribution function of X.

b) For a certain normal distribution, exactly 8% of the items are below 40 and
90% items are below 60. Find the mean and standard deviation of the
distribution.

¢) Explain the test procedure for testing H, : P = P, against
H, : P < P,, where P is population proportion.

d) Describe the procedure of construction of C chart when standards are not
given. P.T.O.
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3. Attempt any two of the following : [10 each]

a) 1) A nitrogen fertilizer was used on 10 plots and mean yield per plot was
found to be 82.5 bushels with standard deviation equal to 10 bushels. On
the other hand, 15 plots treated with phosphate fertilizer gave a mean yield
of 90.5 bushels per plot with standard deviation equal to 20 bushels. Test
at 5% level of significancewhether thetwo fertilizersaresignificantly different

on the basis of the mean yield. 6
i) Describe the procedure to test H,: 6% = 62 against H; o7 > 05. 4
b) i) Compute STDR for the local population from the following data
L ocal Population Standard
Age Group .
Population |ASDR Population
0-5 30000 100 50000
5-15 35000 25 60000 6
15-40 65000 10 160000
40 and above 20000 30 30000
i) Explain in brief distinction between a parametric and non-parametric
problems. 4

c) Given below are the values of sample mean ¥k and the range (R) for ten
samples of size5 each :

Sample Number | Range Mean
1 4 35
2 5 34
3 4 30
4 6 36
5 6 37
6 3 31
7 7 35
8 5 32
9 3 36
10 5 34

Set up X and R-charts, examine the state of control of the given process.
Comment on your results. 10
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d) i) The following data on vaccination was collected in a hospital to find out
whether vaccination reduces the severity of any attack of swine flu.

Severe Not severe

Vaccdnated 50 750
Not vaccinated 80 10
Test whether the vaccination and severity are associated. Use 5% level of
significance. 5
i1) Explain concept of analysis of variance. 5
4. Attempt any two of the following : [15 each]
a) i) Describe large sample test for testing H, : u, = w,against H, : u # | 5
i) Complete the following analysis of variance table : 5
Sour ce of Degr ees of Sum of = Mean sum of :
. F-ratio
variation freedom squares squares
Treatment ? 220 ? ?
Error 15 ? ?
Total 19 560.2

iii) Define the following terms :
Crude Death Rate (CDR),
Age Specific Fertility Rate (ASFR),
Gross Reproduction Rate (GRR). 5

b) i) Let X and Y be two independent normal variables with means 4, 6 and
variances 16, 25 respectively. Find
) P(6X +Y >10)
) P(|X=-Y|<2 5
i) Test the randomness of the sequence of defective (D) and non-defective
items (N) in the sample given below :
NNDDDDNDNDDDN
Use 5% level of significance. 5

iii) Define the following terms :
Critical region, level of significance, statistic. 5
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c) i) Compute Gross Reproduction Rate (GRR) and Net Reproduction Rate

(NRR) for the following data : 10
Age-Group Femal_e F?opulation No. qf female | Survival

(in '000) births rate
15-19 140 4500 0.92
20-24 110 11700 0.89
25-29 102 9200 0.88
30-34 96 3900 0.87
35-39 102 1050 0.85
40-44 97 480 0.84
45-49 91 140 0.82

i) Describe the sign test. 5

d) 1) The following table is obtained from the inspection on completed units of
a product in 20 lots of size 100 each.

Lot No. 12|13 4|5|6 78] 9 10
No. of Defectives | 4 | 9 |11 7 | 5| 4 5| 2 2 | 4
Lot No. 111213 /14 (15|16 |17 11819 20

No.of Defectives | 3 | 6 | 7 2 | 2 |4 3|9 51| 7

Set up an appropriate control chart and comment on the state of control. 10
il) Describe the procedure of the Chi-sguare test of goodness of fit. 5

B/11/10/100
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S.Y.B.A. Examination, 2010
MARATHI

G-2 : IR AT 6. 2
1) smyfaes et Wi
(T rvaTEsRH)
(2004 Pattern)
UTSIYEh ¢ i) Ed RET - . 9. 3T
i) ATIeE -SRI HIST[BR
iii) ferueT=t sitere - Seudl Fius
iv) feremtyTen —aehdiel et St

Time : 3 Hours Max. Marks: 80
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9. JEICTeh! g@T TR 3T Teiehl Ro I1eaTd foral : R0

%) TeshT=! ¥12h ShIVTd, o T,
R) M. .G T IRET AT A1 HYT IVl T HiSel T8 ?
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93) TormfTe’ =1 e HuTEe T 371" 7
%3) dehd e ALHURITE ST AT ST7H hid T wefl 311t 7

P.T.O.
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G —2: 2) saragriteh 9 SUAINTg Wt
(2004 Pattern)

Time : 3 Hours Max. Marks : 80
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T TG 3T SFTSIeUHEd Sael hell 3712,
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S.Y.B.A. Examination, 2010
MARATHI (wrat)
Terororea - arvmmautaenT - 1
It TifeeaTdier fafery wamg (1885-1985)
(2004 Pattern) (AT AYATHHA)

UTEIYEAh : §) AR — TH TR

R) ek — g TNTEd
3) areaTa - i, el
¥) gug - faan S

Time 3 Hours Max. Marks: 80

. JRITUshl ShIvTcTE! gaT SeT=h I e srearaeid foret R0
%) TTH TR AT SHIVThIVTRT AT IHRT hodT ?
R) TH TR A=A A1 S 719 & 8id 7
3) T TR 3T sholedT g4 feperh = forer.
¥) T TR shIvTdt Tehdt fiesaret! gidt ?
Y) “SRgEs TN HH ¢

&) AT T IHTEHAAT IATITRT HIHT ShivTdT ?
\9) o AT HIEATEAT G 9T 2hivrd A1 foed 3718 7

¢) Teeett sretren w.fir. sieft = o 3o feeft @18 7

]) TR e IV TEd AT 7

P.T.O.



[3801] — 603 RO A

R. ST TR 3T aaTE vrear e fote Y
) TH TRU=AT U T STSTufiaun et faed 3t ¢
e
g1 T = AT AiETE el S o e o 7
q) P MY AT JAHIUHAR orard 1.5, St A ShiveRivd THAER STgwe aifiet
3Ted 7 Y
fepan
‘gug’ wefie ATTSTet=h SfRTSesl T8 .
3. ST TR 3T USRI TATH QT4 fofal %0
) TR forier e Tt .
fefan
FgaE " sl 3 Tuigei o o ued 7
) ‘AT Witeser A1 ward Ui, sef 7 I vt o e T o 7 %0
feha
“gug’ =1 YR TaaT e Yuehfardrei f3Tsest T,
¥, et JeTe W 91 I1eaTd foret 30
) THIR A1 AT AT JATER TH TReR AT t@rel.
feha
HIIF AT AAd T ST T Teeied il HTaser JuiH .
) SreE Helle TATERIMTAd BUIT=T S fafaR == THe! =T,
fehan
Tore et FeaeiEaTe a3t ‘gue’ AT HITEURT=T SR |,
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S.Y. B.A. Examination, 2010
GERMAN (Old Course) (2004 Pattern)
(Special Paper 11 Landeskunde
(Study of Culture and History)

Time: 3Hours Max. Marks: 80

Frage I: Beantworten Sie DREI der folgenden Fragen! (18)

1. Wie kamen die Germanen mit den Romern in Beriihrung? Was waren die Folgen
davon?

2. Was wissen Sie iiber den Streit zwischen dem Kaiser und dem Papst im 11.
Jahrhundert?

3. Worum ging es bei dem DreiBligjdhrigen Krieg? Wie endete er?

4, ‘Noran scheiterte die Weimarer Republik?

5. Welche Ziele hatte die NSDAP? Wie weit konnte sie sie erreichen?

Frage II: (A) Schreiben Sie ausfiihrlich iiber EINES der folgenden Themen! 8)

1. Bismarck

2. Die Stadtebiinde im Mittelalter
3. Der 1. Weltkrieg

4. Die Kreuzziige

(B) Ergénzen Sie die folgenden Liicken! (nur 8 Liicken) (8)

1. Der romische Feldherr ----- zeichnete in seinem Buch ----- seine gallischen Kriege
gegen die Germanen auf..

Johann Gutenberg erfand ----- in Mainz.

Die frithen Germanen lebten in -----, So nennt man den Verband der Familien, die
miteinander blutverwandt waren.

Bischof ----- iibertrug das griechische neue Testament in die ----- Sprache.

Die ----- war das Symbol der deutschen Teilung.

Hitler setzte am 30. Januar die Verfassung der ----- ----- aufler Kraft.

----- war der 1. Prisident der Bundesrepublik.

----- veriibte Kritik iber die Rolle der Kirche mit seinen 95 Thesen.

W N

®© N LA

Frage III: Schreiben Sie iiber ZWEI der folgenden Themen! (12)

Ein Vergleich zwischen den indischen und deutschen Festen
Die politischen Parteien in Deutschland

Die Lage der Frau in Deutschland

Das Klima und die Jahreszeiten in Deutschland

ol o o

P.T.O.
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Frage IV: Beantworten Sie ZWEI der folgenden Fragen! (12)

1. ,,Die Rollen von Ménnern und Frauen in Osterreich werden einander dhnlicher.*
Nehmen Sie Stellung zu dieser Aussage!

2. Was wissen Sie iiber die Massenmedien in Osterreich?
3. Erkléren Sie die Begriffe ,Alpenrepublik’ und ,Altenrepublik’?
4. Schreiben Sie iiber die Dialekte in Osterreich!

Frage V: Schreiben Sie iiber ZWEI der folgenden Themen!

Cr2)
1. Auslidndische Wohnbevélkerung in der Schweiz
2. Schweizer Familien
3. Schweiz und Neutralit:it
4. Politisches System in der Schweiz
Frage VI: Erginzen Sie die folgenden Sitze! ( nur 10 Liicken ) (10)

1. ,,Osterreich stirbt aus!“- ,,Wer wird unsere Pensionen bezahlen?* konnte man in
Schlagzeilen der ----- lesen.

2. Besonderes Merkmal der Schweizer Demokratie ist der -----.
3. Durch Arbeitslosigkeit, durch niedrige Renten, durch Alleinleben miissen viele

Menschen in Deutschland von der ----- leben.
4. Angela Merkel ist ----- Deutschlands.
5. Die Donau entspringt im ----- und miindet ins -----.

6. Die Schwierigkeiten im dsterreichischen Zeitungsmarkt liegen im vergleichsweise
geringen Werbe----- .

7. Frauen in der DDR drangen allerdings nur selten in Fiihrungspositionen vor.
Das politbiiro der SED war z. B. Ein reiner ,,-----.
8. Die deutsche Sprache gehort zur Familie der ----- Sprachen..

9. Im Herbst gibt es in Deutschland -----, oft verbunden mit Trachtenfesten.

10. ----- ist die hauptstadt von Sachen.

11. Jeder ménliche Schweizer muss iiber ----- Jahre hinweg einige Wochen
Militérdienst leisten.

B/11/10/200
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S.Y.B.A. Examination, 2010
fe=dt - W — 2 (T UTeusn)
(G —2) (2004 Pattern)
(SRETHT, YT HITAT SATHIT AT — TEH)
UTSAYEAS :  |) HYTHALN — GUT. . YUt g
ii) syl wrea & WU - 9. 3. Tyanrurty sutsa
T ;3 HOS quTieh : 80

o0 i) TH I A E
ii) gt o7 ford ofes 397 & QUi & |

1.31) ffciRad o7ush wreai # @ fohmel o o fedt arfeiye: wreg forfiae 4

1) Entry 4) Grant
2) File 5) Justice
3) Fraud 6) Key-Board.

3m) Frefcriiaad SRt 5 @ ToRegl =R 3l a1 o FRMTTER 3 ek T 8 forfaw 4
1) 3THAT@L |
2) TH TR 1 gY STTST BT R |
3) &l 31 Jad o |
4) 39 Teh | 1 HTAT SR |
5) 3= 3T AT |
6) TIR Sk TSI L |

3) Taferfaa o @ foret wen vt o1 Trew dam ifsre 6
1) g / AT STUSTA, HETRTE U3, 0 o Aok FEATE o TG ohl HEoat hl TaHT o

foemor 7w forean / foradt 2 |

2) g / TSI T, TIART H, TTer, Rl el HeTioranerd, TR i fiwdl -l
UG % ag A -1 foraar / foeradt 2 |

3) FrfaRad sree-gmi # & foreel ot o o7ef sraTeRt o | e hife 6
1) 33 /8™ 4) & [ Jea
2) fr [ = 5) He / oA
3) s/ s 6) woft / Hoft

P.T.O.
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2.31) Ffaiad staawon 4 9 fordt ues i ooey saren i
1) ‘39 Uk U] Ul ot fSreh g | HgsAl sht-wt Aan ot |
2) ‘o1 1 1S THRI 38 TR T 2 a1 off 20 Ta | Tt T2l w
31) FrfrRaa staawon @ 9 fordl Uek ol aeev e i ;
1) “‘STet =T i "I W
ORI 3 3T ol Th 3@
e TS o fordl Trerl wenfd 1 sawik
FEE |
2) ‘R ST i, i T, T
321 31 SIvgehi | R AT <14
T TT ot W FwEETE |
3. 31) Frferfaa wei @ @ foret wem w9 =1 3 fetfia
1) YAeh—IST o SI1E YT 3T 3Heh ol ohl T oz T8 7
2) ‘G’ et o ardT 1 =i - e i |
a) Trfcrfaa weai 6 | foret weR wod o1 SR foTfae
1) ““B9 % T Hidal H e 4 STUT i -erd fohg AT 7

5

10

10

2) ‘S i AT Hiadr § hid 7§ sl HeAT 1 qui R TeRR fR R 7

4.31) fFefafad et 8 @ foregi i e & 3w ferflaw
1) et 3 IfeR o 1Y a1 TWIeh TR ?
2) “Tma’ e H a3 STt feerat fohe SeRr s At oft ?
3) TR T JaTieeh Sfta T o ?
4) ITehIET o T 1 qicer e ?
5) T’ uTS o T 1 A - e Tse AifT |

a1) freforfaa st 6 & foref ot et <h 3T forfa
1) ‘et fore’ i1 & e = F2MaT 1 H8 GTGH ST ?
2) ‘S o HATEA HiedT T LT TN ST |
3) ‘oruiiek Sl e’ shferar =t sy forfaw |
4) “faar =t # wepta o feeror form ®a H gam 2 7
5) ‘STegT shicrdr & Ffofa arareror st fmor A |

15

15
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S.Y.B.A. Examination, 2010
T &= (G - 2)
T (2at YUAT utgershy (Jhfeuss) (2004 Pattern)

T ;3 HS 9ok : 80

GEATT 1 i) @I S
i) arfet s7i ford sidk 7 & qUIE & |

1.37) Feferfaa s aiftanfyes weei § 8 fordi B8 vreal o &t urfeaives sree farfae

1) Agreement 5) Junior
2) Banking 6) Official
3) Computer 7) Recurring
4) Face value 8) Transfer.

am) frfafaa s arftiyes st @ @ i o o B aritafes st ffau
1) Accepted on trial basis
2) Appear for interview
3) Balance to be completed
4) Delay in disposal
5) Do the needful
6) For immediate action please
7) In the mean while
8) Kindly consider.

3) freferiaa o7ush ot | @ forrel =R 1 Tedl § o1 il :
1) Certified that the purchases have been made at the lowest market rate.
2) Draft approved as amended.
3) | fully agree with the office note orders may be issued.
4) No action on our part seems to be called for.
5) Pay can be fixed under FR 22(c).
6) Thefilein question is placed below.
7) The matter has been referred to the administration ministry.
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2. 37) FefcTiad sreq—Fwi # 9 fohedi e oh 31 et aTer § SR ShifTT

1) 7ty - raeft 4) §gq - 9eA
2) ot - T 5) e - "ia
3) fer - =k 6) STl - el
a1) Tafcriaa iergea sreal # § formel =R w1eal o1 TfY-forrs stk forfa :
1) e 4) =t
2) W@rTd 5) I==mun
3) gerie 6) fammst.

3. 37) frafariad fowan @ @ foredt wer w e e hifse
1) 3o wETfeene™ | Gue Jiiie Sedie GHRiE shi {ure |
2) fSaTeshrt rrie™ | gue T fogs’ Tmwie shi i |

am) T=ferfaa foen @ @ foreft wer W 9t oies il

1) 194 TR H 7 T O ScHa’ shl THTER - i JdT |

2) TeHATAd, 8 food! # 7R T fedt faam” umie s et shiete ATt |
3) Frferaa o o fordlt wes w AnetTeh i eieq il

1) RIS TR -9 o GUTEsh | TTETehT |

2) foreft Q&R I Tiaeh o |IETeRR |

4. fafafaa T wei 8 @ el o % 3w fifau
1) TERTE SHERE T ATHTT TR MY |
2) T % TR T TehTeT STTerT |
3) T % ATIR W 1R % TR i |
4) TSR 9 %1 TEd foTgeh T Uy |
5) TG U= o Yok HTETeLvl s[dTsu |
6) I 1 A HHHAT BT We T I |
7) aTal a1 W& foTgeht TR STdTsU |
8) TR ! ATATIRAT T T STeTT |
Q) TUTER-3 TR TSI aTal oie ohi T I |

10) v e 3 ATawTehdT T T STfeTT |

6

30

B/11/10/975



S.Y.B.A. Examination, 2010
ECONOMICS
(Special Paper — 1) Micro-Economics
(Old Course) (2004 Pattern)

Time: 3 Hours

N.B.: 1) All questions are compulsory.
i) Figuresto right indicate full marks.
iii) Draw neat diagrams wherever necessary.

1. Answer the following questions in 20 words each (Any ten) :

1) Define Micro Economics.
i) State the two limitations of Micro Economics.
i) State the Law of Demand.
iv) Define the Income Elasticity of Demand.
v) What is meant by Utility ?
vi) State the Law of Supply.
vii) What is Price Discrimination ?
viii) Define Oligopoly.
iX) What is meant by Selling Cost ?
X) State the definition of Gross Profit.
xi) Define Rent.
xii) What is Interest ?
xiii) What is meant by Collective Bargaining ?

2. Answer the following questions in 50 words each (Any two) :

1) Explain the features of Duopoly.
i) Explain the features of Monopoly.

i) Explain the determinants of Demand.

[3801] — 631

Max. Marks : 80

20

10

P.T.O.
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iIv) Complete the following table :
. Total Cost Marginal Cost
Quantity Produced (Rs) (Rs)
10 35 —
20 - 25
30 81 —
40 - 15
50 110 -

3. Answer the following questions 150 words each (any two) :

1) Explain the Basic Economic Problems.
i) Explain the characteristics of Perfect Competition.

i) Explain the Innovation Theory of Profit.

iv) Complete the following table.

L abour Production Aver age Margi n.al
Quantity | in Quintals Production | Production
in quintals | in Quintals
1 25 - -
2 48 - -
3 69 — —
4 88 — —
5 105 — —

4. Answer the following questions in 300 words each (Any two) :
1) Explain the Scope and Importance of Micro Economics.

i) Explain the Law of Diminishing Marginal Utility.

1) What is Monopolistic competition ? Explain the Group Equilibrium under
Monopolistic competition.

Iv) Explain the Ricardian Theory of Rent.

20

30
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ST TR

g1 : i) & o7 AT 3787,
i) it 57 qf o7 .
i) 7w 79 gaF T HIGTH.
V) Teuiais} qe s JeTTAS T,

1. Ereiiel It gt 20 vreerd ek fotal (Shivdet @)
i) qaw AT e .
i)&W A=A G W |,
i) ot e =,
iV) AU Ieu= ST Tarehd e STEAT .
V) STNTTAT TSl R 7
Vi) qEe I |,
Vii) TeI¥E TS & 7
Viii) STcusHTH RN ST =,
ix) forshl @l reut /T 7
X) YA TR ST .

Xi) G e .

Xil) IS TS R ¢

Xiii) TR GaTeTfad TS & 7

2. T YT Tesh! 50 IreaTd Scak fotal. (Ivraet aF) ¢
i) fafosrmefienmr=h afame Tose =,
i) TeRaTORR df3TSed Tse .
iii) ATTft TSR 1ok Tase .

[3801] — 631
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iv) @Tefie deT gl .

IR &A1 T u et @
(&) (&)
10 35 —
20 — 25
30 81 —
40 — 15
50 110 —
3. @efiel T Icak Sedeht 150 Sreard fofel. (ivre! aM) 20

i) T TR T T .

i) gof Tag=h SfETe Tose .

i) TR Taved- forgTd T .
iv) ETefier derr qui .

(fFaear) (fFaea) (fFae=)
1 25 — -
2 48 - _
3 69 - -
4 88 - -
5 105 - -
4. GTefTa T 3eak ekt 300 YeaTd foret. (iorde 3F) ¢ 30
i) T ST ST T Hecd T 3.
i) == R Swia fem Tose .
i) FeRIERITEd T FEUTS! hi ¢ HeRiSR Igad TaEdIct FHg THdIe T .
iv) frerrean wefavae Rrgia wse .

B/11/10/1,105
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S.Y.B.A. Examination, 2010
HISTORY (Special Paper —1)
Ancient India upto 1200 A.D.

(2004 Pattern) (Old)

Time : 3 Hours Max. Marks : 80

N.B.: 1) All questions are compulsory.
i) Figuresto the right indicate full marks.

1. Answer the following questions in 20 words each (any ten) : 20
1) Which are the two Sanskrit sources to study ancient Indian history ?
2) What is meant by ‘Brahamane’ ?

3) State the two uses of coin.

4) Who discovered the Indus Culture ?

5) Give four names of Mahajanpadas.

6) Name any two Chola rulers.

7) Who was the 23 Jain Tirthankar ?

8) Give the two epics of Sangam literature.

9) Who was ‘Varahmihir’ ?
10) Explain the term ‘Agrahar’.
11) Which Rashtrakuta ruler carved the Kailash Temple of Ellora ?
12) Who was the greatest Chalukya ruler of Badami ?
13) What is meant by ‘Greater India’ ?

2. Answer the following questions in 50 words each (any two) : 10
1) Write a short note on ‘Rigveda.
2) State the causes of the rise of Jain religion.
3) What is *Sabha ?
4) State the religious achievements of Harshvardhan.

P.T.O.
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3. Answer the following questions in 150 words each (any two) : 20
1) Discuss the social and economic life of the vedic period.
2) Review the achievements of Kanishka.
3) Explain the teaching of the Gautam Buddha.
4) State the causes of decline of Gupta empire.

4. Answer the following questions in 300 words each (any two) : 30
1) Give an account of social life during Satvahans.
2) Write detail about Iron-technology and economic transformation of 6™ century B.C.
3) Explain the administrative system of the Guptas.
4) Give an account of the advent of Islam in India and state its impact on India

TS EATAR

GET: 1) T T HTAITH e,
ii) Swatehsier 379 quf JuT Ffeara.

1. Ereliet T I Tedehl 20 reeid foTet (Shivrdel g8 ) 20
1) ST STRATE 313TH HUATHTS G Gk HTEH shivTdt SATed ¢
2) ‘STEI RS R 7
3) AU S ST |
4) Tay wendr=n e Hioft dEer ?

5) =R HeTSHYSTE! 1d €.

6) S et TSI Tid |,

7) 233 S e T B ?

8) T AT et S HeTehTea =it 7al =1,
Q) ST shIvT BIaT ?

10) ‘sTrER’ & G T FA.
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11) RIUTeT TSR IR I&es Aefiet et Hi e BId 7
12) SIRTHI=T AT SRIAT el Tl 2Ia TITT ShivT BT ¢

13) ‘Je Rd FEUNS S 7

2. WTeAled T 3R Yeeht 50 vrserd foret (vt )
1) feu feten - .
2) S T 3EAT=h HRol =,
3) T RS H ?
4) TR enfifen smfE F.

3. Grefied FeAT= 3R Isht 150 Yreaid fofeT (hiviaet a)
1) SeehTel= AT § AT SfiamTfars=i == 4.
2) S-SRI SRR SR 2.
3) T FETe RTehavT TIse .

4) T ATHTSIT=T “gTaT=ht Sl .

4. @Teftet T 3w gsht 300 TsaTd fotaT (Shivrdet ) ¢
1) ATqaTEehIci M SHTSTSHET=I grd .
2) 3. 9. 9 6 T IA[AId AledaRH AT AT sat JT= IreaTd STem T w4l

3) T[T TRITE % T .

4) TRATeRie SEATT=AT SATSHHI JTd 21 3107 I TR SfeHTar Setel T g,

10

20

30
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S.Y.B.A. Examination, 2010
HISTORY (Special Paper —1)
Cultural History of India
(Old) (2004 Pattern)

Time : 3 Hours Max. Marks : 80

N.B.: i) All questions are compulsory.
i) Figuresto the right indicate full marks.

1. Answer in 20 words each (any ten) : 20
1) What is meant by Culture ?
2) Who was the writer of a book Rajtarangini ?
3) Write the names of any two mythologies.
4) Which art is connected with Ragja Ravivarma ?
5) Who founded ‘Islam’ religion ?
6) Write any two regional languages.
7) Who was the founder of Sikh religion ?
8) What is meant by ‘Ayurveda’ ?
9) What were the *Yaksha and ‘Yakshini’ ?
10) Write any two saint poets in medieval India.
11) Write any two commands in Kuran.
12) Who discovered Atomic Energy in Ancient India ?
13) Which is the oldest university in India ?

2. Answer the following questions in 50 words each (any two) : 10
1) Write a short note on Mughal Painting.
2) State in brief about ‘ Stupas'.
3) Explain the concept of ‘ Sarva-Dharma-Samabhav'.
4) What do you know about Nuclear Age ?
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3. Answer in 150 words each (any two) : 20
1) Give an account of ‘vedic literature’.
2) Write a note on ‘Bhakti Movement'.
3) Discuss the teaching of Bhagawan Buddha

4) Review the progress in the modern age with special reference to information and
technology.

4. Answer in 300 words each (any two) : 30
1) Explain the relationship between the literature and society.
2) State the philosophy of Jainism.
3) What do you know about Ajanta Painting ?
4) Discuss the salient features of Indian culture.

ST EATAX

Gl 1) TF I HATAvIE ST,
il) 97T T 37% FeTa qUt 7T G,

1. gt 20 TTseid 3 ot (Fvrdel 2er) 20

1) E&hd! S & 7

2) TSIl A1 T T@eh hiv Bid 7

3) VTR G qOT=H A7dl T

4) FHIOTt AT TSI U T Heferd o718 7

5) ‘T’ YT TUTIAT Shivfl shedl ?

6) IV G TTafRTeh w1 fora.

7) Tra emi=h T Rivf oheft ?

8) ‘e TS I 7

9) ‘aer’ i ‘Fferelt revt e ?
10) HeAFTH ARATHIC hIVCATE! 3 Hd =t A7dl fofal.
11) T ARG VTR G ST foTel.
12) A AT STU[eTeRd Tl STTe Shiof Araet ?

13) 9RaTdie gatd e foemdis sord ?
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2. Seeht 50 31eaTd It foTeT (Ve g1 ) 10
1) oreeTa feu foret - “wie fesehatt .
2) ‘wqu’ foreft eieerTa wfedt @,
3) ‘e TmyTE’ € HeheuT forwTe w0
4) oo qreTE s Hifedt 3 7

3. gkl 150 vreerd 3 foAeT (hiviaet a) 20
1) afee aremm=h arfed .
2) ‘werdt gesaes’ - fou fera.
3) T ST RTehavehiar == .

4) STER I TorehTaren Hifed! STTOT T o=y Hawid STTeTaT =T,

4. gesht 300 IrsaTd 3T fotet (et aF) 30
1) Tifeca a TuTst = ae TIee .
2) S ymTe T .
3) i3t et farsi e S ATfed 3T 7
4) AT Tehel=a A fSTsa=rr=ht == .

B/11/20/960
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SY.B.A. Examination, 2010
GEOGRAPHY (2004 Pattern)
(General Paper —11)

Gg — 210 : Political Geography
(Old Course)

Time: 3Hours Max. Marks: 80

N.B. : 1) All questions are compulsory.
i) Figures to the right indicate full marks.
lii) Draw neat diagrams wherever necessary.
Iv) Use of map stencils is allowed.

1. Answer in about 20 words each (any ten) : 20
1) DefinePolitical Geography.
i) Writeany two centrifugal forcesinfluencing on state.
Iii) Give any two examples of the state having Island location.
Iv) Give any two names of capital cities of state.
v) State the heartland area of India.
vi) Write the names of the seas joined by suez canal.
vii) State the types of boundary.
viii) State any two economic uses of arivers.
IX) State any two tributaries of Ganga river.
X) Give any two examples of navigable river of Asian Continent.
xi) Give full form of SAARC.
xii) Define geography of election.

xiii) Write any two physical factors influencing on election.

P.T.O.
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2. Answer in 50 words each (any two) : 10
1) Approaches of political geography.
i) Geopolitical importance of Diego-Garcia.
iil) Tension region of West Asia
iv) Effects of climate on geography of election.
3. Answer in 150 words each (any two) : 20
1) Explain the nature and scope of political geography.
i) Explain strategic importance of suez canal.
i) Explain importance of UNO.
iv) Describe the approaches to the study of geography of election.
4. Answer in 300 words each (any two) : 30
1) Explain the role of cultural factorsin the development of a state.
i) Describe the Mackinders Heartland Theory.
lii) Describe geopolitical problems of river Indus.

iv) Explain the nature of political problems of Palestine.

TS HUTaR
geAT: 1) Gd 3 HTETIE SR,
ii) S9aiswster 373 gof o7 q¥iiaar.
iii) srmaveres 79 gae sTHT FHie.
V) THIT RH TTRUTT R 3T

1. gkt 20 IreeTd I 7Rt (Sivrde €an) ¢ 20
RGEREUISICIE eI
i) T2 TEeR TR 0T ShIVTCTE S shgeamt Tt fotet.
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i) SIeTe TAT ST VTR I T Gl 3aTexo! 2.
V) T TXI=AT S TSI STedr=h AT .
V) ST HHH e F.L

Vi) o9 I Seciedl ST 76 9.
vii) R e .
viii) e e 2 i s E.
iX) T TS VTl &1 Iue fofat.

X) SRR WA e TETehIaTa! UFeR ST ShIvTal &I TaaT=t 3aTeto 2.
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i) TSTohHT ST 37018 Ugetl.
i) fum-mftear -t e,
i) wfzem smfwErdier qurenre veu.
iv) Faeu Piicaicl g S aRomm,
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i) TSTehRIT ST %Y § ATl €6 .
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4. gkt 300 TTeeTd IR fTeT (vl 1)
) T e foshraTdiet TTHTRTeh Sreehie! T TS 3.
i) HehteTan qriHt Rrgrare auiH .

iii) Ty T - TS eh THET Jui .

V) TeIeTEaeil Geferd STaeed TSThRT TR Ty TI6 .
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GEOGRAPHY (2004 Pattern)
(General) (Paper —11)
Gg — 210 : Human Geography
(Old Course)

Time: 3Hours Max. Marks: 80

N.B. : 1) All questions are compulsory.
i) Figures to the right indicate full marks.
1) Use of map stencils is allowed.
Iv) Draw neat diagrams wherever necessary.

1. Answer in about 20 words each (any ten) : 20

1) Write any two branches of Human Geography.
2) What isnasal index ?
3) Who isthefounder of Islam religion ?
4) Write any two names of tribesin the cold climatic region.
5) Whatisreligion?
6) Statethehabitat of ‘Bhill’ tribes.
7) Define optimum population.
8) Write any two criticisms of demographic transition theory.
9) Define crude death rate.

10) Write any two types of migration.

11) Writeany two principles of Mathustheory.

12) What is population policy ?

13) Write any two examples of Chinas population policy.
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2. Answer in 50 words each (any two) : 10
1) Religion and national integration.
2) Physical traits of human race.
3) Population policy of U.SA.
4) Political causes of migration.

3. Answer in 150 words each (any two) : 20
1) Describe the mgor language families in the world.
2) Describe the human life in not region.
3) Discuss the cultural factor and distribution of population.
4) Explain the effect of migration.

4. Answer in 300 words each (any two) : 30
1) Explain nature and scope of human geography.
2) Give a geographical account of ‘Naga’ tribe.
3) Discuss ‘Population as a Resources'.
4) Explain demographic transition theory.

TS AT

AT : $) G I HTTTIE e,

?) ITAIHSI 37 GUT 70T G

3) THI I TR R TG

Y) ITAVIE 79 Gadh HTHT FIE.
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6) fieet ST SR e g,
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S.Y.B.A. Examination, 2010
PUBLIC ADMINISTRATION
General Paper — 11
Indian Administration
(Old Course) (2004 Pattern)

Time: 3 Hours Max. Marks: 80

N.B. : i) All questions are compulsory.
i) Figures to the right indicate full marks.

1. Answer any ten questions (in 20 words each) : 20

1) Mention two modern trends in Indian Administration.
2) State any two reforms introduced by the Government of India Act, 1935.
3) Give the names of the department in the ministry of finance.
4) State the name of houses of Union Parliament.
5) Give the two functions of election commission.
6) How isthe vice-president of India elected ?
7) Who presides over the meeting of cabinet ?
8) State the qualification of the member of Raya Sabha.
9) Who appoints the Chief Minister of the state ?

10) State two functions of Home Department.

11) Who isthefirst citizen of India ?

12) State the qualifications of union public service commission members.

13) State the two functions of state secretariat.

P.T.O.
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2. Answer any two guestions (in 50 words each) : 10
1) State the composition of Loksabha
2) Organisation of the ministry of external affairs.
3) Explain the discretionary powers of the governar.

4) State the functions of home ministary.

3. Answer any two questions (in 150 words each) 20
1) Explain the structure of Supreme Court of India.
2) Discuss the provision of the Indian Independence Act of 1947.
3) Explain the nature and functions of the state ministry of Agriculture.

4) Criticaly examine the financial and administrative relationship between the
centre and state.

4. Answer any two questions (in 300 words each) : 30

1) Explain the role and functions of the Prime Minister in the context of Indian
administration.

2) State the structure and functions of central secretariat.
3) Describe the role and important functions of the district collector.
4) Explain the structure and functions of planning commission.
TS BT
AT ) TE T TS0 HATTITH T3,
ii) Swaiwster 37% guf ot Fwffaara.
1. @efiel Yeh! I g8 T HigaT (Yeshi 20 Yeaiq) 20

1) AT SR A 3 ST e JaTe |
2) 9T TR 1935 B AT FheledT hiveTal & GErom |,
) RENEFIRPIGINAES ST CE
4) ST G S qTETh AT =
5) WRAT=AT U ST GF SR 1.
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6) RAT=AT 3U-Trguci= fHae il gd ?
7) HiSHe S3H LIS HIVTHS A 7

8) T=IaT HeRIcaTs rdl 9.

o
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10) TeETTE & S |,
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4) FHYIMEA 3 T T JTdte Toref 9 JSTeh i Harem fershicass afieqor .
4. Qe Yeht vl g9 T FredT (Seeht 300 IeaTRld) ¢ 30
1) SR SRTTEATAT He¥ T Gaue=T=T SR o Rl 52 3.
2) e AieTeAdT= T o W EET.

3) NerTiersr=am=it sifHeht 3TTfoT wecaT=ht s Ui .

4) ST AR AT o T8 TIE .
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S.Y.B.A. Examination, 2010

PUBLIC ADMINISTRATION (Special Paper —1)
(Financial Administration)
(2004 Pattern) (Old Course)

Time : 3 Hours Max. Marks : 80

N.B.: i) All questions are compulsory.
i) Figuresto the right indicate full marks.

1. Answer any ten questions in (20 words each) 20
1) Define Financial Administration.
2) State the meaning of Budget.
3) State any two types of Budget.
4) Mention the duration of financial year.
5) Write two functions of Public Account Committe.
6) What is Audit ?
7) Give the meaning of Accounting.
8) Define performance budget.
9) State two functions of Auditor General of India.
10) Explain the objectives of Audit.
11) State two functions of Reserve Bank of India.
12) What is Post Audit ?
13) State the meaning of Annual Financial Statement.

2. Answer any two questions (50 words each) 10
1) Explain the instrument of Financial Administration.
2) State the structure of Planning Commission.
3) State the functions of Financial Administration.
4) Explain the organisation of Finance Administration.

P.T.O.
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3. Answer any two questions (150 words each) : 20
1) Describe the nature of Financial Administration.
2) Explain the organisation of Finance Minister.
3) Write note on Audit and Public Sector.
4) Explain the objectives of Audit.

4. Answer any two questions (300 words each) 30
1) Give an account of centere-state financial relation.
2) Explain the basic principles of budget.
3) Explain the composition, powers and functions of Comptroller and Auditor

General of India.
4) Explain the structure and function of Estimate Committee.

TS BT
AT 1) qd Jv7 GISIE0 AT e,
ii) Swatehsier 37e Fo=1= Ul Jv7 .
1. @refiet ¥t hrvrde! g8 I diear (Yedeht 20 Sreerad) 20

1) forefrer semeAT= ST forer.
2) T Tkt 1 T,

3) 37T T G TR |

4) ATieieh It g g,

5) e ol |ite 3 M forat.
6) TETINETU] TEUTSt 1 7

7) e 31 forer.

8) fsuwit 3TaTt waehr=l =T ;.
9) AT Tl UieTehi=it 1M shTH T,
10) raTafietoT= 3fesest Tose .
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11) e fgrd sfeheht &1 s g,
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4) SFATATAT T T .
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S.Y.B.A. Examination, 2010
PSYCHOLOGY (2004 Pattern)
Social Psychology (General —11)

(Old Course)

Time: 3 Hours Max. Marks: 80

N.B. : i) All questions are compulsory.
i) Figures to the right indicate full marks.
1. Answer in 20 words each (any ten) : 20
1) Define the variable.
2) Write the name of three stages of social behaviour.
3) What is self-presentation ?
4) What is self-concept ?
5) Define the communication.
6) Define the group.
7) What is obedience ?
8) Define the social influence.
9) Define the social norms.
10) What is aggression ?
11) What is cooperation ?
12) What is delinquency ?
13) What is dowry ?

2. Answer in 50 words each (any two) : 10
1) Explain the group functions.
2) Write short note on group cohesiveness.
3) State the socia learning theory of aggression.
4) Explain the types of stress.

P.T.O.
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3. Answer in 150 words each (any two) : 20
1) Describe the characteristics of leader.
2) Explain the principles of compliance.
3) Explain instinct theory and biological theories of aggression.
4) Explain how the environmental factors affecting human behaviour.

4. Answer in 300 words each (any two) : 30

1) What is social psychology ? Explain the various tools for collecting
information.

2) What is self presentation ? Explain the various factors of self presentation.
3) Explain the nature of communication process.
4) What is conflict ? Explain the various sources of conflict.
TSt TUTAR
oAl i) Hd 5 AT HTed,
i) Feraiersicr 31 Jwrel T F/AdTa.
iii) Feviarst gz saait yeaate verE,

1. ght 20 TeaTd 3R fotet (Fvrdel 28n) 20

1) uftadenr same foret.

2) TSI =TT i TR = fora.
3) T-HTe IRl e T 7

4) T -Heheu T FEUIS! 1 ?

5) EuwurTe s fofaT.

6) TET = fote.

7) AT WS hY ¢

8) wrTSTeR TeTTeTel e fore.

9) TR HTUEST=h =T fotal.

10) 3T FEUS I 7
11) HEhrl FEUS T 7
12) STeRTTTRI T80Tt i ?
13) ge1 e 1 7
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S.Y. B.A. Examination, 2010
YOGVIDYA (General —11)
T G da®
(2004 Pattern)

Time: 2 Hours Max. Marks: 40

Instructions: i) All questions are compulsory.
i) Figuresto the right indicate full marks.
1. Attempt any five questions in two sentences each 10
1) State any two names of Panchamahabhuta.
2) Which kind of Asanas is Shavasana ?
3) What is final objective of Patanjalyoga.
4) In which book the Kaivalyapad introduced ?
5) State the name of Y ogadarshankar.
6) What is Rechaka ?
7) State the definition of Aparigraha.

2. Attempt any one question in five or six sentences : 5
1) State the importance of meditation.
2) Explain the measures of Chitvruttinirodha

3. Attempt any one question in twenty to twenty five sentences : 10
1) State the types and five benefits of Asana, Pranayama and Shuddhikriya.
2) State the role of Yoga in personality development.

4. Attempt any one question in detail : 15

1) What are the factors of educational system ? Explain the use of Yoga for
improving educational system.

2) Explain the causes and effects of frustration.

P.T.O.
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S.Y.B.A. Examination, 2010
DEFENCE AND STRATEGIC STUDIES (2004 Pattern)
(A) : Indian Military System (Old Course)
(Ancient and Medieval) (Special — 1)

Time : 3 Hours Max. Marks : 80

N.B.: 1) All questions are compulsory.
2) Figuresto the right indicate full marks.

1. Answer in 20 words each (any ten) : 20
1) Write the three types of war as stated by Kautilya.
2) What happened at Kurukshetra ?
3) What was the period of Rajput Military System ?
4) Between whom the battle of Haldighat was fought ?
5) Write the meaning of Military History.
6) Who succeeded in the battle of Tarrain second ?
7) Who was the teacher of Chandragupta ?
8) When was the first battle of Panipat fought ?
9) Between whom was the battle of Jhelum fought ?
10) What is Phalanx ?
11) State any two weapons in Ramayan period.
12) What was the period of Sultan ?
13) State any two rules of war in Mahabharat period.

2. Answer in 50 words each (any two) : 10
1) State the Military Reforms of Ala-Ud-din Khilji.
2) State the role of Cavalry.
3) Write a note on, ‘Chandra Gupta Maurya'.

4) State the causes of war in Ramayan period.
P.T.O.
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3. Answer in 150 words each (any two) : 20
1) What was the demerits of military system of Sultan ?
2) Why did Alexander succeed the battle of Jhelum ?
3) Describe the various types of weapons during the Mahabharat period.
4) Explain in detail the thoughts of Kautilya on inter-state relations,

4. Answer in 300 words each (any two) : 30
1) Explain in detail the scope and sources of military history of India
2) Why did Prithvirg) Chauhan succeed in the first battle of Tarrain ?
3) Discuss the first battle of Panipat. Why did Babar succeed in this battle ?
4) Describe the battle of Tarrain second.
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DEFENCE AND STRATEGIC STUDIES
(B) : Western Military System (Old Course)

Time : 3 Hours Max. Marks : 80

N.B.: 1) All questions are compulsory.
2) Figuresto the right indicate full marks.
1. Answer in 20 words each (any ten) : 20
1) Which type of military organisation was accepted by Greeks ?
2) What was Cartheze ?
3) According to Mg .Gen. Palit, what was the strength of Roman Legion ?
4) When the battle of Canne was fought ?
5) What Nepolean Bonapart said about logistics ?
6) When the first world war was fought ?
7) Who discovered the Tank ?
8) When did USA used Atom Bomb in second World War ?
9) When did Japan attack on Pearl Harbour ?
10) What isthe Age of Cavalry ?
11) When the battle of Hasting was fought ?
12) What were the principles of Blitzkrieg Techniques ?
13) What was the immediate cause of World War | ?

2. Answer in 50 words each (any two) : 10
a) What was the role of Alexander’s cavalry ?
b) How Hanniba was deployed his forces in the battle of Canne ?
¢) What reforms were made by Gustavus Adolphus for Infantry ?
d) What tactics were followed by scipio in the Battle of Zama ?
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3. Answer in 150 words each (any two) : 20
1) Explain the military organisation and tactics of Roman Legion.
2) Describe the role of German U Boats during first world war.
3) “Gustavus Adolphus is the father of modern army”. Discuss.
4) Describein brief the Treaty of Versailles.

4. Answer in 300 words each (any two) : 30
1) Explain the nature of Trench warfare during first world war.
2) Write an essay on “Blitzkrieg Techniques'.
3) Explain in detall the Schlieffen plan on Germany. How far did it succeed ?
4) Describethe strategic and tactical role of Air power during Second World War.

TS TUATR
AT §) TE T STV ST
?) ITEIHSIT 7% FHTA GUI JUT ST,
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DEFENCE AND STRATEGIC STUDIES
(C) : Maratha Military System (1630-1818)
(Old Course)

Time: 3 Hours Max. Marks : 80

N.B.: 1) All questions are compulsory.
2) Figuresto the right indicate full marks.

1. Answer in 20 words each (any ten) : 20

1) Between whom was the battle of Palkhed fought ?
2) Where was Shivagji’s capital ?
3) Who was ruling over Jawali on behalf of Adilshah ?
4) When was the battle of Pratapgarh fought ?
5) Write the Ranks of three officers of fort.
6) Who was Vyankoji ?
7) In which year a raid on Shahistekhan was launched by Shivaji ?
8) Who was Kanhoji Angre ?
9) Who was Dadoji Konddeo ?

10) Where was the capital of Peshwa ?

11) State the two causes of decline of Maratha power.

12) Between whom was the battle of Purandar fought ?

13) What was the period of first Anglo-Maratha war ?

2. Answer in 50 words each (any two) : 10
1) Write the articles of treaty of Purandar.
2) Describe the social condition in Maharashtra before the birth of Shivaji.
3) Write a note on ‘Nanasaheb Peshwa'.
4) State the military qualities of Bgjirao I.

3. Answer in 150 words each (any two) : 20
1) Explain the causes of first Anglo-Maratha war.
2) What are the objectives of Karnataka campaign ?
3) Why did Shivaji adopt Guerilla tactics ?
4) What was the role of Shantgji in the war of Maratha independence ?
4. Answer in 300 words each (any two) : 30
1) Describe the third battle of Panipat (1761 A.D.).
2) Evauate the military leadership of Sambhaji.
3) State the strategic importance of Jawali and explain the Jawali incident.
4) Explain the strategy and tactics of Shivaji in the battle of Pratapgarh.
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S.Y. B.A. Examination, 2010
SOCIAL WORK (General —11)
|. Introduction : Fields of Social Work
I1. Population Education
(Old Pattern) (2004 Pattern)
Time: 3 Hours Max. Marks: 80

Instructions : 1) All questions are compulsory.
2) Figuresto the right indicate full marks.
1. Answer any ten of the following in 20 words each : 20
1) Meaning of Family Welfare.
i) Define Tribe.
iii) Define Rural Welfare.
Iv) Meaning of Labour Welfare.
V) Meaning of Mortality.
vi) Meaning of standard of living.
vii) Define Education.
viii) List out the problems of housing in rural area.
IX) Meaning of the term Population Education.
X) List out the Biological factors in population growth.
xi) List out the four characteristics of population growth in Maharashtra.
Xii) Meaning of the term fields of social work.
xiii) List out the four agencies for the welfare of weaker sections.

2. Answer any two of the following in 50 words each. 10
1) ‘Fertility is aleading determinant of population growth’. Discuss.
i) Explain the concept of population education.
i) Explain the effect of population growth on production.
iv) Prepare a note on correctional welfare.

P.T.O.
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3. Answer any two of the following in 150 words each. 20
1) Write a note on ‘ Social-cultural factors and population growth'’.
i) Explain the effects of Large-size family on family life.
Iii) Write a note on ‘determinants of population growth’.
Iv) Write a note on ‘Problems of childrenin India'.

4. Answer any two of the following in 300 words each. 30
1) Write an essay on ‘Factors affecting on population growth’.
i) Write a detailed note on over crowding and anti-social practices.
iii) Explain the problem of unemployment and its relation with over population.

Iv) List-out the problems of Tribals and explain the welfare programmes for
Tribals.

TS TUTR

AT ¢) Td yg TS0 HTIIE 37,
?) ITimEicT aiak quf U1 G
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vii) Rev-samen .
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S.Y.B.A. Examination, 2010
EDUCATION
(Old Course) Content Analysis (2004 Pattern) (General — 2)

Time: 3 Hours Max. Marks: 80

Instructions : i) All questions are compulsory.
i) Figuresto the right indicate full marks.

1. Answer the following questions in 20 words (any ten) : 20
1) What is Growth ?
i) Write the meaning of Recognition ?
1) What is Social Heredity ?
Iv) What is Retention ?
v) Write the meaning of Fatigue.
vi) What is Negative Education ?
vii) Write the meaning of Basic Education.
viii) What is National Integration ?
iX) Write the meaning of Insight Learning.
X) What is Registration ?
xi) Write the meaning of project method.
xii) What is Memory ?
Xiii) Write the meaning of learning.
2. Answer the following questions in 50 words (any two) : 10
1) Explain the mechanism of Heredity.
i) Explain the Thorndike's Laws of learning.
iii) Explain the importance of computer education.

iv) Explain the importance of secondary education. PT.O
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3. Answer the following questions in 150 words (any two) : 20
1) What is vocational education ? Explain its importance.

2) What are the major problems in secondary education ? Write the remedial
measures to overcome them.

3) What is Heredity and environment ? Explain its educational importance.
4) Explain the educational thoughts of Roussoue.

4. Answer the following questions in 300 words (any two) 30
1) What is an open university ? Explain its concept and importance.
2) What is forgetting ? Give its causes and suggest the ways to overcome them.

3) What is character ? Explain the role and functions of schools in character
development of students.

4) Explain Nature, importance and limitation of trial and error method in detail.
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S.Y.B.A. Examination, 2010
MATHEMATICS (Old Course) 2004 Pattern
FMG — 2 : Operations Research

Time: 3 Hours Max. Marks: 80

N.B. : i) All questions are compulsory.
1) Figures to the right indicate full marks.
lii) Use of logarithmic tables and calculators is allowed.
Iv) Graph papers will be supplied on demand.

1. Answer the following questions : 16
1) Define slack and surplus variables.
Ii) Write the dual of the linear programming problem.
Max z = 4x; — 2X,
Subject to x4 + 5X, = 6
2Xy — 3%, < 3
X;> 0% >0

i) How do we convert unbalanced transportation problem to balanced
transportation problem ?

Iv) Can there be multiple optimal solutions to an assignment problem ?

V) In agame of matching coins, player A winsRs. 2 if there are two heads, wins
nothing if there are two tails and loses Rs. 1 when there are one head and one
tail. Determine the pay off matrix.

vi) State any two applications of sequencing problem.
vii) State any two applications of CPM and PERT.
viii) State any two applications of replacement policy.

2. A) Attempt any one of the following : 6

1) DefinethefollowingtermsinL.P.P. Artificial variable, Unrestricted variable,
feasible solution, Optimal solution.

P.T.O.
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i) Solve the following L.P.P by graphically.

Max z = 5xq — 4X,
Subject to 6x, + 4x, < 24
X{+2X, < 6
—X;tX, <1
Xy < 2
X1>0x,>0

B) Attempt any one of the following :

1) Solve the following L.P.P. by Simplex method.

Max z = 2x; + 4X,

Subject to 2x; + X, < 18
3Xy + 2%, > 30
Xyt 2X, = 26
X;>0x,>0

i) Solve the following L.P.P. by Simplex method.

L 15
Minimize Z = PR 3X5
subject to the constraints.

Xy =Xy —Xg >3
Xy =Xy *+ Xg >2

X1>0 X5 >0 X3>0

3. A) Attempt any one of the following :

1) Determine an initial basic feasible solution to the following T.P. using

Matrix Minima Method.

From plant P,

To Market
M, M, M, M, Supply
P, 5 |10 4 | 5 10
6 8 7 2 25
P3 4 2 5 7 20
Demand @ 25 | 10 15 5 55

10
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i) Solve the following assignment problem :

Job

1 2 3 4 5

A 8 4 2 6 1

. B 0 9 5 5 4

Machine

C 3 8 9 2 6

D 4 3 1 0 3

E 9 5 8 9 5

B) Attempt any one of the following :
1) The following is an 1.B.F.S. of a transportation problem.

Jo A 5 c o |Available
Units
From
. % o
6 1 9 3
[ @ 55
11 5 2 8
0 G |25 o
10 12 4 7
Required
Units 85 35 50 45

It is an optimum solution ? If not find the optimum solution.
i) Solve the following game graphically.

Player B
[ I I I B A\ VARV

l -5 5 0| -1|8
Player A
nmy8,-4 -1 6 |-5

[3801] — 666
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4. A) Attempt any one of the following : 6
1) @ Define saddle point
b) State Maximin - Minimax principle.
i) Explain the method of converting aproblemof ‘n’ jobson three machines
to a problem of ‘n jobs on two machines what are the limitations of this
method ?
B) Attempt any one of the following : 10

1) A scooter owner finds from his past records that the maintenance cost per
year of a scooter whose purchase price is Rs. 8,000 are as given below :

Year | Maintenance Cost | Resale Price
1 1000 4000
2 1300 2000
3 1700 1200
4 2200 600
5 2900 500
6 3800 400
7 4800 400
8 6000 400

Determine at which time it is profitable to replace the scooter.
i) Solve the following game by dominance rule.

Player B
1 2 3 45
| 13{5|14|19|6
Player A clelsl7ls
I |(8|7|9|8|7
IV i4(2|18|5]|3
5. Attempt any one of the following : 6

1) Mention the advantages of network.

i) Seven jobs each of which has to go through the machines M, and M, in the
order M; M,,. Processing times (in hours) are given as



Job

D O WDN B

7

My

3
12
15

6
10
11

9

M

8
10
10

6
12

1

3
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Determine a sequence of these jobs that will minimize the total elapsedtime T.

B) Attempt any one of the following :
1) For asmall project of 12 activities the details are given below :

10

Activity

A

B|C

D

E

F

H I J

K

L

Dependence

B,C

A

C

EIDFH|E

[, J

G

Duration Days

9

47

8

7

5

10 ' 8

10

2

1) Draw a network for this project.
i) Find acritical path and project completion time.
ill) The data for a PERT network is given in the following table.
Time Estimates

Activity |Optimistic | Most likely | Pessimistic
10-20 6 9 12
10-50 4 7 8
20-30 14 17 20
20-40 7 10 13
20-50 3 5 9
30-70 13 18 25
40-60 10 14 16
40-70 12 15 18
50-60 9 11 12
60-70 17 20 25

a) Draw a network for the project.
b) Compute the expected project completion time.

B/11/10/205
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SY.B.A. Examination, 2010
MATHEMATICS (Special — 1)
(Old Course) (2004 Pattern)

Time: 3Hours Max. Marks: 80

N.B. : 1) All questions are compulsory. (in the chosen paper)
i) Figures to the right indicate full marks.

(@) : Number Theory

1. Answer thefollowing questions: 16

i) Show that 4 x (n? + 1) for any integer n.
i) Write a complete residue system and a reduced residue system modulo 6.

i) Find the remainder when 1! + 2! + ..... + 100! is divided by 20.

iv) Find remainder when 370 + 1 isdivided by 13.

v) Find the largest exponent e such that 7€ | 100!

vi) Determined(1000) and g (1000).

vii) Find two different Pythagorean triplets of theform 16, y, z.

7
viii) Determine Legendre Symbol %@

2. A) Attempt any one of the following : 6

I) Let aand b be non-zero integers. Prove that the greatest common divisor
of aand b exists and can be expressed as alinear combination of aand b.

i) Show that every integer greater than 1 can be written as product of primes
in aunique way apart from the order in which primes occur.

B) Attempt any two of the following : 10
) Find all integersn such that n? + 1isdivisibleby n+ 1.
i) Determine smallest positiveinteger x suchthat x =2 (mod 3),
x =1 (mod4) and x=0 (mod 7).
i) Show that there are arbitrarily large gapsin the sequence of primes.

P.T.O.
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3. A) Attempt any one of the following : 8

i) Let pbeaprime. Provethat x? = -1 (mod p) hasasolution if and only if
p=1 (mod 4).

ii) Let a, b and m > O be given integers, and g = (a, m). Show that the
congruence ax =b (mod m) has a solution if and only if g | b. Further,

show that if g | b then ax =b (mod m) has g solutions modulo m.

B) Attempt any one of the following : 8

I) Let p be an odd prime. Define the Legendre symbol %E Prove that

%EE (@)" 2 (mod p). Hence, prove that %EZ %;;E
LPL p L

i) Let x andy bereal numbers. Then prove that :
3 [+ [x+d Lt ¥ +2

Ox]0_ X O . L
b) Om B a;%wheremlsapostlvemteger. Further, evaluate [- 1.

4. A) Attempt any one of the following : 6
1) Let p be an odd prime and (a, p) = 1. Consider the integers a, 23, ....,

-1
%@ a and their least positive residues modulo p. If n denotes the

number of these residues that exceed p2 , then prove that %@: (-D".

i) DefineMoebiusfunction p(n). Show that p(n) ismultiplicativefunction.

Further, evaluate ; u(d),, wherenisapositiveinteger.

n

B) Attempt any two of the following : 10

i) Show that thereis no integer x such that x2 = 7 (mod 61).
ii) Provethat aninteger gisaprimeif andonly if o(q) =q+ 1.

i) Provethat if X, y, zisaPythagorean triple then at least oneof x and y is
divisible by 3, and that at least one of x, y and zisdivisible by 5.
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5. A) Attempt any one of the following : 6

) If F(n) =; f(d) for every positive integer n, then prove that
n

f(n) :; u(d) F(n/d)

i) If X, y, z are natural numbers such that x2 + y2 = z2 then show that
followingareequivalent :

a ged(x,y,2)=1 b) gcd (x,y) =1
c)gcd(y,2)=1 d) gcd (%, 2) = 1.
B) Attempt any two of the following : 10

I) Find all integersx and y such that 147x + 258y = 369.
i) Show that the equation y2 = x3 + 7 has no solution in integers.

lii) Provethat for every positive integer n, % ®(d) = n.

(b) : Combinatorics

1. Attempt thefollowing: 16
a) In how many ways we can select 4 cards from a 52 card deck ?
b) Provethat :

2(”C0 +"Cp + oot ”Cn)= 2"+t
c) Statethe principle of inclusion and exclusion.
d) How many integers are factors of 5040 ?
e) Provethat if Gisatree on p vertices and q edges, theng=p —1.
f) Statetrueor false:

There exists a graph on 5 vertices whose degree sequence is 4, 1, 2, 2, 3.
Justify.

g) Definethe edge connectivity of agraph G.
h) Definethe Hamming metric.
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2. @ Attempt any one of thefollowing :
I) Stateand prove multinomial theorem.

o s 15T T 3 770

b) Attempt any two of the following :
) Find the coefficient of x8 in the expression of (1 + 3x + 2x2)4.
i) How many ways are thereto roll two diceto yield asum divisible by 2 ?
i) Given 8 x 8 chessboard. How many squares of all sizesarethereon it ?

3. @ Attempt any one of the following :
I) L& n=3 be an odd number. Show that there is a number in the set
{2-1,22-1,...,2"" =1} whichisdivisibleby n.
i) Solvetherecurrencerelation:
a,=3a,_;+4a,_,+a,_zfor n=22,a,=a, =1.

b) Attempt any one of the following :
1) State and prove hand shaking lemma.

i) UseKruskal’salgorithm to find aspanning tree of minimal total weight in
the graph given below :

4. @ Attempt any one of the following :

1) If agraph G has more than two vertices of odd degree, then prove that
there can be no Euler pathin G.

i) Define tree and show that anon-trivial tree contains at least two vertices
of degree 1.

6

10
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b) Attempt any two of the following : 10

I) Define self-complementary graphs, and show that the following graphis
self-complementary.

i) Provethat an edge e of aconnected graph G isanisthmusif and only if e
doesnot liein any cycle of G.

i) Find the adjacency matrix of agraph :

State whether it is symmetric matrix.

5. @ Attempt any one of the following : 6

i) Let e:B™ - B" be agroup code. Show that the minimum distance of e
is the minimum weight of a non-zero code word.

i) Determine the coset leaders for N = e, (Bm) for the given parity check
matrix H.

10
[
od
[
od

0
1H

T
I
(DI Y e
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b) Attempt any two of the following :

) Define the r'h Reed-Muller code RM (r, m) of I(ranngth n=2". Show that
RM (r, m) isabinary linear code of lengthn=2".

i) Let:
0 1 10

] U

1 0 10

] U]
H=[ 0 oU
] U

® 1 o0

] U]

B 0 1H

beaparity check matrix. Decodethefollowing wordsrelativeto amaximum
likelihood decoding function associated with e,,.

a) 1) 10100 1) 01101

iii) Let CZZ,. For thetransmission of C through abinary symmetric channel
with probability p of incorrect transmission, prove that the probability

that k errors are made in the transmission is sl Hp" a1-p"~,

k0

(c) : Differential Geometry

1. Attempt each of the following question :
1) Definean osculating and writeits equation.
i) Find the curvature and torsion of the curve given by x =acosg, y =asing,
z=bwherea> 0.
i) Find the equation of the tangent planeto thesurfacexy =z at (1, 1, 1).
Iv) What do you mean by evolute and involute ?
v) State the necessary and sufficient conditions for the parametric curvesto be
asymptotic lines.
vi) State anecessary and sufficient condition for the curve U = Cto beageodesic
if the parametric curves are orthogonal.
vii) Define Dupin’sindicatrix.
viii) State Joachimsthal’ stheorem.

10

16
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2. @ Attempt any one of the following : 6
1) State and prove Serret-Frennet Formulae.

i) Provethat acurveisuniquely determined, except astoitsposition in space,
when its curvature and torsion are given functions of itsarc-length S.

b) Attempt any two of the following : 10
I) Find the curvature and torsion of the circular helix given by
X=acosg,y=asng,z=ag cot 3.
i) Provethat the envelope of the family of paraboloidsx2 + y2 = 4a(z—a) is
the circular cone x2 + y2 = 72,

i) Calculate the first order and second order fundamental magnitudes for
theright helicoid given by X =ucos @,y =usin @, z=ce.

3. @ Attempt any one of the following : 8

I) Obtain the condition for the surface z = f(x, y) to represent adevelopable
surface. Hence or otherwise prove that the surface xy = (z — ¢)2 is a
devel opable surface.

ii) Define Bertrand curves. Show that the angle between corresponding
tangent lines to two Bertrand curves is constant.

b) Attempt any one of the following : 8
I) State and prove Euler’ stheorem on normal curvature.
i) Explaintheterms:
First curvature, Gaussian Curvature, Minimal surface and find first
curvature and Gaussian curvature for the surface givenby z=x +.

4. @ Attempt any one of the following : 6
1) Show that the family of curves on the surface r = r(u, v) given by
¢(u, v) =constantand W (u, v) =constant generates conjugate direction
00 00
if Loy, - ((P1'~Uz+(Pz'~U1)+N(PN—'1_0Where(pl__ (Pz——

ay
ov '

an

W = Wy =
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i) Obtainthenormal curvatureintheform

_ Ldu® + 2Mdudv + Ndv?
Edu? + 2Fdudv + Gdv? -

n

b) Attempt any two of the following : 10
I) Find the asymptotic lineson the surfacez =y sin x.
i) Find the principal directions and the principal curvatures on the surface
Xx=alu+vV),y=bu-v),z=uv.

i) Determine f(Vv) so that on the surface x = u cosv, y = u sinv, z = f(v), the
parametric curveswill beisometriclines.

5. @ Attempt any one of the following : 8

I) Define geodesic and derive the necessary and sufficient condition for a
curve on a surface to be geodesic.

i) If k and t arethe curvature and torsion of a geodesic, prove that
12 = (k —ky) (k, —K). Also if the surface is devel opable, show that
k=1 tan U.

b) Attempt any one of the following : 8

I) Prove that the geodesics on a circular cylinder are helices. Also, prove
that in the case of aright circular cone of semi-vertical angle o, the

equation for geodesics is equivalent to u = h sec(gpsin a +3), where h
and (3 are constants.
ii) Provethat k®=k: +kz,

where K, kg and k, denote curvature, geodesic curvature and normal
curvature respectively. Also, show that k, =k, tan .

B/11/10/205
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S.Y.B.A. Examination, 2010
APPLIED STATISTICS (General —I1) (2004 Pattern)
(Old Course)
Applications of Statistics and Theory of Probability

Time: 3Hours Max. Marks: 80

Instructions: i) All questions are compulsory.
i) Figuresto the right indicate full marks.
i) Symbols and abbreviations have their usual meanings.
Iv) Use of calculator and statistical table is allowed.

v) Graph paper will be provided on request.

1. Attempt any ten of the following : (10x2=20)
a) Define:
1) Mutually exclusiveevents i) Union of two events
b) Definebinomial distribution with parametersnand p.
c) State the axioms of probability.
d) Inatrivariate data, the correlation coefficientsare:
r,=06,r53=-07andr,; =09
Check whether these data are consistent.
€) Mentiononereal life situation where discrete uniform distribution is applied.
f) Let A and B be any two events defined on sample space ¢;. If P(A) = 0.12,
P(B) =0.32 and P(A nB)=0.05then evaluate P(A UB’) .

g) Statetheformulaof Marshal Edgeworth priceindex number.
h) Given the probability distribution of random variable (r.v.) X :
X : 1 2 3
P(X =Xx) 01 05 04

Find E (2X +5).
P.T.O.
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I) Define combination of n distinct objects taken r at atime (r<n). Hence

10

findxif(
3

MM

3

"

) Definenegativebinomial distribution with parametersk and p.

K) What istime series ? Give oneillustration of time series.

[) For abivariate discrete probability distribution of a

rv. (X,Y), V(X) =18, V(Y) =8 and cov (X, Y) = 6. Find V(X +5Y).

m) Mention any two uses of time series.

2. Attempt any two of the following :

(2x5=10)

a) From the data given below, compute Laspeyre’s price index number for the

year 2002.
Base Year |Base Year Current Current Year
Commodity | 2000 2000 Year 2002 | 2002
Price (Rs) |Quantity (Kg) |Price (Rs) |Quantity (Kg)
A 40 50 50 55
B 42 60 55 65
C 45 55 70 50
D 25 32 32 40
b) Define:

1) Expectation of adiscreter.v.

i) Variance of adiscreter.v.

i) Median of adiscreter.v.

Iv) Mode of adiscreter.v.
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c) Two fair dice are thrown. Obtain the probability distribution of difference of
numbers on uppermost faces of two dice.
d) All the letters of the word ‘FLOWER’ are arranged at random. Find the

probability that an arrangement contains vowels at even places.

3. Attempt any two of the following : (2x10=20)

a) Explain the method of estimating seasonal component of time series by
) ratio to trend method
i) ratio to moving average method.

b) i) What are index numbers ? Discuss the uses of index numbers.

i) Giventhe bivariate probability distribution of (X,Y):

Y 0 1 2
X

o | ¥ %o
L K| K | Y

Obtain the conditional expectation of Y given X =0

c) i) Theinformation obtained for threevariablesX ;, X, X5 yielded thefollowing
correlation coefficients :
1o =0.75r3=0.42, 1,5, = 0.60
Compute R, »5 and r, 5 (where symbols have their usual meanings).

ii) Obtain mean and variance of adiscrete uniform variable taking values
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d) i) Define pair wise independence and complete independence of three events

A, B and C defined on sample space () . 4

i) Arv. X followsNB (k, p) distribution. If mean and variance of X are 10

and 25 respectively then find k and p. 2

i) In how many ways can 10 persons be invited for a party from 10 friends

and 7 relatives so asto include:
1) Exactly 3relatives
2) Atleast Srelatives 4

4. Attempt any two of thefollowing : (2x15=30)

a) i) A sampleof 20 observations on variables X4, X, and X, yielded the
following results:

X, =60 02:4 ry=—0.46
X, =40 ca=1 = 0.68 10

Obtain the equation of least squaresregression 1 plane of X;on X, and Xa.

i) LetA, B and C bethree completely independent events defined on asample

space () of arandom experiment such that :

P(A) =0.1, P(B) = 0.5, P(C) =0.2. Find P(AuBuUC). 5
b) i) If X andY areindependent binomial variableswith parameters (10, 0.3)

and (15, 0.7). Find the probability P(X —Y > 8). 6

ii) Distinguish between permutation and combination. 3
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i) The following data shows the sales of a certain commodity (in *000 Rs)

per quarter for the years 2005 to 2008 :

Quarter I I [l Vv
Year
2005 100| 60 | 55 | 60
2006 0| 65 | 50 | 62
2007 120 65 | 50 | 65
2008 130 /5| 70 | 80

Obtain seasondl indicesfor various quartersusing smpleaveragemethod. 6

c) 1) What are different points to be considered in the construction of index

numbers ?

i) For abivariate distribution of (X,Y), define:
1) Marginal probability distribution of X and.
[1) Conditional probability distribution of X givenY =y.
[11) Covariance of (X, Y).

i) Itisknownfrom the past experiencethat aboy hitsthetarget with probability
0.6. If boy throws stones at the target till he hitsit for 3 times, find the

probability that he requires at least 6 stones.

d) i) Define Poisson distribution. State its mean and variance. Also state its
additive property.

i) Giventhat : P(A;) =P(A) =P(Ay) = % P(%l)= % P(%2)= %
and P(%s):%. Find P(A%).

i) Describe the components of time series.

B/11/20/190
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SY.B.A. Examination, 2010
PHILOSOPHY
(General Paper —11)
(Alternate Syllabus)
(Philosophy of Saints of India)
(Old Pattern) (2004 Patter n)

Time: 3 Hours Total Marks: 80

N.B.: 1) All questions are compulsory.
i) Figures to the right indicate full marks.

1. Answer any 10 questions in 1-2 sentences (20 words) each : 20

1) What is Nirguna Bhakti ?
2) Give the names of any two Panchachara.
3) Explain the term Sahg.
4) State the basic tenets of Vaishnavism.
5) Who is Sadguru according to Kabir ?
6) Explain the term Kirtan.
7) What is Pakhand ?
8) Define the term Suffi.
9) What is Karmayoga ?

10) Explain the term Shahanpana.

11) What is Prembhakti ?

12) Define the term Pasayadana.

13) Who is called Saint ?

2. Write short notes on any 2 in 5-6 sentences (50 words) each 10
1) Varkari Panth

2) Nature and importance of Panchachar
3) Disgtinction between Dharmaguru and Sadguru, according to Kabir.
4) Concept of Prembhakti.

P.T.O.
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3. Answer any 2 questions in 25-30 sentences (200 words) each : 20
1) Explainin detail Kabir’'s views on the nature of Ultimate Reality.
2) Explain in detail the nature and significance of Shatsthal Siddhant.
3) Explain in detail Ramadasa’' s concept of Anandvanbhuvan.

4) Discuss in detail the social and spiritual dimensions of Prembhakti.

4. Answer any 2 questions in 50-60 sentences (500 words) each : 30
1) Discuss the nature and role of Bhakti movement.

2) Discuss in detail the significance of the reconciliation that Jnyaneshwar
brought out between Jnyanayoga, Bhaktiyoga and Karmayoga.

3) Describe in detail Tukaram’'s growth from a commoner to Sainthood.

4) State the nature and principles of Sikhism. Bring out Nanak’s role in the
development of Sikhism.
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S.Y.B.A. Examination, 2010
PHILOSOPHY
(General Paper —11)
Applied Ethics (Old Course) (2004 Pattern)

Time : 3 Hours Total Marks : 80

N.B.: All questions are compulsory.
Figures to the right indicate full marks.

1. Answer any ten of the following in one-two sentences or in 20 words : 20

1) What is theocentrism ?
2) Explain the meaning of the term biocentrism.
3) What is Internet ?
4) What is meant by prostitution ?
5) Explain the meaning of the term ‘Gaia'.
6) List any four rights of the patient.
7) What is the value of friendship ?
8) Explain briefly the notion of biodiversity.
9) Give any one version of notion of equality.

10) List any two areas of applied ethics.

11) State any two problems of medical ethics.

12) On what basis the experimentation on animals is criticized ?

13) State any two ethical issues that cropup while hiring employees.
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2. Write short notes on any two of the following in 100 words : 10
1) Four clauses of Hippocratic oath
2) Hoalistic land ethics
3) Liberalism and sexua morality
4) Role of press as fourth pillar of democracy.

3. Answer any two of the following in 200 words : 20
1) Discuss the relation between violence and media.
2) “Ecocentrism demands widening of moral horizons’ ---- Discuss.

3) Discuss fully the traditional views regarding rights of children and duties of

parents.
4) Explain the mgjor issuesthat confront a businessin relation to its consumer.
4. Answer any two of the following in 500 words : 30
1) Examine the issue of immorality of homo-sexuality.
2) What is vegetarianism ? What are the criticisms against non-vegetarianism ?

3) Discuss fully the duties of doctor in the context of their relationship with

patients, other doctors and society.

4) Explain the nature of corporation and fully discuss the notion of corporate

social responsibility.
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SY.B.A. Examination, 2010
(Vocational Course) (Old Pattern) (2004 Pattern)
COMPUTER APPLICATIONS-II1

Time: 2'/, Hours Max. Marks: 60

N.B.: i) Attempt any five questions from Section |.
i) Attempt any five questions from Section 11.
iii) Draw a neat-labeled diagram wherever necessary.
IV) Figures to the right indicate full marks.

SECTION — |
1. What were the problems associated with file system in the past ? 6
2. Explainin brief thefollowing with syntax and example: 6
a) Altertable
b) Createtable
3. What isE-R Modéel ? Explainin brief key elements of E-R Model. 6
4. Explainthefollowing functions: 6
a MIN()
b) AVG().
5. Explaininbrief thefollowing: 6
a DDL
b) DML.
6. Explainthefollowing with examples: 6
a) Likeclause
b) In operator.
7. Explainin brief Network database model. 6

P.T.O.
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SECTION — 11
1. What are the different arithmetic operations possible on pointers ? Explain with
example. 6
2. Explainthefollowingterms: 6

a) Inheritance
b) DataAbstraction.

3. What is meant by array of structures ? 6
4. Explainin brief thefollowing termswith syntax and example: 6
a) For
b) Do.. While.
5. What are the different types of Operators availablein C++ ? 6

6. What arearrays? Explain the declaration, initialization and use of asingle
dimensional array with an appropriate example. 6

7. Writea'C' program to accept 10 numbers using an array and display the min
number. 6

B/11/10/190
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S.Y.B.A. Examination, 2010
ADVERTISING, SALES PROMOTION AND SALES MANAGEMENT
(Paper —1V) (Vocational)
(Personal Selling and Salesmanship)
(2004 Pattern)

Time: 3Hours Max. Marks: 60

N.B. : 1) All questions are compulsory.
2) All gquestions carry equal marks.

1. Writeadetailed note on selling asacareer.
OR
What do you mean by personal selling ? Explain the features and scope of personal
sling.
2. Explainin detail the different types of customers.
OR
Explain the types of salespersons.
3. Write adetailed note on buying motives.
OR

Narrate various reports and documents prepared by salespersons.

4. Write short notes (any three) :
1) Methods of approach
2) Methods of handling objections
3) Limitationsof personal selling
4) Presentation and demonstration
5) AIDA technique.

B/11/10/100
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S.Y.B.A. Examination, 2010
HISTORY (General Paper —11)
History of Modern World (1750 — 1950)
(2004 Pattern) (Old Course)

Time: 3 Hours Max. Marks : 80

N.B.: 1) All questions are compulsory.
I1) Figuresto the right indicate full marks.

1. Answer the following questions in 20 words each. (any ten) : 20
1) Definetheterm‘ Mercantilism’.
2) Who was L afayette ?
3) Name any two thinkers who inspired French Revolution.
4) State the names of four conferences of the concert of Europe.
5) Name the authors of following works.
i) Caddid :
i) The Weadlth of Nations:
6) Definetheterm* Imperialism’.
7) To whom called *Attaturk’ and why ?
8) Define the term ‘socialism’.
9) Write any two objectives of ‘Paris Peace Conference’ (1919).
10) What is the name of Hitler’s autobiography ?
11) State the main cause of ‘Great Depression’ of 1929.
12) What is ‘De-colonization’ ?

13) What is meant by ‘Mandatory system’ ?

P.T.O.
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2. Answer the following questions in 50 words each. (any two) : 10
1) State the main principles of * American Declaration of Independence’, 1776.
2) Write a short note about ‘Young Itally’.
3) State the importance of Chartist Movement.
4) Explain the concept ‘Utopian Socialism'’.

3. Answer the following questions in 150 words each. (any two) : 20
1) Evolute the impact of the ‘Age of Revolution’ on the world.
2) Examine the role played by Bismarck in the unification of Germany.
3) Describe the contribution of Lenin during Russian Revolution.

4) Analyse the consequences of the World War 1.
4. Answer the following questions in 300 words each. (any two) : 30

1) Write the consequences of Industrial Revolution.

2) Discuss the factors responsible for the rise of Indian Nationalism.
3) Describe the causes of Bolshevik Revolution, 1917.

4) Explain the causes of the World War |.
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M.SW. (Semester — [11) Examination, 2010
SOCIAL WORK
G.IX : Community Health, Mental Health and Environmental Hygiene
(2008 Pattern)
(Compulsory)

Time: 3Hours

Max. Marks: 80
N.B.: 1) All questions are compulsory.
2) Figuresin the bracket indicate marks.
|. Answer any one out of two in 500 words. (20)

1) Differentiate betweenindividua and community health and explain thedifferent
indicators of individual and community health.

2) Explain the concept and importance of preventive medicine and discuss
various approaches of prevention.
[l. Answer any one out of two in 500 words: (20)
1) Writeindetail on public health programmesin India
2) Explain the definition of health given by WHO and discuss various factors
affecting hedlth.
[11. Answer any two out of four in 250 words each : (20)

1) State the causes, symptoms treatment and prevention of tuberculosis and
leprosy and explain socia factors responsible for the same.

2) Write an essay on “water and environmental sanitation”.

3) Highlight on sexually transmitted diseases and explain importance of sex
education.

4) Write short note on any two of the following :
1) Malnutrition
ii) Anemia
i) VitaminA and vitamin D deficiency diseases
Iv) Concept of health.

P.T.O.
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V. Answer any four out of six in 100 words each : (20)
1) Health Education
i) Concept of disease
i) Reproductive and child health
Iv) Functions of social worker in community health programme
v) Tetanus

vi) Family Welfare Programme
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S.Y.B.A. Examination, 2010
FRENCH (General)
(2004 Pattern) (Old)

Time: 3Hours
Max. Marks: 80

Q.1. Répondez aux questions. (10 lignes environ) (4 au choix.) (12)

a) Quels sont les problémes rencontrés par des immigrés dans leur pays

d’adoption ?

b) En général, quelle est I’attitude des hommes vers une femme-patronne?

¢) Quelle est ’'invention la plus frappante du vingtiéme siécle ? Comment a-t-
elle changé la vie des gens ?

d) A quoi servent les robots ? Peuvent-ils remplacer les hommes ?

e) Comparez les avantages et les désavantages de la vie moderne.

f) Analysez I’importance des fétes dans la société ?

g) Citez trois superstitions qu’il faut rejeter. Justifiez votre réponse:

Q.2.A. Traduisez en anglais. (8)

Tous les deux ans, une étude. Francoscopie, dessine un portrait de la France et des
Frangais. Aujourd’hui, les Frangais adultes mesurent en moyenne 1,73 m. et les
Frangaises 1,62 m. Entre 1980 et 1991 les hommes ont grandi d’environ 1,5 cm.
Et les femmes d’un centimeétre. Ils ont grossi aussi. Les hommes pésent, en
moyenne 73,7 kg et les femmes 60,7 kg. De plus, ils grossissent en vieillissant.
D’ailleurs, en général, les Frangais se préoccupent davantage de leur apparence.
Ils se portent de mieux en mieux. yFrangais sur deux estime qu’il est en bonne
santé. Ils vivent plus longtemps. Il y a un siécle, les hommes vivaient 45,9 ans et
les femmes 49,7 ans. Aujourd’hui, les hommes vivent en moyenne 74.9 ans et les
femmes 82,3 ans.

Q.2.B. Traduisez en francais. (6)

My friend and his wife let their little boy open all his gifts at once on Christmas
morning and were frustrated that the day’s excitement was over in ten minutes. So
the next year they decided to hold the big present back until after lunch.

They bought him a bike, but couldn’t find a way to wrap it, so they just tied a
balloon to the bicycle. _

Christmas Day arrived, after lunch the mother said, “Look what else Santa has
brought you,” and my friend wheeled the bike in.

“Yeah,” shouted the boy. “A balloon!”

P.T.O.
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Q.3. Compréhension. (8)

Pourquoi une féte des femmes ?

La journée internationale de la femme est célébrée chaque 8 mars pour rappeler
que les femmes n’ont pas toujours eu les mémes droits que les hommes mais aussi
pour réfléchir sur leurs conditions de vie souvent encore inacceptable.

Cette journée internationale a été officialisée par les Nations Unies en 1977. Mais
I’idée a été proposée deés 1910 par I’ Allemande Clara Zetkin afin de faire

connaitre les luttes que les femmes menaient partout dans le monde pour obtenir

les mémes droits que les hommes.

Mais il reste encore beaucoup d’inégalités dans la vie de tous les jours. Les

femmes et les hommes n’ont pas accés aux mémes métiers et n’ont pas de salaire

équivalent a ceux des hommes alors qu’elles ont les mémes responsabilités.
Questions : (4)

a) Quel est I’objectif principal de féter la journée internationale de la femme ?

b) Quelles différences y a-t-il entre les hommes et les femmes dans le domaine du

travail ?

Dites ‘vrai’ ou ‘faux’. (4)

i) La journée internationale de la femme est célébrée chaque 8 mars.

ii) La journée internationale de la femme est célébrée depuis 1910.

iii) Il n’y a pas d’inégalités entre les hommes et les femmes.

iv) Les femmes n’ont pas accés aux mémes métiers.

Q.4. Traitez UN des sujets ci-dessous. (6)
a) Vous venez de passer des vacances mémorables. Ecrivez une lettre a un(e)
ami(e).

Oou

b) Votre grand-mére se plaint que la génération présente a perdu le sens de la féte.
Vous lui expliquez votre point de vue. Ecrivez la conversation.

Q.5. A. Mettez les verbes au subjonctif ou a Pindicatif. (4)

i) Je suis certain que nos amis (arriver) en retard.

ii) Mon pére souhaite que je (faire) mes études supérieures en France.
iii) Il faut que tu (€étre) prét avant midi.

iv) Je regrette que il (avoir )des ennuis au travail.
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Q.5.B. Complétez avec le pronom qui convient. (4)

i) Tu as montré les photos a Sylvie? Bien siir, je _____ai montré les photos.

i1) Etes-vous jamais allés au Canada? Nous ___ sommes all€és il y trois ans.

iii) Il a discuté ses problémes avec ses amis, et puis il a parlé avec son
directeur.

iv) C’est un acteur célébre ? Oui, c’est un acteur les films sont appréciés
dans le monde entier.

Q.5.C. Choisissez les sens équivalent. (4)
1) un désastre (spectacle/catastrophe/incident)

i1) un robot (machine/automobile/ outil)

ii1) épouser (appeler/marier/aimer)

iv) la peur ( prudence/patience/crainte)

Q.5.D. Voici quelques réponses. Formulez les questions.(4)
i) 70% des Frangais font du sport.

ii) Il y a 40,000 sorciers en France.

iii) La Tour Eiffel attire le plus grand nombre de visiteurs

iv) Les Francais sont amateurs du fromage.

Q.5.E. Racontez le récit au passé. Utilisez le passé composé, le plus-que-
parfait ou ’imparfait, selon le cas.(4)

Quand nous (étre) petits, nous (aller) souvent passer les vacances a la campagne,
chez mes grands-parents. Un jour, nous (visiter) une ferme a coté. Le fermier
(acheter) un beau cheval et il (vouloir) nous le montrer. Nous (entrer) dans
I’écurie pour le voir, soudain, I’animal (se sauver), parce qu’on (oublier de bien
fermer la porte.

Q.5.F. Formez des noms avec les verbes ci-dessous. 4)

i) apprendre i) répéter iii) exagérer iv) accoucher

Q.5.G. Complétez avec les pronoms relatifs qui conviennent. (que, qui, dont,
ou) 4)

i) Le livre tu m’as donné est intéressant.

ii) Connais-tu la personne — est en face de nous ?

iii) Voici la ville je suis né.

iv) Je connais bien I’endroit tu parles.
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Q.5.H. Dites si les phrases ci-dessous expriment la crainte, un souhait, une
demande polie. 4)

i) Pourriez-vous me passer le sucre, s’il vous plait.

ii) A ta place, je ne lui dirai rien.

iii) Elle a bien fermé la porte de peur que les voleurs n’entrent dans la maison.
iv) Je veux que mon frére apprenne I’espagnol.

Q.5.1. Mettez a la forme passive. 4)

i) Le ministre va inaugurer le nouveau pont.

ii) La police a attrapé€ les voleurs.

iii) Le directeur interviewera les candidats.

iv) On va construire un immeuble moderne a la place de cette vieille maison.

Q.5.J. Complétez avec les verbes/expressions qui expriment la peur, la
certitude, la satisfaction, le regret. 4)

1) Je qu’il ne manque son avion.

i) , je ne peux pas assister a votre mariage.

ii1) Je suis de le vetr. =

iv) Je suis qu’elles viendront.

B/11/10/210
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S.Y.B.A. Examination, 2010
PUBLIC ADMINISTRATION
Special Paper — 1
M aharashtra Administration
(Old Course) 2004 Pattern

Time: 3 Hours Max. Marks: 80

N.B. : 1) All questions are compulsory.
2) Figuresto the right indicate full marks.

1. Answer any ten guestions (20 words each) 20

1) Mention the geographical regions of Maharashtra.

2) State two names of co-operative Bank.

3) Write the sources of Municipal Council.

4) Explain two functions of Public Account Committe.

5) State two objective of Dairy co-operative movement.

6) Mention two organisation of Directorate of Tourism.

7) State the qualification of Governor.

8) What are the main problems of Maharashtra State Electricity Board ?
9) Write two features of Maharashtra economy.
10) State the objective of credit co-operative society.

11) When was Samyukta Maharashtra Samiti Formed ?

12) State any two obligation functions of Contonment Board.

13) Whom is the CEO accountable to ?

P.T.O.
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2. Answer any two questions (50 words each) 10
1) State the features of Council of Ministery.
2) Explain the role of the co-operative movement in Maharashtra.
3) State the factors responsible for the rise of Maharashtra state.
4) Explain the powers and functions of Legislation Council.

3. Answer any two questions (150 words each) 20
1) Evalaute the problems of sugar industry.
2) Explain the functions of Municipal Commissionar.
3) State the structure and functions of Maharashtra Public Service Commission.
4) Describe the structure and functions of Estimate Committe.

4. Answer any two questions (300 words each) 30
1) Explain the powers of the Governor.

2) State the Geographical and economical impact of the policies on socid lifein
Maharashtra.

3) Explain the role of Chief Ministers in Maharashtra Administration.
4) Write an essay on Maharashtra Road Transport corporation.
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S.Y.B.A. Examination, 2010
HISTORY OF CIVILIZATION (1453 —-1815)
General Paper — ||
(2004 Pattern)

Time: 3Hours Max. Marks: 80

N.B.: i) All questions are compulsory.

i) Figures to the right indicate full marks.

1. Answer the following questionsin 20 words each (any ten) : 20
1) Write two causes for the Renaissance.
2) State two causes of the Reformation.
3) Writethework of Zwingly about Reformation.
4) Explain the concept of ‘ Counter Reformation’.
5) Writetwo effects of colonialismin the 161 century.
6) Statethework of Portuguese king Henry in geographical discoveries.
7) Write any two causes of the rise of Grand Monarchy.
8) State the social reforms of Peter the Great of Russia.
9) Why was Africaknown as‘Dark Continent’ ?
10) Statetwo nameof thinkersresponsiblefor the American war of independence.
11) Write two consequences of the French Revolution.
12) State two economic reforms of Napoleon Bonaparte.
13) Who is known as ‘ Father of Modern Chemistry’ ?

P.T.O.
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2. Answer the following questions in 50 words each (any two) : 10
1) Write about the law of Gravitation by Newton.
2) What do you know about John Huss ?
3) State the social reform of Peter the Great of Russia.

4) Write the thoughts of Roussaue.

3. Answer the following questions in 150 words each (any two) : 20
1) Write the consequences of the Religious Reformation Movement.
2) Discussthe geographical discoveries.
3) Evauate Akbar asa‘Great ruler’.

4) Review the progress of science during the 181 century.

4. Answer the following questions in 300 words each (any two) : 30
1) Writethe progressin thefield of science during the Renai ssance period.
2) Explainthe contribution of Martin Luther to Reformation.
3) Discussthe work of X1V Louis.

4) Examinethe socio-economic and intellectual background of French Revolution.
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S.Y.B.A. Examination, 2010
SOCIOLOGY (General —2)
Group — A : Population and Society
Or
Group — B : Social Welfare and Social L egislation
(2004 Pattern) (Old Syllabus)

Time: 3 Hours Max. Marks: 80

N.B. : i) Attempt Group A or Group B.
i) All questions are compulsory.
l11) Figures to the right indicate full marks.

Group — A
1. Answer any ten of the following in maximum 20 words each. 20
1) What is Population Transition ?
2) State the meaning of Child Mortality.
3) Write any two pull factors of Migration.
4) What is Economic development ?
5) What is surplus population ?
6) Give the meaning of Fertility.
7) State the meaning of Antinatalist policy.
8) What is Family Welfare Programme ?
9) Write any two consequences of Migration.
10) State any two problems caused by Slums.
11) Write any two objectives of population Education.
12) What isAIDS ?

13) Write the meaning of Pronatalist Policy.
P.T.O.
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2. Write notes on any two of the following in maximum 50 words each : 10
1) Neo-Malthusianism.
2) Marxist view on population.
3) Family Planning Programme.
4) Economic Development and Migration.
3. Answer any two of the following in maximum 150 words each. 20

1) State the meaning of Demography and Elaborate the importance of
Demography.

2) Explain the factors affecting fertility.
3) Describe the success and Failure of Family Planning Programme.
4) Elaborate the ill effects of population growth on Economic Development.
4. Answer any two of the following in maximum 300 words each. 30
1) State the meaning of Migration and Elaborate the types of Migration.
2) What is Census ? Discuss the characteristics of census.

3) Give meaning of Population Policy and take a brief review of Population
Policy after Independence.

4) Explain the concept of Population Education. Elaborate the importance of
Population Education.
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SOCIOLOGY (General —2)
Group —B : Social Welfare and Social L egislation
(2004 Pattern) (Old Syllabus)

Time: 3 Hours Max. Marks: 80

1. Answer any ten of the following in maximum 20 words each. 20

1) Define Social Welfare State.
2) Define Socia Security.
3) State the meaning of Privatization.
4) What is charity ?
5) Define Dowry.
6) Give the meaning of Child labour.
7) Write the main objective of Group Insurance Scheme.
8) What isV.R.S. ?
9) Give the meaning of Untouchability.

10) Define Liberalization.

11) Write the main objective of Indira Awas Y ojna

12) Give the meaning of Female Foeiticide.

13) Write the main objective of Savitribai Phule Palak Y ojna.

2. Write notes on any two of the following in maximum 50 words each. 10
1) Need of vocational guidances to Indian Y outh.
2) Any two causes of traffiking of women.
3) Fundamental Duties of Indian Citizen.

4) Any two features of sustainable development.
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3. Answer any two of the following in maximum 150 words each. 20

1) Explain the Employment Guarantee Scheme with reference to unorganized
labour in India

2) Describe the Directive Principles of State Policy.
3) Illustrate the need for welfare of scheduled caste in India.
4) Discuss the functions of Central Social Welfare Board.
4. Answer any two of the following in maximum 300 words each. 30
1) Evaluate the role of women representatives in Panchayat in India.
2) Explain the historical background of Social Welfare in India.
3) Discuss the various problems before the Aged.
4) Describe the various welfare models.
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S.Y.B.A. Examination, 2010
(Vocational Course)
COMPUTER APPLICATIONS-1V
(Old Pattern) (2004 Pattern)

Time: 21, Hours Max. Marks: 60

N.B.: i) Attempt any five questions from Section — I.
i) Attempt any five questions from Section — 11.
iii) Draw a neat labeled diagrams wherever necessary.

iv) Figures to the right indicate full marks.

SECTION - |
1. Writeanoteon Menu Builder. 6
2. Explain datareportsin brief, 6
3. Explainfollowing: 6
a) Property Window
b) Project Explorer.
4. Write short note on string functionsin VB. 6
5. Explain briefly thefollowing statement with suitable example and syntax. 6
do ......... loop
For ........ next
6. Differentiate input box and message box. 6

P.T.O.
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7. What will be the output of the following ? 6
a) Private Sub Command _ click ()
Diml, j Aslnteger
Dimnum(1to 2, 1to 2) Asinteger
Forl=1to2
Forj=1to?2
num (1, j) = InputBox (“Enter Value”)
Next |
Next |
Forl =1to2
Forj=1to2
Print num(l, J)
Nextj
Next |

End Sub
SECTION — 11

Write short note on normalization.

Explain System Development Life Cycle. (SDLC)

Explain waterfall model with diagram.

What isdecision tree ? Explain decision tree with suitable example.

State and explain al roles of system analyst.

© o M W D P
o o O O o o

Explainthefollowing:
a) Fact Gathering Technique b) Feasibility study

7. Draw Context Level DataFlow Diagramfor Payroll inwhich employee, organization
and bank are entities. 6

B/11/10/160
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S.Y.B.A. Examination, 2010
STATISTICS (Special —1) (New Cour se)
Mathematical Statistics — |

Time: 3Hours Max. Marks: 80

N.B. : 1) All questions are compulsory.
i) Figuresto the right indicate full marks.
i) Symbols and abbreviations have usual meanings.
Iv) Use of calculator and statistical table is allowed.
V) Graph paper will be provided on request.

1. Attempt any two of the following : (2x5=10)
a) If aX iscontinuous random variable (r.v.) with p.d.f. :

f(X)= 31-x)? ;0<x <1
=0 ; otherwise

Find the p.d.f. of Y =—log (1 —Xx).

b) Derivethe expression of mode of F(n, n,) and show that itisalwayslessthan

unity.

c) A continuousr.v. X hasm.g.f. :

M, (t) = e8| Find P(—1<X<9).

d) Statetheinterrelations between xz, t, F and normal distributions.
2. Attempt any four of thefollowing: (4x5=20)

a) State and prove lack of memory property of exponential distribution with
parameter o.

b) If X, X,, Xgarei.i.d. N(O, 1) variates and Y=4x2/4/xf+x§,find k such

that P(Y < k)= 0.995.
P.T.O.
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c) If X = N(0,2) then show that Y = X2 follows chi-square distribution with
one degrees of freedom.

d) Let (X,Y) beacontinuousr.v. with joint p.d.f. :

f(x,y)=e Y :x>0,y>0

=0

Find the conditional distribution of X givenY =y.

: otherwise

e If X and S? are the mean and variance of a random sample of size 16 from
N(3, 64), thenfind

P1<X <5 34183<S<77.244] .

f) Thefollowing isthe information of certain town of swine-flue cases. Test at
5% |.0.s., whether the vaccination is effective to control the said disease ?

Vaccinated Not Vaccinated
Affected 03 22
Not affected 52 23

3. Attempt any three of the following :

(3x10=30)

a) Let (X,Y) becontinuous bivariate random variable with joint p.d.f. :

f(x,y)=(x+y);0<x,y<1

=0

: otherwise

Find correlation coefficient between X and Y.

b) Suppose X — x%(m) and Y — y?(n)are two independent variables. Show
that (X+Y) and (X/Y) areindependently distributed random variables.
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c) Define Snedecor’s F-distribution with n, and n, degrees of freedom and derive
its p.d.f.
d) Let X4, Xy, Xg,.......X, be arandom sample from N (i1, ¢2) then show that

X and S%=1/nx(xi —X)?are independently distributed random variables.
Alsoidentify their distributions.

e) 1) Caculate T.FR., GR.R. and N.R.R. for the following.

Age-groups 15-19 | 20-24 | 25-29 | 30-34 | 35-39 | 40-44
Female population |9000 |9200 18900 |8600 |8400 |8500
No. of births 180 1012 1068 |774 420 |170
Survival factor 092 |091 09 |0.89 |0.89 |0.86

i) A certain stimulus is administered to each of 12 patients resulted in the
following increase in blood pressure (B.P).

52,8 -1,30-2,1,5 0, 4 and 6. Can it be concluded that the
administration of the stimulusin general will be accompained by increasein
the B.P. ?Use 5% L.O.S.

Test whether two populations have equal variances [use 5% |.0.s.].

4. Attempt any one of the following : (1x20=20)
a) 1) Obtain mean deviation about mean of normal distribution. (8
i) The sampleswere drawn from two independent normal populations with
unknown means. Therelated information isgiven below : @)
Sample No. | Sample Size > Xi ¥ Xi?
| 9 9.6 6152
I 1 165 73.26
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i) If X isar.v. with p.d.f. :
f(x)=k/x ;0<x<4
=0 ;otherwise
Find thevalue of k and P (1< X < 2). 5)

b) i) Let (X,Y) becontinuous bivariate random variable with joint p.d.f. : (8

f(x,y)=cxy ;x=0,y=>20,x+y<1
=0 ;otherwise
Find the value of ¢ and marginal distribution of Y.

i) 1f Xy, Xy, Xg,...... X j@reni.i.d. exponential variateswith parameter o then

show that ¥ Xi follows gammadistribution. (7)

iif) Describe the test procedure for testingH, : p=0againstH, : p z0at 5%

level of significance. 5)

B/11/10/100
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S.Y.B.A. Examination, 2010
(New Course)
APPLIED STATISTICS (General)
Paper — | : Applications of Statistics and Theory of Probability

Time : 3 Hours Max. Marks : 80

N.B.: i) All questions are compulsory.
1) Figuresto the right indicate full marks.
1) Symbols and abbreviations have usual meanings.
iIv) Use of calculator and statistical table is allowed.

v) Graph paper will be provided on request.

1. Attempt any two of the following : (2x5=10)
a) Discuss the problems involved in the construction of index numbers.

b) The probability that a bomb will hit the target is 0.8. Find the probability that
out of 10 bombs dropped, exactly 4 will miss the target. Also find expected
number of bombs hiting the target.

c) Two families consists of three members each and three families consisting of
four members each. In how many ways can they take seat in a row at a
function. So that members of the same family sit together ?

d) Define:
1) probability mass function of a discrete random variable (r.v.)
i) expectation of adiscreter.v.
lii) variance of adiscreter.v.

2. Attempt any four of the following : (4x5=20)

a) Explain the concept of multiple correlation coefficient and partial correlation
coefficient.

b) Given : P(A) =0.38, PIANnBNC) =0.1
P(ANBNC)=0.17and P(B)=0.3

Find P(A UB),P(A N B).

P.T.O.
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c) Define negative binomial distribution. State its mean and variance. Also state
its additive property.

d) The following data shows the sales of a certain commodity (in ‘000 Rs.) per
guarter for years 2001 to 2004 :

Quarter
Y ear | I 1 WY,
2001 45 80 50 60
2002 50 90 60 62
2003 60 85 65 68
2004 52 95 70 55

Obtain seasonal indices for various quarters using simple average method.

e) Calculate age specific fertility rate and total fertility rate for the following data:

Age group Female Live Births

(years) population

15-19 1,16,410 10,468
20-24 1,13,610 16,983
25-29 1,02,930 12,522
30-34 93,300 7,083
35-39 73,920 3,456
40-44 62,700 1,140

f) For abivariate discreter.v. (X, Y), define :
1) Marginal probability mass function (p.m.f.) of random variables X and Y,
i) Conditional expectation of X givenY =y,

Ii1) Independence of the random variables X and Y.
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3. Attempt any three of the following : (3%x10=30)
a) For atrivariate data:

n=10 X,=100, 6,=26.7 , r,, =0.9

X3=75, 63=10 , r,3=0.85
Obtain the equation of regression plane of X, on X, and X, by the method of
least squares.
b) Explain the method of obtaining seasonal indices by the link relative method.
c) i) Explain the terms:
() Splicing of index numbers.
(I1) Deflating of index numbers. 6

i) What are index numbers ? Discuss its utility. 4
d) i) Obtain mean and variance of a discrete uniform variable taking values

i) Let X and Y be two independent Poisson variables with mean 4 and 5
respectively. Let U =X +Y
Find : (I) E(U) &V (V)
(1) P(u <3). 5
€) The joint probability distribution of X and Y is given below :

X v 1 2 3
-1 C 2C C
0 3C 0 2C
1 3C 2C C

Find : i) The value of C,
i) Cov (X,Y)
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4. Attempt any one of the following : (1x20=20)
a) 1) Givethe classical definition of probability. Discuss its limitations. 5

i) Explain the terms (1) GRR (1I) NRR
Interpret the cases: NRR = 1, NRR > 1. 5

lii) Define pairwise independence and complete independence of three events
A, B and C. 4

Iv) For arandom experiment the sample space is::
Q {0)1’ W,, Wr M O, (’06}

Let P be the probability measure determined on events of Q such that :

P(w,) = P(w,) = % , P(w,) = P(w,) = 1—12
P(o,) = P(w,) = %
fA:{ o,0,on,}
B: { 0,0, o, o}
then calculate P(A[B) , P(BJA). 6
b) i) Explain various components of time series. 5

i) Define Poisson distribution. Give two real life situations where Poisson
distribution is applied. Also state its additive property. 5

Iii) Out of 8 pointsin aplane 5 are collinear. Find the probability that the three
points selected at random will form atriangle. 5

Iv) State the formulae for Laspeyre' s Paasche's and Fisher’s price and
guantity index numbers. Also state the relation between them. 5

B/11/20/100
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T.Y.B.A. Examination, 2010
MATHEMATICAL STATISTICS
General Paper —|
Statistical Inference

Time: 3Hours Max. Marks: 80

N.B.: i) All questions are compulsory.
i) Figures to the right indicate full marks.
lii) Use of Calculator and Satistical Table is allowed.
Iv) Symbols and abbreviations have their usual meaning.
1. Attempt any ten of the following : (2 each)
a) Defineefficiency and relative efficiency.

b) Show that if there exists two unbiased estimators of aparameter g then there
existsinfinitely many unbiased estimatorsof 6.

c) Prove or disprove. If T, and T, are two independent estimators of 6 then
T,+T
=7 isless efficient than both T, and T,

d) Show that sample mean ¥ is a sufficient statistic for the parameter p of
N (1, o2) distribution (2 known).

e Let X, X, ..., X bearandom sample from the p.d.f. G(6,1). Estimate g by
the method of moments.

f) Show that the sample mean isaconsistent estimator of the population mean if
the population hasfinite variance.

g) Obtain m.l.e. of ) for Poisson distribution with parameter ), .
h) Definetypel and typell errors.
1) State Neyman-Pearsonalemma.
]) State the assumptions made in non-parametric tests.
k) State onereal life situation where use of run test is appropriate.
[) Explaintheterm ‘Power of atest’.

m) Describetheterm’ Uniformly most powerful test.

P.T.O.
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2. Attempt any two of the following : (5 each)
a) Explaintheterm*Pivota quantity. Givetwoillustrations.

b) Let o random variable X takesvalues 1 and O with probabilitiesg and (1-9)
respectively. Let X, X...., X, be a random sample from the distribution.

T(T-1 n
(T-1) is unbiased estimator of g2, where T=X; .
n(n-1) i=1

Show that

c) Find Fisher’sinformation function I(pt) for N(u,c?) where 2 isknown.

d) Construct SPRT of strength (o =0.1, 3 =0.2) for testing H,:A =2 against
H, :A =4 for a Poisson variate with parameters j, .

3. Attempt any two of the following : (10 each)

a) If B(g)isthebiasintheestimator of g then show that, under certain conditions

h+B'@®)
nl(6)
wherel (g ) isthe Fisher’sinformation and n isthe sample size.

to be stated E(T—0)° 2 +[B(©)]°

b) A random sample of size 10 is drawn from N(u,c?). Obtain 100 (1- o) of
confidence intervals for p based on the sample mean X when

) 2 isknown and

i) g2 isunknown.

c) Let X, X,, ..., X_ be arandom sample from exponential distribution with

1
mean . Find the most powerful test of size o, to test H,:0=0, against

H,:0=0,(>6,). Also obtain the power function of the test.

d) Stedl rods produced by a certain company have a median length of 10 meters
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when the processis operating properly. A sample of 10 rodsrandomly selected
from the production line, yields the following observed lengths: 9.83, 10.09,
9.72,9.87, 10.04, 9.95, 9.82, 9.79, 9.73, 9.90. Assuming that the lengths are
symmetrically distributed about their median, test at I.0.s oo = 0.05 whether
process is operating properly using Wilcoxon's sign rank procedure.

4. Attempt any two of the following : (15 each)

a) i) DefineMinimumV arianceUnbiased Estimator (MVBVE) of aparameter.
Show that it isunique when it exists. 7

i) Let X follows Poisson distribution with mean ),. Totest H,: A =10 against

H, : A =9 how largearandom sampleof sizen be chosento guarantee o, = 0.1
and power of the test equa to 0.9 ? Use norma approximation. 8

b) Explainthefollowingtermswith oneillustration each :
I) Estimate and estimator.
i) Simple and composite hypothesis.
i) Sufficient statistic and state Neyman'’s factorization theorem to obtain
sufficient statistic. (5 each)
c) i) Describebriefly method of maximum likelihood estimator (m.l.e) and method
of moments to obtain estimators of the parameter. 8
if) A random sample of size n=25 taken from a normal population with
S.D.c =5 hasits mean X,=80. A second sample of size n,=36 taken
from adifferent normal population with S.D.c ,=3 hasitsmean X, =75.
Find a 94 of confidenceinterval for (u, —u,). 7

d) i) Let X, X,,... X bearandom sample from a uniform distribution u(0,0) .

Obtain estimator of g by the method of moments and by the maximum
likelihood . Compare the variances of the two estimators. 8

i) Use Kolmogrov-Smirnor test to test the hypothesisthat thefollowing sample

values come from N(u = 70,62 = 36)
{74, 63,59, 62,44, 82,43, 102, 35, 78} usel.0.S. ¢, = 0.05. 7

B/11/10/100
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T.Y.B.A. Examination, 2010
STATISTICS (General)
Paper —I11
(Operations Research and Design of Experiments)
Time: 3Hours Max. Marks: 80

N.B.: i) All questions are compulsory.
i) Figures to the right indicate full marks.
1) Use of calculator and statistical table is allowed.
Iv) Notations and symbols have their usual meanings.
V) Graph papers will be provided on request.

1. Attempt any ten of the following : 2 each
a) Describethe meaning of an artificial variablein LPP.
b) Explaintheterm’Treatment’ with anillustration.
c) Statethelinear mathematical model of CRD.
d) State any two advantages of confounding in factorial experiments.
e) State mathematical model of asplit plot design.
f) Describe atransportation problem.
g) Definearelative efficiency of adesign D, with respect to design D,

h) Stateall assumptionsrelated with a sequencing problem of two machinesand
n-jobs.

i) Explain the concept of a concomittant variable.

) State alinear mathematical model for analysis of covariance in randomised
block design (RBD).

k) Explaintheterm’Block’ withanillustration.
[) Giveared lifeapplicationfor RBD.

m) Definesimpleeffect in 22 factorial experiment.
P.T.O.
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2. Attempt any two of the following : 5 each
a) Define a LPP. Sate canonical form and standard form of a LPP.

b) Obtain an initial basic feasible solution by using least cost method for the

following T.P.
Destination
Origin ) D, D, Availability
0, 12 10 13 9 30
0, 11 14 16 8 45
O, 10 11 14 12 35
Requirement 20 28 32 30

c) Explain any two principles of the design of experiments.

d) Distinguish between total confounding and partial confounding.

3. Attempt any two of thefollowing : 10 each

a) Describe the complete analysis of variancein LSD.

b) Solvethefollowing LPP by graphical method :
Minimize z = 40x, + 80x,,
Subject to :
20x, + 10x, > 100,
6x, + 24X, > 72,
18x, + 3Xx, > 54,

X, X, > 0.
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c) ThefollowingisaT.P. withinitial solution providedincirclesand thevaluesin

square brackets are the unit costs of transportation.

Warehouses S_lpp|y
W W W w ("000)

Plants

c O

Demand
('000)

25 10 15 5 55

| sthe above solution optimal ?1f not, obtain an optimal solution and minimum
cost of transportation.

d) i) Describe the Yate's method to obtain the factorial effectsin case of 22

factorial experiment. 5
ii) Obtainthemathematica expressonfor main effectin 22 factorid experiment. 5
4. Attempt any two of thefollowing : 15 each
a) 1) Givethe ANOCOVA tablefor CRD. Describe the teststo test :
1) Hoy : B=0,
I1) Hy, : Thetreatments are equal in their effects. 10
i) State any two situations where analysis of covarianceis used. 5

b) i) Prepareinitial simplex table and get an improved basic feasible solution by
performing only oneiteration to thefollowing L PP.

Maximize Z = 4x, + 10x,,
Subject to :

X,, X > 0. 10
i) Describe a sequencing problem of three machines with n-jobs. 5
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c) i) InRBD, show that the mean error sums of squaresisan unbiased estimator
of error variance o3. 8

i) Five jobs are to be processed on two machines M, and M, in the order
M. M... Thetime (in hrs) to process the jobs on these machines are as given

below :
_ Job
M achine
1 2131415
M, 20 11018 13 16
M, 15 12|17 15|20

Find the optimum sequence of jobs in order to minimize total elapsed
time. 7

d) i) GivetheANOVA tablefor total confoundingin 23 factorial experimentin

RBD by stating detailed formulae. 8
i) Completethefollowing ANOVA table and calculate the efficiency of RBD
over CRD. Comment on your result. 7

Source df | SS | M.SS | F-ratio

treatments| 2 * 1.64 *
blocks 3 | 659 | 21.96 *
error 6 * 0.54

B/11/10/100
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[3801] — 604 AR A

R. IE T W IIeh! Yo ITeaTd foa.

) HETIHTETET HTEREH ATSHITd o7l Y
feran

) HEATH G FE IR St ANTEH T8 . Y
foran

AT AT T TSR THE .

3. IR ST 3T TIh! Q4o IeaTd foral.

31) #fier o1 dfedehiar=at aTeHRiA T e =1, %0
Teran
§) HAARTRR AiRId IS aTeXreTaeht e Hifed foTal. %0
ek
ITER THSIRA AT TSR Hfed! foTal.

¥, JEiel JaTelt IW I 300 64T foTal.
) T ATGHATAT IM & TEY T A, 2
Tehan
“Fd, a M7 o T Shferd T AU TTEHT Tt AR A1 faemared == o,
§) HETATET=AT |et T SearITd TS =211, g
feham
"SGR IS TEUIS! SIETE Tee 3T ol FEUTATd = ol

B/11/10/940



RO A A [3801] — 609

S.Y.B.A. Examination, 2010
GERMAN
Special Paper — 1 (Old Course) (2004 Pattern)
Study of Literature
Time: 3Hours Max. Marks: 80

Frage 1. Ubersetzen Sie ins Englische oder Marathi! (05)

Als er am néchsten morgen erwachte, stellte er fest, dass er allein im Zimmer war. Er
blickte auf die Uhr und erschrack: bis zum Morgenzug bleiben ihm noch fiinf Minuten, es
war ausgeschlossen, dass er ihn noch erreichte.

Am Nachmittag — er konnte es sich nicht leisten, noch eine Nacht in der Stadt zu bleiben-
kam er niederschlagen und enttduscht zu Hause an. Sein Junge 6ffnete ihm die Tiir,
gliicklich, ausser sich vor Freude. Er warf sich ihm entgegen und rief ., einer hat gewinkt,
einer hat ganz lange gewinkt.”

,» Mit éiner Kriicke 7 fragte Schwamm.

,» Ja, mit einem Stock.Und zuletzt hat er sein Taschentuch an den Stock gebunden und es
so lange aus dem Fenster gehalten, bis ich es nicht mehr sehen konnte.

Frage 2. Beantworten Sie fiinf der folgenden Fragen! (25)

Erldutern Sie den Titel ,,Die Eumenieden von Ohlsdorf*!

Warum begeht die Tante Selbstmord?

Welche Probleme der Seniorenwelt kommen in ,,Eumenieden® vor?
Charakterisieren Sie den Mann mit der Kriicke in ,,Die Nacht im Hotel* von
Siegfried Lenz!

. Nehmen Sie Bezug zu dem Titel ,San Salvador’!

Wie leistet der Stahljunge seinen Beitrag bei der Vollendung des Experiments von
Francis Beckon?

7. Welche Beziehung hat der Arbeiter in “Neapel Sehen’ zu seiner Fabrik?

L -

'O'\(J'I

Frage 3. Beantworten Sie drei der folgenden Fragen! (nur 3) (15)
1. Wie wird der Herbst in Hebbels Gedicht beschrieben?
2. Wie ist das Gedicht ,Markierung einer Wende” von Ernst Jandl zu interpretieren?
3. Was wird durch das Gedicht ,Statistik’ kritisiert?
4. Wie schildert Manfred Eichhorn das Familienleben ?
5. Erldutern Sie die Zeile: ,,hier sitze ich und forme Menschen nach meinem Bilde*
6. Was thematisiert Rudolf Otto Wiemer durch das Gedicht *Partizip Perfekt’?

P.T.O.
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Frage 4.
A) (10)

Fassen Sie die Geschichte des Romans “Zwischen zwel Scheiben Gliick” kurz
zusammen!

oder

Erkldren Sie anhand der Handlung des Romans “ Zwischen zwei Scheiben Gliick™ den
Einfluf} der soziopolitischen Umstédnde auf das Leben einfacher Menschen!

oder

Beschreiben Sie die Beziehung zwischen Lazlo und Dr. Nagel!

B) Beantworten Sie zwei der foigenden Fragen! (10)
1. Charakterisieren Sie Lazlo Nagel!
2. Warum begeht Dr. Nagel am Ende Selbstmord?
3. Beschreiben Sie den Briefwechsel zwischen Peter und seinem Vater!
4. Wie entwickelt sich die Beziehung zwischen Thea Schmidt und Peter?
Frage 5.
A) Erzihlen Sie nach! (nur eins) (05)

1. Die Schilbiirger
2. Zeus und Schaf
3. Die wilde Jagd

B) Erkliiren Sie zwei der folgenden Begriffe! (10)
1. Sage
2. Epik
3. Anekdote
4. Kurzgeschichte
5. Mirchen

B/11/10/100
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S.Y.B.A. Examination, 2010
GUJARATI (General)
(Old) (2004 Pattern)

Time: 3Hours Max. Marks: 80
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S.Y.B.A. Examination, 2010
fa-
Special Paper — 11
[ATeh, Su=m@ R ey et @1ex]
(0T ureasRH) (2004 Pattern)
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S.Y. B.A. Examination, 2010
SANSKRIT (General —11)
(2004 Pattern) (Old Course)

2) Tgavm -V and VI

R) oftwg swragtar — Chap. 11 to VI

Time : 3 Hours Max. Marks : 80

1. Write answers of the following questions in twenty words each (any ten): 20
et AT e o Sreaid ST e (ePvTeTe )
i) Inwhat way does g1 describe T ?
T U a1 e L 7
i) Which meters are used in Canto 5 and 6 ?

TSI AT ST et G hivTe] BaTe aTa shell 3TE 7

i) How is@g<T described ?
T A R e el TR 7
iv) Which illustration is used to describe 3gadl who has fallen in love with 315 7
STSITER ST SATeTedT SEHATETS! RIUTAT T aTIXaT 3T 7
v) Why were & and T adorable for the residents of swie ?
STTEATHATER TR Solcd SATIT T 31 F&H19 et ?
vi) How has Kalidasa described king 311 ?
HICTRTE 37T TSI IUH he et TR 7
vii) Which sacrifice did Raghu perform ? What was its effect on him ?
T ShIVTT I kel BIT ¢ TS Tl STar€eT shaf Seft gt 7
viii) What is meant by the word ‘=’ ? What types of Tt are referred by Lord g ?
‘Tt wregTen 319k R ? WA i hivre fsst Tifide sTRd ¢
ix) Give the names of different sacrifices mentioned in sragiiar.

Tregriad sTeten fafae asmreht = |,

P.T.O.



[3801] — 620 2- AR

X) Who should be designated as Fifiq ?
Y SRIOTTEAT TEUTT 7
xi) When will the person be his own enemy ?
TS T =T I kel Bl ?
xii) What fruit accrues to the people who does not follow the advice of Lord s ?

FTT IYSIT YT = FHLOTTATEAT hIvTd Hed fezd ?
xiii) Who is called ‘feam=m’ ?
“THreamerRY ShIoTTet Fedet 3T 7

2. Trandate and explain into English or Marathi any one from Section 'A' and 'B'
each of the following : 10

3 AT & TIATIAA ShIVTRITET Teieh! UehTel ARTST 312a SUS 6 SIS [HUNER STJaTE foral.
SECTION — A
(o - @1)
) S ATehd HaTfemed! g amiy—-= 9 |
LR ERIBEAC RS HIPE R IDEILIEBEas

i) Fenfoft <rafsra T 9 9 S ufdan |
AT 39 TUS faauivTe @ 9 ffre: ||

SECTION — B
(T - =)
i) TTacd AT 7 = gohd Y |

TG JH o JaIfd s=ad: ||

i) W:W@:Wﬁmﬁ
STEHRITHETCHT Salgraid 7=rd ||
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3. Write a descriptive note on any one from Section A and B each (in 150 words): 20
3 AT T Teiehl ehTaR fod=mTereh 2191 S0 ST fofe :

SECTION - A
(Tarsmr - ar)
1) Character sketch of king 311
SENSICESIELICELE
ii) King oo
TSI oo
SECTION - B
(e - =)
i) Tefaer fset
i) Typesof I3
fafaaa.
4. Write along answer of any one of the following questions from Section A and B
each (in 300 words each) : 30

ekl famt ‘a1’ 9 ‘@’ wefiet FIveTEl UehT IS T 3 fofel. (It 300 I165):

SECTION — A
(TawmT - @1)

i) Describe characteristics of wers=a and justify with reference to the 5™ and 6™
canto TART as aHgThIA.

HRTeRTTe &1 T T[T TT=ieT 10T TR STi=a ST T © HeTohisd shil TR
d T A

i) Critically appreciate VI Canto of T
TS TR Gl forel=reh TEugo ol

SECTION - B
(faramr - =)
Explain fully the 111" or 1V chapter of Bhagavadgita.

B/11/10/255
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S.Y.B.A. Examination, 2010
SANSKRIT (a&pda) (Special —I1) (Old Course) (2004 Pattern)
Rgveda til Sukte — Aitareya Brahmana (Ch. — 1) — Taittiriyopanisad
HEI-TAT I - dfrEafeg

Time: 3Hours Max. Marks: 80

N.B.: i) All questions are compulsory.
gd yoT SfAar,
I1) Figures to the right indicate full marks.
ITaiFwEIT 37 Qo T s,

1. Answer any ten of the following questions in about 20 words each : 20

JEIeTIsh! ShIUTCTET § o T Tciehl R 0 ITEaTd IR foel :
1) Explain the word Rgveda.

IS BT I16Q TTC .
2) What ismeant by ‘&w=ga: 43" ?
‘Hew: g’ N ®H ¢
3) Whoiscalled as ‘31 741q’ in the Rgveda.

ST 3T T T HITAT FEeed 3T 7
4) Stateany two peculiaritiesof the Vediclanguage.
feeh W= RivTdTel 3 dfeTees fora.

5) Explain the vedic word antkam.

1Ry BT Afeh g TS .

6) Write any two adjectives used for Indrain the Veda
FIASTA SHTCA Ie¥[H STt SivTdtel a1 forgryo fora.

7) Explainwith examplewhat isadual deity inthe veda.

JeTdlel grgcadl TeUS hid d HISTelul €5 .

P.T.O.
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8) What isaDiksaniya Isti ?
et sfee wevret s ?

9) What is aSamidheni R.C ?
TG S TR 1 7

10) What is the samsava Dosa.
THIRTY SHIVTAT ?

11) What is an Upanisad ?
IUTg TEUS T 7

12) Explainthe Daivi Samgna .
T TR F AL

13) Explainwhat isSiksa
TRredT TEUTSI T TS A

2. A) Trandate into English or Marathi any one of the following Mantras : 6
JEIcTeh! ShivTcaTe! Tohl HeATell AS! S120a $Usfia S1gae foret
1) a@@ﬂm@@mﬂéﬁf |
 Sftseafesd e fimen g 1|
2) i & = Miew ¥ g |
e SR 1|
B) GivethePadapaha of thefollowing Mantra: 4
afe 39t 7 7ol Hewd g W |
TERETE TR ||
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3. Write descriptive notes on any two of the following in about 150 words each : 20

YETTUsh! ShIVTITET QRIaR Thl QY4 0 ITeaTd JulTcHeh Ti=as foret :
1) TheDiety Asvinau.

HECEINCRI
2) TheRitual of Diksa

Srerforeht

3) Employment of different metres according to desiresin the Aitareya
Brahmana.

4) Critically study the Usas or Varuna hymn of the Rgveda. 15

AT 39 foha %01 FaraTel Ferfoheaeh 31894 1.
5) Explainfully the purport of Siksaor Anandavalli of theTaittiri yopani sad.
AR eTdier fret foham sTrearg e 7T T .

B/11/10/255
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S.Y.B.A. Examination, 2010
ECONOMICS
General Paper — ||
Banking and Public Finance
(Old Course) (2004 Pattern)

Time: 3Hours Max. Marks: 80

N.B.: 1) All questions are compulsory.
2) Figuresto the right indicate full marks.
3) Draw neat diagrams wherever necessary.

1. Answer the following questionsin 20 words each (any ten) : 20

1) DefineBank.
2) State the types of Bank Accounts.
3) Stage the two functions of State Co-operative Banks.
4) DefineLiquidity.

5) What is meant by ‘Monetary Policy’ ?
6) Givefull formof C.R.R.
7) What is public Finance ?

8) What isBank Rate ?

9) What is‘Balanced Budget’ ?

10) Define‘Direct Tax’.

11) What is* Overdraft Facility’ ?

12) What is‘External Debt’ ?

13) Statetwo argumentsfor Nationalisation of Banks.
P.T.O.
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2. Answer the following questions in 50 words each (any two) : 10
1) State the structure of co-operative Banks.
2) Explainthelimitationsof credit creation of commercial banks.
3) Statethe demeritsof ‘Direct Tax’.

4) Explain the sources of public debt.

3. Answer the following questions in 150 words each (any two) : 20
1) Explainthe Quantitative Weapons of Credit Control.

2) What is credit creation ? Explain the process of multiple credit creation of
commercial banks.

3) Explain the causes of growth of public expenditurein India

4) Explainthedifference between private finance and public finance.

4. Answer the following questions in 300 words each (any two) : 30
1) Explaintheevolution of modern bankinginIndia
2) Explainthefunctionsof Central Bank.
3) Explaintheprincipleof Maximum Social Advantage.
4) What istaxable capacity ? Explain the determinants of taxable capacity ?

TS TYTAT

o : 1) & Jv7 GSlavt I e
2) ITFiHSIT 37 QO T G,
3) TavIF 79 GaF ITHT FIe.
4) FewII3] 538 Fh1 THTAH] T

1. Erefie 9=l gt 20 Teerd 3w T (Fivd &) ¢ 20
1) sehef TR .

2) e WIS JehR |,
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3) T g skl S ST |,

4) TRed=t = .
5) SefeTeh el TEUrsl i 7
6) C.R.R. = qui &9 =1,

7) ‘A AT TEUS I 7

8) sfehat TN HF 7

9) THdIA ST TEURS! i 7

10) Ycder shUr=il STeT 0.

11) stfererd Taerd Tevrt 1 7
12) STel st TevlSl i 7
13) iRt s i teRtuTT=a TnefTel 3 e .

2. Erefiet 99 It 50 vreera 3w et (vt @) ¢ 10
1) TEehT STt TEAT |,
2) AT sfehT=a vt i eftartiel Tartar |,
3) YcIeT T Q1Y |,

4) TTEST(eh el SWTU= SId ST,
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3. @refiet 9=l gt 150 vreerd 3 foral (vt ) 20
1) T Y RIS ATeH T .
2) TATH FEUS! S ? SATIR] SohToaT g uTd Ui el el STk 6 3.
3) WRATdI ATt~ Tediel aTaIe R0 TIse .
4) @Sl J TSI Heh SATAIITAA Fleh I .

4. Erefiel gt gl 300 reerd 3w foreT (vt ) - 30
1) WRATIE ST sfeh AT Scehid] T .
2) HeAad! slohe 1 TISE AL,
3) Heaw AT fedTe aw TIse .

4) FIIR T TEURS R 7 AR UTAdT STUAUR H2eh TS .

B/11/10/1,350
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[3801] — 632

ECONOMICS (Special Paper — 1) (2004 Pattern)

(Macro Economics) (Old Course)
Time: 3Hours

N.B. : 1) All questions are compulsory.
i) Figures to the right indicate full marks.
iii) Draw neat diagram wherever necessary.

1. Answer the following questionsin 20 words each (any ten) :

I) Define Macro-economics.

i) Define Gross Domestic Product (GDP).
i) What isan Injection ?

Iv) State ‘Say’s Law of Market'.

v) What is meant by Effective Demand ?
vi) Definelnduced Investment.

vii) DefineMarginal Efficiency of Capital.
viii) What isAcceleration ?

IX) What is Near Money ?

X) State the Fisher’s Cash transaction equation.
xi) What is meant by Monetary Policy ?
xii) Define Trade Cycle.

xiii) What isDeflation ?

2. Answer the following questions in 50 words each (any two) :

1) Explain theimportance of Macro-Economics.

ii) State the functions of money.

Max. Marks: 80

20

10

P.T.O.
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i) Explain the characteristics of Trade Cycle.

Iv) The consumption function is C = 10 + 0.6 Y. Work out Consumption

Expenditure and Saving for theincomelevelsgiveninthetable.

Income (Y) 0 100 200 300 400
Consumption (C) Rs. 10 — 120 — 240
Savings(S) Rs. — 40 — 120 —

3. Answer the following questions in 150 words each (any two) :

I) Statethe determinants of Effective Demand.

i) Explain the phases of Trade Cycle.
i) State the causes of Inflation.

Iv) Completethefollowingtable :

Income (Y) Consumption Average Mar ginal
(Rs) Expenditure = Propensdty to Propensty to
' (C) Rs. Consume (APC) | Consume (MPC)
100 100 — —
200 180 — -
300 240 — -
400 280 - —
500 300 — —

4. Answer the following questions in 300 words each (any two) :

1) Explain nature and scope of Macro Economics.
i) Explainthedifficultiesin Measuring National Income.

i) Explain the causes of effects of deflation.
Iv) Explain the Cash Balance Approach.

20

30
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A3 FITAT

e
oy = AW — || (TwueE erefvre)
(ST AITEFHH)

T : 1) Gd o7 IEEE 3TE.
ii) I9FaieeiaT o7 FoTa IO T,
iii) STTavr® a9 gas STHT Fel.
V) Teuar3t ges st JeTIIAHT e,
1. Gt FeT= Feieht 20 Ieard Im foraT (hivrdel <@l)
i) TaTereft TSR e .
ii) T[T eI SeqTTei ST 2.

ii) 37780 TEvS! T 7
iv) @ = aeIR ferseres fem fora.,
V) TR Aol TEvret e 7
vi) ST TaafeRel ST .
vii) “TreaaT=h femTa ArveTar A1 Hehed-t ST .
Vi) JaTT R e v % 7
IX) Sae STt —UHT TEUS i 7
X) Toher == fafma wftrsron forer.
Xi) Hifseh GR0T TEUSt A 7
Xii) SATITCEshT=i ST =1,
Xiii) = oI RS Y 7
2. Qe T Tereht 50 Teaid 3 fofeT (vt 3M)
i) THItEdt ST Hewd TS .
i) fremreh v foraT.
i) SATIRErgRTER Sf¥TSes) T .
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iv) C=10+ 0.6 Y 2 3uIThe fioial 3R ®Tae Sca=IT=aT fafaer UTdesari=T Seeiat
YA G I ST ThHT T el
S (Y) = 0 100 | 200 | 300 | 400
Iuvim (C) 5. 10 - 120 — 240
97 (S) ®. - 40 - 120 -
3. @refiet g 150 reera 3w fofet (hivrde! aM) ¢ 20

i) aformeRRes TrTuft ST e forer.
i) SATISHTTIT HATLT TIE .

iii) SeaTEE ot foraT.

V) @Tetiet et quf R

IO (Y) | SwmEd | gued 3uWi | i s
3 (C) =. g4t (APC) | wamt (MPC)
100 100 - -
200 180 - -
300 240 - —
400 280 — _
500 300 - -

4, @reftet geaTel Jedsht 300 eerd IR fetat (hivrae! aF) ¢ 30

i) TEIEE ST WEd ST AT TR .
ii) TS Iea~T AT ST $ .
DIESEEEEIERUE RN R
iv) TrafETecteh gfedahi Tee &,

B/11/10/1215
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S.Y.B.A. Examination, 2010
POLITICAL SCIENCE (General —11)
(2004 Pattern)

1) Political Ideologies (Old Course)

Time: 3Hours Max. Marks: 80

N.B.: i) All questions are compulsory.
i) Figures to the right indicate full marks.
1. Answer any ten questions (in 20 words each) : 20
1) Statethedefinition of Nationalism.
2) Writeany two demerits of Reactionary Nationalism.
3) State the forms of democracy.
4) State the basic approach of Anarchist.
5) Givethe meaning of socialism.
6) State the any two types of socialism.
7) Givethedefinition of Fascism.
8) Mention any two causes for the emergence of Nazism.
9) State the names of two Anarchist Thinkers.
10) Who wrote the book ‘ Communist Manifesto’ ?
11) Givethename of Gandhiji’speriodical.
12) Statethe meaning of Ahimsa.

13) State the meaning of ‘Haves and ‘Haves not’ classes.
P.T.O.
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2. Answer any two questions (in 50 words each) :
1) Concept of ‘“World Government’.
2) Karl Marxstheory of ‘SurplusValue'.
3) Concept of ‘Fascist’s Corporate State'.
4) Concept of ‘Gandhiji’s Trusteeship’.
3. Answer any two questions (in 150 words each) :
1) Describethe meritsand demerits of Nationalism.
2) State the causes for the emergence of Nazism.
3) Explain Kropotkin’sViewson State.
4) Discuss the Gandhi’s concept of non-violence.
4. Answer any two questions (in 300 words each) :
1) Evauate democratic socialism.
2) ExaminetheKarl Marx’ stheory of classstruggle.
3) Explainthefeaturesof Anarchism.
4) Explainthe meaning and techniques of Satyagraha.

T3 ®UTA

e ;i) §d Fo SEvIE 36
ii) ITaieeicT a7 JeATd QO 0T GIiaard.

1. HIUTITE! S T T I Teeh! 20 Yrserd fore :

1) TrsgaTET= ST .

2) SferT} TseaTe HIvIaE! S & fotet.

10

20

30

20



N O 3 [3801] — 633

3) IS THR G,

4) IIATE! AT TG e ehIvT I,

5) wyTstaTerE 31 =
6) THSIATET HIVTd SIF TR HTT.
7) HREHaTRT STe .
8) AT Te=a 3eATH HIvIclet S Rl TG .
9) TH SISIATE! Tt 7Ta |,
10) ‘FRyfse W% 31 AT TREeh v AT 7
11) . mefist=n fadeicieT 91a 1.
12) stfeern s1ef @
13) ‘IR T AR aten a1 @
2. FIVCTE! IH TeT= S Teeht 50 IeaTa fotat : 10
1) forvarrsar= deredT.
2) et —wrerdn “erfafier g frgra
3) wiEaH Tl Hges ieteh Ut Hehe T,
4) it forveea oo
3. FIVTE! T T IW Tkl 150 vreard fofe 20
1) TTSgaTaT=AT U aIT= FUM .

2) ATEfiaTeT=a ISt o A,

N o

3) TS SEf ShIUTCh=T g5l hivl T H.

4) 7. mefisfe 1fEen Geheu=h ==t .
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4. HIUITR! T YU IR TAh! 300 reerd foiet

1) ATRSITR! GHTSTETETE HedHTaH .

2) =hIct -TTeRE=AT o e g aieror .

3) AT Af¥Tees) Tose .

4) TR AY G TR T (A1) T 3.

30
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S.Y.B.A. Examination, 2010

POLITICAL SCIENCE (General —11)
Optional (Old Course)
2) Government and Politicsof U.K. and U.SA.
(2004 Pattern)

Time: 3Hours Max. Marks: 80
N.B.: i) All questions are compulsory.
i) Figures to the right indicate full marks.
1. Answer any ten questions (in 20 words each) : 20

1) What is meant by ‘ Senatorial Courtesy’ ?
2) What is‘Limited Monarchy’ ?
3) Explain the principle of separation of powers.
4) What ismeant by Money Bill ?
5) What isthe meaning of Common Law ?
6) Explain the concept of ‘Pocket Veto'.
7) What is meant by ‘Partp Whip' ?
8) Explain the concept of ‘Rule of Law’.

9) Givethedefinition of Rigid Constitution.
10) Statethe names of any two Parliamentary Committeesin U.K.

11) Mention the number of the members in the ‘Senate’ and ‘House of
Representatives .

12) WhatisFilibustering ?
13) State any two merits of Parliamentary system.
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2. Answer any two questions (in 50 words each) : 10
1) Law making processin U.K.
2) Committee systemin U.S.A.
3) Privileges of the members of House of Commonsin U .K.

4) Functions of House of Representatives.
3. Answer any two questions (in 150 words each) : 20
1) Explainthefunctionsof CabinetinU.K.
2) Describethefeatures of American Federalism.
3) Explainthe nature and importance of Judicial Review in U.S.A.

4) Describe the composition, powers and functions of House of Lords in the
Constitution of U.K.

4. Answer any two questions (in 300 words each) : 30
1) Discuss the powers and position of the President of U.S.A.
2) Tracethe origin and development of the Constitution of U.K.
3) Explaintheroleand powersof Judiciary in U.K.
4) Describethefeatures of political partiesin U.S.A.

A3 T
(ST A=ATEST)
T : 1) I FT SIEE TR,
ii) I9aiweicT s Qof 7T F¥Tiaara.
1. SRIVCITET 8T = 3T Teeht 20 TreaTd foTa 20

1) “foe fa gt I 319 & ?

2) wifed TiRTTR! WU i 7




NN O O VTR -7-
3) T v a T .

4) 1ef forsren e wevret e ?

5) | FHRIET FEUIS! 1 7

6) THRITEIHR & HehedHT TIE H.
7) 9&-9dIg TEUrS! i 7
8) ‘FRIUT ARSI & HehodHT TUSE .
9) ufige Tsrere-=i =ame .
10) ‘Sreie nefid HIVCATE S GHE Afteateh e .
11) feme srfor wfeeht Tz r=h v wwe T9g .
12) ‘feflereefon weurl i 7
13) THd TS oI & & 70T |
2. VTR I T I Fedehl 50 IeaTd fofet
1) Frentiet et i afw.
2) stk aftrdt wgd.
3) ScieHET AT AyIET=A] GeE fIefehR.
4) wfafeh aumrer [,

3. VTR §F T3 W Tt 150 vreerd fotat
1) T ot Hete F TS .

2) TR gerrsaT Afseest 9o .

3) TR —AITeRA YA IohTe! Ty 101 Hewe T .

4) FASHT TSI ST THNET TIH, JTIHR J SR I JUH .
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4. FHITTET G I I Yt 300 yreard fotat : 30
1) e Useget TR AT T It == .

2) TAST USTEeH 38 STUT sk STTeTe =T,
3) TSN AT - SfenT ST ST T2 A
4) ofiehdiel TsTehiT ver=ht SfeTsest 9uid .

B/11/10/1,130
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S.Y.B.A. Examination, 2010
HISTORY
(Special Paper —11) (Old Pattern) (2004 Pattern)
(Introduction to History)

Time: 3 Hours Max. Marks : 80

N.B.: 1) All questions are compulsory.
2) Figuresto the right indicate full marks.

1. Answer the following questions in 20 words each (any ten) : 20

1) Who was the Father of History ?
2) State the definition of History by E. H. Carr.
3) Write the meaning of ‘Heuristic'.
4) What is meant by ‘Bakhar’ ?
5) What is meant by ‘Archives ?
6) Which documents are there in the Poona Government Archives ?
7) Who wrote the book ‘Past and Present’ ?
8) What is Internal Criticism ?
9) Who wrote the book on History of South India ?

10) Write any two names of book written by Sir Jadunath Sarkar.

11) Write any two names of the books written by Romila Thapar.

12) State the names of three method by V. K. Rgwade for History writting.

13) Who wrote the book ‘New History of the Marathas' in English ?

P.T.O.
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2. Answer the following question in 50 words each (any two) : 10
1) Discuss the nature of History.
2) What is External Criticism ?
3) Write a short note on Bharat Itihas Sanshodhan Mandal, Pune.

4) Write a brief account of Numismatics.

3. Answer the following question in 150 words each (any two) : 20
1) Explain the relation between History and Politics.
2) Discuss the schools of Nationalist Historiography.
3) Evaluate the achievement of Jadunath sarkar to the Maratha Historiography.

4) Discuss the contribution of G. S. Sardsai as a Maharashtrain Historian.

4. Answer the following question in 300 words each (any two) : 30
1) Discuss in detail about Historical Sources.
2) Discuss in detail about the documents are available in ‘Bombay Archives'.
3) Explain the contribution of ‘Arnold Toyanbee' as a world historian.

4) Examine the contribution of ‘Nilkhanth Shastri’ as a historian of South
India
BT FUT
(F1 aITEHy)
T ¢) TF T HTEAEF T,
?) ITimEIT 7% qUf o7 ST,

% . Wletlel T3T= 3T IAehl R0 Ireard I foTal. 20

o
¢) SIAETETIT ST-eh ShIVTAT A SITd ¢
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R) 3. TH. FR A heled! SiaaTamt saret g,

3) ‘@R e’ (Heuristic) =m 14 ferer.

¥) e TS i 7
b)) ‘IANAERTR’ TUS 1 7
&) U1 ITHhRT STIICRERTRIA ShIUTet ST SATed ¢

) W 3fE e (past and present) T Ik Sivit fordiet.

¢) ST eI TS HRT 7

R) efeqor = 3faRTEmar vl et fordia ?

%.0) TR SGATY LR AT S U 1a F.

92) TTHSAT ATR AT=AT HIVTET G TATH el Tl

9R) Ta. =1, TETe I e rEAT=a o gt |

%23) New History of the Marathas &1 19 gusfime ivft farfea.

2. Grefiet eAT=i 3 Ydeht 50 reard fotat (hivrae aM)

%) 3R ST == .

R) SfeT uiefur U T 7

3) feu foren vt siaeme wemeH Hes, .
¥) SITOISTRET sTeret TgarITd Al forat.
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3. Wil T 3W Tedshl 150 vrserd fofaT (hivdet 8F) ¢ 20

%) gfcrara TIOT TSI ATt ier Hayel TS ol

R) TrseaTel SfaeTE JE IR YaTeT= <= .

3) TSI SIRTE TG SIGHTY TehR ATHT SISTacicd] ShIF R e HedHToH .

¥) TR Sfaemehr Teu Sft. T, 9iedTs A< ARSI <= .

¥. Wl T3 3 Ikt 300 Tsard fTeT (hividet €M) 30
8) Wi Gef wrerre wfera ==t .

R) HoTE AN ShrTeuaT=ht T == &

~

3) STk SiaeTaehR TRV 3TIeS Zigwai o1 i TS TS 3.

¥) STeFuT AT SIIRTEeRR TV ‘ic5oha Tl A=A SieTE ieTel TieioT .
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S.Y.B.A. Examination, 2010
HISTORY
(Special Paper —11) (Old Pattern) (2004 Pattern)
History of U. S. A. (1860 — 1975)

Time : 3 Hours Max. Marks : 80

N.B.: 1) All questions are compulsory.
I1) Figures to the right indicate full marks.

1. Answer the following questions in 20 words each (any ten) : 20

1) Write any two causes of Civil War.
2) Write any two problems related with the reconstruction of South.
3) What is big stick policy ?
4) What is Ku-Klux Klan ?
5) What is Social Darwinism ?
6) Write any two points of the ‘Open-Door Policy’ of America.
7) Write any two consequences of Spanish — American War.
8) What is the immediate cause of Great Depression ?
9) What is meant by ‘New Deal Policy’ ?

10) What is Dollar Diplomacy ?

11) Write any two provisions of Civil Rights Bill in 1964.

12) What is NASA ?

13) What is SEATO ?
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2. Answer the following questions in 50 words each (any two) :
1) Write the consequences of the American Civil War.
2) Writea noteon : ‘New Deal’.
3) State the causes of Spanish-American War.

4) Write any four causes of Cold War.

3. Answer the following questions in 150 words each (any two) :
1) Write in detail about fourteen points of Woodrow Wilson.
2) State the reforms of Theodore Roosevelt.
3) Explain the role of Americain World War I1.

4) Write in detail on the movement for Women Rights.

4. Answer the following questions in 300 words each (any two) :
1) Assess the role of Abraham Lincoln as a Wartime President.

2) Write an essay on ‘Labour Movement’ in America.

3) Examine the contribution of America in the formation of UNO.

4) Write the causes and consequences of Cold War.

AU TR
(ST 1aTHshH)

g i) T Fo HTEEE .
ii ) ITaiemeicr 379 Fer QU JOT ST,

1. Grefiet T Jeshl R0 Teerd 3w foreT (et €&r).
1) et g SoTfadt g ot forer.
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2) arieaureht g o Haet i Sciea SivTeTel §F SHE ot
3) * WIS ST IROT H B 7

4) ‘-FIIE FA FHRAT FEUITd 7

5) * AT STfdaTg’ et & 7

6) * STHTCH=AT R TR Fhivde! aF T, forer.
7) T - 3T g TRl g o ferar.

8) "ema dTcehTicteh VT ShIVId BId 7

9) ‘ Y-Tea AT TS w7

10) * seafirfsea fdfl’ wevt v/ ?

11) $R&Y =ATATRI T [TUFaRIATA VTR G aLa foTal.
12) * AT FE AR 7

13) ‘ diwel’ [ IR 7

2. WAl I 3 50 Teerd fofe (hivrde! aF)
1) TR Fedt ggr= aftomm forer.

2) feu feren - ‘= fea.
3) TH-3THIE JST=t Hrol T
4) 3fagaT FIvdrEl =T’ RO Tl
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3. @reflet J= 3w 150 reerd foret (Shivrde! aM) ¢ 20

1) g foreamr= <aT aaafaert afaer forer.
2) TURTER THcce=HT GO |

3) STHTH gE=AT ARG Y HehT TI5 .
4) G-z gesad e afewr forer.

4. @reftet gear=h 3w 300 vreerd fotat (Shivrde 3) 30
1) FEHISBIATA UTEAE FEV STTEH TeTeh oA fHohe oaHTH .

2) mfEhdicl R Seadiar ey forer.

3) TYed Tegqd AT FHOAHE SR o= ShMARY o TiEToT .
4) Siagre o 3 giomm forer.
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S.Y.B.A. Examination, 2010
GEOGRAPHY (2004 Pattern)

(Special — 1)
Gg — 220 : Agricultural Geography
(Old)
Time : 3 Hours Max. Marks : 80

N.B.: i) All questions are compulsory.
i) Figuresto the right indicate full marks.
i) Draw neat diagrams wherever necessary.
Iv) Use of map stencils is allowed.

1. Answer in about 20 words each (any ten) : 20
1) Give any two approaches to the study of agriculture geography.
2) State two socia determinants of agriculture.

3) Give any two types of soil.
4) Give two methods of irrigation.
5) State two characteristics of plantation agriculture.
6) State two methods of agricultural regionalisation.
7) Define Bio-technology.
8) Give any two allied occupation of agriculture.
9) What isfruit processing ?
10) State any two problems in marketing of perishable agro-product.
11) State two advantages of Bio-pesticides.
12) State two economic problems of Indian agriculture.
13) Give the full form of SAARC.

P.T.O.
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2. Answer in 50 words each (any two) : 10
1) Nature of Agricultural Geography.
2) Need of Irrigation.
3) Tissue culture.

4) Sheep and Goat rearing.

3. Answer in 150 words each (any two) : 20
1) Explain the significance of agriculture in Indian economy.
2) Describe the elements of soil formation.
3) Describe the Indian agro-climatic region.

4) Critically examine Von-Thunen theory.

4. Answer in 300 words each (any two): 30

1) Mention the determinants of agriculture and give an account of physical and
economic determinants.

2) Explain the causes of soil degradation and describe the remedies of soil
conservations.

3) Write the geographical essay on ‘Green Revolution in India.”

4) Describe the problems of Indian agriculture.
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GEOGRAPHY (2004 Pattern)

(Special — 1)
Gg — 220 : Settlement Geography
(Old)
Time : 3 Hours Max. Marks : 80
N.B.: i) All questions are compulsory.

i) Figuresto the right indicate full marks.
1) Use of map stencils is allowed.
iv) Draw neat diagrams wherever necessary.

1. Answer in about 20 words each (any ten) : 20

1)
2)
3)
4)
5)
6)
7)
8)
9)
10)
11)
12)
13)

What is settlement geography ?

State the two functions of rural settlement.

Write any two cultural factors influencing rural settlement.
Write any two advantages of compact settlement.

What is twin settlement ?

Name the building materials used for rural houses.

What is rural-urban fringe ?

Define Million Mark cities.

Write two objections on the ‘sector model’ of Homer Hoyet.
Write any two names of administrative towns in India.
Write any two criticisms on the concentric zone theory.
State the name of the river on which Kolkatta situated.

State the important characteristics of Banglore city.
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2. Answer in 50 words each (any two) : 10
1) Scope of settlement Geography.
i1) Disadvantages of dispersed settlement.
iii) Problems of urbanization in India.
iv) Characteristics of Central Business District.

3. Answer in 150 words each (any two) : 20
1) Explain the pattern of rural settlement.
i) Explain the nature of rural settlement Geography.
lii) Write on urbanization during-post industrial period.
iv) Describe functional classification of town by Nelson and Harries.

4. Answer in 300 words each (any two): 30
1) Describe house typesin India
i) Explain the toponomy of Indian rural settlement.
Iii) Write Geographical essay on evolution of urban settlement.

Iv) Explain the location structure, development function and importance of
Mumbai.
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SY.B.A. Examination, 2010
PSYCHOLOGY (Old Course)
(Special Paper — 1) (2004 Pattern)
Developmental Psychology

Time: 3Hours Max. Marks: 80

N.B. : 1) All questions are compulsory.
2) Figuresto right indicate full marks.

1. Answer any 10 questions in 20 words each : 20
1) Define systematic observation method.
2) Statethe period of prenatal development.
3) What ismeant by identical twins?
4) What islateralisation ?
5) Definepuberty.
6) State the aspects of gender role.
7) What is prematurity in adolescence ?
8) Nameany two traitsof highly creative adult.
9) What is gene theory of aging ?
10) What isretirement ?
11) Statethe sensory abilitiesthat declinein |ate adulthood.
12) What isAlzhemier’ sdisease ?

13) Define prospective memory.

P.T.O.
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2. Answer any two questions in 50 words each : 10
1) What are the characteristics of human development ?
2) Write anote on the‘ genetic inheritance in human devel opment’.
3) Explainthe perceptual development of aninfant.
4) Explainthetheory of John Hill in adolescence.

3. Answer in 150 words (any 2) : 20
1) Explainthedesignsfor studying development.
2) Describe the physical and motor development of early childhood.
3) Describe marriage and family relationsin middle adulthood.

4) Discushow death of aspouse and retirement make changesin family relationship
of elderly.

4. Answer any two questions in 300 words each : 30
1) Discussvariousfactorsinfluencing Psychological development of an infant.
2) Describethe physical development in adolescence.

3) Explainthe cognitive development in early adulthood.

4) What islife cycle ? Explain three phasesin male personal development.
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SY.B.A. Examination, 2010
PSYCHOLOGY
(Special Paper —1) (2004 Pattern)
Educational Psychology (Old)

Time: 3Hours Max. Marks: 80

N.B. : 1) All questions are compulsory.
i) Figures to the right indicate full marks.

1. Answer any ten questions in 20 words each : 20
1) Enlist theaimsof educational psychology.
2) Enlist thecriteriaof teacher effectiveness.
3) What isforgetting ?
4) What isover learning ?
5) What is meant by slow learners ?
6) Definefrustration.
7) Distinguish between anxiety and fear.
8) State any two uses of Chalkboard.
9) Enlist the purpose of chart.
10) Enlist the purpose the introduction to the lecture.
11) Giveany two objectivesof individual instruction.
12) Defineevaluation.

13) State any two types of teacher made test.
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2. Answer any two questions in 50 words each : 10
1) State the scope of educational psychology.
2) State the concept of rote memory.
3) Explain how alecture should be introduced.
4) Write anote on grading system of evaluation.

3. Answer any two questions in 150 words each : 20
1) Explainthenature of educational psychology.
2) Distinguish between rote memory and logical memory.
3) Explain the computer assisted instruction methods.
4) Describein brief the kind of mental disorder.

4. Answer any two questions in 300 words each : 30
1) Why isthestudy of educational psychology necessary for theteacher ? Discuss.
2) Discussthe five characteristics of effective teacher given by A. W. Combs.

3) Explaintherelativeimportance of heredity and environment on the devel opment
of intelligencein children.

4) State the concept of personal adjustment. Describe the characteristics of a
well adjusted person.
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SY.B.A. Examination, 2010
PSYCHOLOGY
(Special Paper —1) (2004 Pattern)
Psychological Assessment and Counselling
(Old Syllabus)

Time: 3Hours Max. Marks: 80

N.B. : 1) All questions are compulsory.
2) Figuresto the right indicate full marks.

1. Answer any ten questionsin 20 words each : 20
1) Definepersonality.
2) What isInterview ?
3) DefinePsychological test.
4) Givethefull form of 1.Q.
5) Definelnterest.
6) DefineProjective.
7) What iscounseling ?
8) What is Guidance ?
9) Name any two stages of counseling process.
10) Name any two stages of psychosexual development.
11) Define Empathy.
12) Define School Counsaling.
13) Givethedefinition of Career Counseling.
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2. Answer any two questions in 50 words each : 10
1) Discussthetypes of Interview.
2) Describe the types of scale.
3) Explainthedifference between guidance and counseling.

4) Discuss the yoga and meditation.

3. Answer any two of the following questions in 150 words each : 20

1) Define psychological assessment. Explain the types of Psychological
assessment.

2) Describe the various types of projective techniques.
3) Explainthegoalsof counseling.

4) Define counseling relationship. Explain the factors involved in counseling
relationship.

4. Answer any two of the following questions in 300 words each 30
1) Describe the characteristics of psychological test.
2) Discussindetailed Differential Aptitude Test.
3) Explain the psychoanalysis approach used in counseling.

4) Describeindetailed child counseling and family counseling.
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S.Y.B.A. Examination, 2010
PSYCHOLOGY (Old Syllabus)
Special Paper — 11 (2004 Pattern)

Abnormal Psychology

Time: 3 Hours Max. Marks : 80

N.B.: 1) All questions are compulsory.
[1) Figures to the right indicate full marks.

1. Answer any ten of the following in about 20 words each : 20

1) What is heredity ?

2) State the function of dopamine.

3) Define anxiety.

4) Who is father of American Psychiatry ?

5) Define psychology test.

6) What is panic anxiety ?

7) Define dissociative disorder.

8) What is Antisocial disorder ?

9) Enlist the types of headache.
10) Who is the proponent of term Schizophrenia ?
11) Define Histronic.
12) What is double depression ?

13) Explain the term emotiona expression.

P.T.O.
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2. Answer any two of the following in about 50 words each. 10
1) Discussthe role of dominant genes and recessive genes in psychopathol ogy.
2) State the types of suicide.
3) State the objectives of clinical assessment.

4) State the characteristics of Cancer Prone Personality.

3. Answer any two of the following in about 150 words each : 20
1) Describe the types of cardiovascular disorder.
2) Describe the types of symptoms of Bipolar disorder.
3) Discuss the Ink-blot test and T. A. T. technique.

4) Discuss the socio-cultural and interpersonal factors in psychopathology.

4. Answer any two of the following in about 300 words each : 30

1) Define abnormal psychology. List out the clinical types of abnormality as
per DSM-1V classification system.

2) What is Schizophrenia ? Discuss the various phases and symptoms of
Schizophrenia.

3) What is personality disorder ? Describe the different types of dramatic,
emotional and erratic personality disorder.

4) Define phobia. Discuss with illustration different types of phobia.
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S.Y.B.A. Examination, 2010
PSYCHOLOGY
(Special Paper —11) (2004 Pattern)
Psychology of Adjustment (Old Syllabus)

Time : 3 Hours Max. Marks : 80

N.B.: 1) All questions are compulsory.
2) Figuresto the right indicate full marks.

1. Answer any ten of the following in about 20 words each : 20

1) Define adjustment.
2) Define happiness.
3) What is meant by developmental variation ?
4) Enlist the reasons for having children.
5) Define stress.
6) Define frustration.
7) Defineconflicts.
8) What is meant by social support ?
9) Definecoping.

10) State the causes of divorce.

11) Enlist the sources of job stress.

12) Define poor nutrition.

13) Define personality.
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2. Answer any two of the following in about 50 words each : 10
1) Explain the psychosexua stages.
2) State the love and acceptance.
3) Explain the job-stress.

4) Explain the criteria of abnormal behaviour.

3. Answer any two of the following in about 150 words each : 20
1) Describe the roots of happiness.
2) State the ‘normal’ view of healthy development.
3) Explain the types of conflicts.

4) Describe the factors involved in the process of choosing a career.

4. Answer any two of the following in about 300 words each : 30

1) Explain the concept of coping. Describe the common coping pattern of
limited value.

2) Discuss the factors in good marital adjustment.
3) Describein brief the reactions to illness.

4) Explainin brief the various anxiety disordes.
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S.Y.B.A. Examination, 2010
PSYCHOLOGY
Special Paper — |1 : (2004 Pattern)
Per sonality Development (Old)

Time : 3 Hours Max. Marks : 80

N.B.: 1) All questions are compulsory.
i) Figures to the right indicate full marks.

1. Answer any ten of the following in about 20 words each : 20
1) Enlist the skills of personality development.
2) Define personality.

3) Define habits.

4) What istraits ?

5) What is conversational skill ?
6) Define health.

7) What is stress ?

8) Who isinvented FIRO-B ?
9) What is study ?

10) What is projective technique.
11) What is Bargaining ?

12) Enlist the learning skills.

13) Define conflict.
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2. Answer any two of the following in about 50 words each. 10
1) Explain the nature of personality.

2) Explain the presentation skills.
3) Explainthetest T. A. T.

4) State the interview skills.

3. Answer any two of the following in about 150 words each : 20
[) Write a note on SWOT — analysis.
I1) Explain in short : Transactional Analysis.
[11) Write the importance of EPQ-R in Personality, Assessment.

V) State the importance of EU-stress.

4. Answer any two of the following in about 300 words each : 30
1) Discuss in detail Johari window.
2) Explain the types of interpersonal relationship.
3) Discuss in detail personality assessment through projective techniques.

4) Explain the basic skills of reading and writing.
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S.Y.B.A. Examination, 2010
GANDHIAN THOUGHT : (General —11)
(Socio-Political and Religious Thought)
(2004 Pattern) (Old Course)

Time: 3 Hours Max. Marks : 80

Instructions: i) All questions are compulsory.
i) Figuresto the right indicate full marks.

1. Answer any ten of the following questions in 1/2 sentences : (20 words) : 20

1) What is Satygraha ?
2) Define the term civilization.
3) What is Ram Rajya ?
4) What is meant by social change ?
5) Give any one definition of Religion.
6) State any two constitutional rights of citizen.
7) In what sense Gandhiji used the term Incarnation ?
8) State Gandhiji’s idea of village industry.
9) Define the term Alienation of man.

10) Give the meaning of term faith.

11) What is meant by secular state ?

12) Define the term freedom.

13) Define untouchability.

2. Answer any two of the following questions in 5/6 sentences. (50 words) : 10
1) Explain, what is social reconstruction ?
2) Differentiate the terms ‘ Self Freedom and Nation Freedom’.
3) State in brief the problem of unemployment.
4) Explain Gandhiji’s idea of worship.

3. Answer any two of the following questions in 25/30 sentences. (200 words) : 20

1) Explain Gandhiji’s concept of democracy with special reference of stateless
society.

2) How to eradicate the war with the help of Gandhian way of life ? Discuss.
P.T.O.
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3) Explainfully Gandhian attitude towardsreligious harmony.
4) Explain, Gandhiji’s views on decentralization in social planning.

4. Answer any two of the following questions in 60/70 sentences. (500 words) : 30

1) Explain fully about Rights and duties of citizen which has been given by
constitution of India

2) Explain and evaluate Gandhiji’s views on social change and social
reconstruction.

3) Explainin brief Gandhian views on some socia problems:
1) Overpopulation and poverty.
i) Exploitation of workers.
i) Pollution and ecological balance.

4) Explain fully, what isrole of religion in social life ?

AU AT
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S.Y.B.A. Examination, 2010
DEFENCE AND STRATEGIC STUDIES
(A) Geo-Strategy and Military Geography
(2004 Pattern) (Old Course) (General —11)

Time : 3 Hours Max. Marks : 80
N.B. : 1) All questions are compulsory.
2) Figuresto the right indicate full marks.
1. Answer in 20 words each (any ten) : 20
1) State any two uses of geo-strategy.
2) Define military geography.
3) State any two names of geo-strategic minerals.
4) Define strategy.
5) Whereis Diego-Garcialocated ?
6) Write the long form of O.P.E.C.
7) What islogistics ?
8) Write any two geographical factors affecting on land warfare.
9) Give the names of principles of logistics.
10) According to Jomini, what is strategy ?
11) What is Geo-strategy ?
12) Which animal can be used in Desert ?

13) What is Tactics ?

P.T.O.
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2. Answer in 50 words each (any two) : 10
a) State the scope of military geography.
b) Explain the concept of geo-strategy.
c) What are the logistic problemsin high altitude area.

d) Write a note on ‘Afghanistan’.

3. Answer in 150 words each (any two) : 20
1) What are the principles of logistics ?
2) Describe the characteristics and logistics problem in jungle area.
3) What do you mean by the term ‘ Geo-strategy’ ? Explain its importance.

4) Explain in brief the importance of natural gas.

4. Answer in 300 words each (any two) : 30
1) Explain the meaning, principles and importance of military geography.
2) State the impact of geography on Air warfare.
3) Explain in detail the concept of grand strategy.

4) Explainin detail the Geo-strategic position and importance of Jammu and
Kashmir.

AT ®ATAR
g1 - ¢) Gd 7 GISlA0 AT T8,
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S.Y.B.A. Examination, 2010
DEFENCE AND STRATEGIC STUDIES
(B) Geopolitics (Old Course) (General —11)

(2004 Pattern)

Time : 3 Hours Max. Marks : 80

N.B.: 1) All questions are compulsory.
2) Figures to the right indicate full marks.
1. Answer in 20 words each (any ten) : 20
1) To which nation did Prof. S. B. Jones belong ?
2) Define a Nation.
3) State the definition of Frontier.
4) State any two names of land-locked states.
5) What is the limitation of territorial water ?
6) What do you mean by Geopolitics ?
7) State any two types of genetic boundaries.
8) State any two stable factors of political boundaries.
9) What is buffer state ?
10) Who introduced the Heartland theory ?
11) To which nation did Rudolf Kjellen belong ?
12) Write long form of E.E.Z.

13) State any two types of natural boundaries.
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2. Answer in 50 words each (any two) : 10
1) Explain the concept of Exclusive Economic Zone.
2) State the methods of calculating maritime boundaries.
3) State the nature of Geopoalitics.

4) State the concept of Buffer State.

3. Answer in 150 words each (any two) : 20
1) State the functions of territorial water.
2) State the Unified Field Theory.
3) Describe the development of Geopolitics in Germany.

4) Explain the basic elements of Nation.

4. Answer in 300 words each (any two) : 30
1) Describe in detail the theory of sea power.
2) State the nature and scope of political geography.
3) Explain the problems and solution Buffer State.

4) Describe the Geographical factors affecting war.
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S.Y.B.A. Examination, 2010
DEFENCE AND STRATEGIC STUDIES
(C) Military Sociology and Psychology
(Old Course) (General —11)

Time : 3 Hours Max. Marks : 80

N.B. : 1) All questions are compulsory.
2) Figuresto the right indicate full marks.

1. Answer in 20 words each (any ten) : 20

1) What is Intelligence Test ?
2) State the meaning of Propaganda.
3) Define social organisation.
4) Give any two socia changes brought by the army.
5) State any two social aspect of defeat.
6) Give any two effect of rumour on the war.
7) Write any two post war social problems.
8) What is brain washing ?
9) Write the types of leadership.

10) What is motivation ?

11) Define Human Right.

12) What is National Integration ?

13) State any two demerits of war.
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2. Answer in 50 words each (any 2) : 10
1) Why isthe discipline essentia in military organisation ?
2) State the functions of military leader.

3) Explain the characteristics of Armed Forces.

4) State the significance of morale in Defence.

3. Answer in 150 words each (any two) : 20
1) Explainin detail the mental health problems of the soldier in war.
2) State the impact of rumour on society.
3) Explain effects of war on the society.

4) Discuss the motivation and training.

4. Answer in 300 words each (any two) : 30
1) Evauate the relationship between human right and armed forces,
2) Discuss the dimension of human behaviour.
3) Describe the social causes of war.

4) Examine the importance of discipline, moral and hierarchy in the military
organisation.
(BT YT
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S.Y.B.A. Examination, 2010
(2004 Pattern)
MATHEMATICAL STATISTICS
General —11
(Old Course)

Time: 3 Hours Max. Marks: 80

N.B.: i) All questions are compulsory.
i) Figuresto the right indicate full marks.
Iii) Use of calculator and statistical table is allowed.
Iv) Symbols and abbreviations have their usual meaning.
v) Graph papers will be supplied on request.

1. Attempt any ten from thefollowing : (10x2=20)

a) Define cumulative distribution function (c.d.f.) of adiscrete random variable

(r.v.).

b) State any two properties of moment generating function.

c) If X and Y are independent Poisson random variables with mean 1 and 2
respectively, find P(Y =2X +Y =3).

d) Stateanytwo real life situations of geometric distribution.

e) Stateprobability massfunction of Negative Binomial distribution.

f) State any two properties of partial correlation coefficient.

g) Giveany two differences between seasonal variationsand cyclical variations.

h) Define the term coefficient of determination in multiple correlation analysis.
Also state its use.

I) Statethecentral limit theorem.

]) State any two uses of cost of living index numbers.

k) Write down the relationship between geometric distribution and Negative
Binomia distribution.

P.T.O.
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) LetX bearv.with M.GF. Mx(t)=%,find mean of X.

m) Explain why the geometric distribution iscalled asawaiting timedistribution.
State its p.m.f.

2. Attempt any two from the following : (2x5=10)

a) If (X,Y) hasajoint p.m.f. asgiven below :

e pq”

O<p<lg=1-p

Then find marginal distribution of X and Y. Check whether X and Y are
independent.

b) Let X ~ Poisson (A). Find cumulant generating function (C.G.F.) of random
variable X, hencefind E(X) and V (X).

c) If the probability that a certain test yields a positive reaction is equal to 0.2.
What is the probability that less than 3 negative reactions occur before the
first positive one ?

d) Monthly wagesof aworker inindustry along with cost of living index numbers
aregiven asbelow :

Y ear 2001 | 2002 A 2003 | 2004 | 2005 @ 2006 | 2007 | 2008

Monthly wages| 1500 | 1800 | 2100 | 3200 | 3300 3300 | 3400 | 3700

Cog of living

: 100 90 140 | 260 | 270 @280 290 380
index number

Obtain real wages and index of real wages. Comment on it.
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3. Attempt any two from the following : (2x10=20)

a) State and prove a necessary and sufficient condition for coincidence of three
regression planes.

b) i) Describethelarge sampletest for testingH,: P, =P, againstH, : P; = Py,
where P; and P, are the population proportions.

ii) If thejoint p.m.f. of (X,Y)Iis:
9
p(Xx,y) =F; x=12,..

y=12 ..
then

I) Find the marginal distribution of X and .
i) AreX andY independently distributed ?

c) 1) Discuss various components of time series.
i) State merits of moving average method.

d) 1) Prove that Poisson distribution is a limiting case of Negative Binomial
distribution.

i) 1f X, and X, areindependent and identically distributed NB (1, p), find the
probability distribution of Y = min (X4, X,).

4. Attempt any two from the following : (2x15=30)
a) 1) State and prove lack of memory property of geometric distribution. 5
ii) Define multiple correlation coefficient. Provethat 0 < R; 53 <1. 5

iif) Deriverecurrence relation between probabilities of Poisson distribution.
State its use. 5
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b) i)

i

c) 1)

The mean diostolic blood pressure for a group of 36 adults was found to
be 79 mm. Test the hypothesis that the mean diostolic blood pressure is

75 mm. Population standard deviation is known to be 2 mm. Use 5%

L.O.S. 5
Discuss various considerations for construction of index numbers. 6
Describe stepwise Procedure of finding seasonal indices by ratio to

moving average method. 4
Define Fisher's Z-transformation. Explain how it isused to test
Ho:p1=p2VSHi:p1<p2,where p1 and P2 arethe population

correlation coefficients. 6
In ahospital it was found that 380 female and 420 male babies were born

in amonth. Do these data confirm the hypothesis that male and female

are born in equal number against the number of male birthsis more than

that of girls ? Test at 5% L.O.S. 5
Show that E[E (X|Y = y)|=E(X). 4
Obtain least square equation of regression plane of X, on X, and X. 8
Define C.GF. of adiscreter.v. state and prove effect if change of origin

and scale property of it. 7

B/11/10/205
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S.Y.B.A. Examination, 2010
ENGLISH
Special Paper — |
(Under standing Drama)
(Old Course) (2004 Pattern)
Texts Prescribed : i) The Cherry Orchard : Anton Chekhov

i) An Enemy of the People: Henrik Ibsen
i) All My Sons: Arthur Miller

Time: 3 Hours Max. Marks : 80

N.B. : i) All questions are compulsory.
i) Figures to the right indicate full marks.

1. Answer any ten of the following in not more than 40 words each : 20
1) What is unity of time ? Explain with an example.
i) Briefly discuss a modern tragic hero.
i) What is poetic justice ? Give example.
iv) Explain the term comedy and give an example.
v) What is the role of minor charactersin aplay ?
vi) What is a propaganda play ?
vii) Briefly bring out the difference between main plot and sub plot.
viii) What is dramatic conflict ? What are its types ?
iX) Define Soliloquy. Give examples.
X) Discuss some techniques used by a playwright.
xi) How is ‘Sound’ used in aplay ?
xii) What is tragic flaw ? Give examples.

xiii) Explain the concept of theme in a play.
P.T.O.
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2. Attempt any two of the following in not more than 100 words each : 10
1) Comment on the role of Trofimov in ‘The Cherry Orchard'.
i) Draw a character sketch of Mrs. Ranevskaya.
lii) Write a note on the exposition of The Cherry Orchard.

Iv) Discuss the play The Cherry Orchard as a comedy.

3. Attempt any two of the following in not more than 200 words each : 20
1) Consider An Enemy of the People as a problem play.
i) Discuss Dr. Stockmann as an idealist.
i) Comment on the father — son relationship in All My Sons.
iv) Do you feel thetitle of the play All My Sonsis appropriate ? Give reasons.

4. @) ldentify and attempt any two of the following passages and write aparagraph
each on their relevance/significance in the light of the points given below. 10

1) (taking his hat and stick). It shall be made public all the same. | will
read it out at a mass meeting of the townspeople. All my fellow-citizens
shall hear the voice of truth !

» The speaker’s courage and defiance.
» Anticipation of the climax.
i) Dismissed from the staff of the Baths. | shall be obliged to propose that

you shall immediately be given notice, and shall not be allowed any
further participation in the Baths' affairs.

» The speaker’s power and authority.

* Itsthematic significance.
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iii) About four this morning [Indicating window above them] | heard it
cracking and | woke up and looked out. She was standing right here
when it cracked.

» The symbol of the apple tree.
* The theme highlighted.

Iv) Well, sure .... [To George] | mean except for that flu [George stands
perfectly still] Well, it slipped my mind, don’t look at me that way. He

wanted to go to the shop but he couldn’t lift himself off the bed. | thought
he had pneumonia

» The speaker’'slie.
 The conflict hinted at.
b) Attempt any two of the following : 20
1) Consider the play An Enemy of the People as a modern tragedy.

i) Discuss how Ibsen attacks the principles of democracy in An Enemy of
the People.

iii) Do you agree that Miller's play All My Sons has a compact and well-
knit structure ? Discuss.

iv) Express your views on Joe Keller as a hero.

B/11/10/975
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S.Y.B.A. Examination, 2010
PHYSICAL EDUCATION
(2004 Pattern) (Old)

Time: 3Hours Max. Marks: 80

N.B.: 1) All questions are compulsory.
i) Figuresto the right indicate full marks.
iii) Draw neat diagrams wherever necessary.
1. Answer the following in 20 words each (any ten) : 20
1) Jumping Eventin Athletics.
i) Specific exercise for hand ball.
i) Basicskillsof volley ball.
Iv) Movement in high jump.
v) What ishealth ?
vi) Duration of senior men Kabaddi match.
vii) Required fitness components for long jump.
viii) What is physical education ?
iX) Defineendurance.
X) Write the name of any four exercise.
xi) DefineFirst Aid.

xii) Which arethe Indian games ?

P.T.O.
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2. Answer the following is 50 words each (any two) : 10
1) Explaintheimportance of physical exerciseinlife.
i) Explain about ‘ planning of sports competitions'.
i) Writefollowingterminbrief :
a Timeout b) Of-side
3. Answer the following in 150 words (any two) : 20
I) Explaininbrief any two lead up gamefor volley ball.
i) Write the importance of physical fithessin sports.

i) Explainin brief the position of * Suryanamaskar’ .

4. Answer the following in 300 words each (any two) : 30
1) Explain effect of exercise on muscular system.
ii) Draw aneat diagram of ‘Discusthrow’ and writeitsfouls.

i) Draw aneat diagram of volley ball and writeitsbasic rules.
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S.Y.B.A. Examination, 2010
MATHEMATICS (Old Course) (2004 Pattern)
Linear Algebra (General —1I1)

Time: 3 Hours Max. Marks : 80

N.B.: 1) All questions are compulsory.
2) Figuresto the right indicate full marks.

1. Answer the following questions : 16
1) Find parametric equations of a line through (1, 2, —3) and parallel to the
vector v = (4, 5, 7).
i) Determine whether the set W = {(x,y,z) OR% x +y + z = 1} is subspace
of R® 2 Why ?
i) State dimension theorem and hence find nullity of matrix A, if A is of
rank 3 and order is 5x10.

iv) Determine whether T : RZ _. R3defined by T (x,y) = (X, X+y, x+3) is a
linear transformation.

1
v) If A isinvertible matrix and det A # 0 then show that det (A1) = delA

vi) Let W = @/1 D\/_ BV B—\/_ \/_ % be orthogonal set of

vectors in R3 with Euclidean inner product. If u = (1, 2, 3) compute
projection of u on w.

vii) If A isan nxn orthogonal matrix then prove that det A = + 1.

viii) Expressthe quadratic form X2 +X5 X2 =x5 +2x,x, =10x X, +4x.x,

in matrix notation X'AX where A is symmetric matrix.

P.T.O.
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2. A) Attempt any one of the following : 6

1) If A and B are two matrices such that the product AB is defined, then
prove that (AB)t = Bt Al,

i) Let Sbeasetwith two or more vectorsin avector space V. Provethat S
is linearly dependent if and only if atleast one of the vectorsin S is
expressed as a linear combination of the rest of the vectorsin S.

B) Attempt any two of the following : 10

i) Show that the set of vectors P; = 5, P, = —6x + x2 and P, = (3-x)? are
linearly dependent in P,

i) Solve the system by Gaussian elimination method.
Xp+ 2%+ X3+ %X, =0
33Xy +4x, =2
Xg— 4Xy — 2X5 — 4%, = 2.
iii) Let V = R3, the vector space of ordered triples of real numbers.

If W ={(x,y,2) OR32x + 3y + 4z = O}, show that W is a subspace of V.

3. A) Attempt any one of the following : 8
i) Definebasisand If B={ T4, Uy, w.voevee. U isabasisfor avector space V.
Then prove that every set with move than n vectors from V is linearly
dependent.

i) If T:V - Wisalinear transformation from an n-dimensional vector space
V to avector space W, then prove that Rank (T) + Nullity (T) = Dim V.

B) Attempt any one of the following : 8
1) State and prove Cauchy — Schwarz inequality.

i) Expressthe Gram — Schmidt process for transforming a basis of an inner
product space V to the orthonormal basis for V.
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4. A) Attempt any one of the following : 6
1) If K is a positive integer, X is an eigen value of a matrix A, X isa
corresponding eigen vector then prove that AKX is an eigen value of AK
and X is a corresponding eigen vector.

i) Prove that every square matrix satisfies its characteristic polynomial.
B) Attempt any two of the following : 10

1) By using adjoint method find the inverse of the matrix

03 1 00
A= 2 -4 30
Hs a4 -2H

Ll
i) Use Cramer’s rule to compute the solution of the equation.
XxX+y+z=1
2X+3y+4z=1
XxX—-y—-z=0.

Iii) Find the eigen values and eigen vectors of the matrix.

2 -1 10
A=L10 3 -10

2 1 3

5. A) Attempt any one of the following : 6
i) Show that the vectors V | = (B, %5, 0) V,= (#5350, V3=(0,0,1)
form an orthonormd basis for R3 with Euclidears inner product. Find the co-
ordinatesof (1, -1, 2) relative to thisbass.

i) Reduce the quadratic form

2 2 2 _ _
2x1 + 5x2 + 5x3 +4x1,x2 4x1x3 8x2x3 to sum of squares.
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B) Attempt any two of the following : 10
1) Test the consistency of the system
Xy + Xy +2X3=8
X1 — 2%y + X3 =1
3Xy — X5 + 4X5 = 10.
If consistent, find the solution of the system.

1
i) Let P, bethe vector space with inner product < p, g, > = 1[1 p (X). q(x) dx.

If p(x) =1 and q(x) = x show that p and q are orthogonal. Further verify
pythagorus theorem.

42 7 6C
iil) Evaluate the determinant of the matrix B = Bg é _jE by using
L L

signed elementory products.

B/11/10/215
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S.Y.B.A. Examination, 2010
MATHEMATICS (Special — 1) (Old Course) (2004 Pattern)
Differential Equations and Complex Variables

Time: 3 Hours Max. Marks : 80

N.B. : 1) All questions are compulsory.
I1) Figuresto the right indicate full marks.

1. Attempt the following questions : 16
1) Determine the unique solution of the initial value problem

2
d—>2'—2d—y+y=o; y(0)=7;Btle =4,
dx dx [0X Ty

Given that e and xeX are the solution of the differential equation.

d
i) Solve (D+3)f’y =0whereD =

i) Find the particular integral (P. 1.) of (D2 +3D+ 2)y = e,

Iv) State Euler’s equidimensional equation.

z+1
v) Determine the points of discontinuity of the function f(2) = e
vi) Show that u(x, y) = x% — y2 + x is harmonic function.
vii) Evaluate exp (8i).
viii) Find the zeros of the function z3 + 322 —z — 3.
2. A) Attempt any one of the following : 6

i) Let y, and y, be two solutions of the differential equation

2
d_32/ + p(x)j_y +q(x) y = 0. Then prove that their Wronskian
dx X

W(x) =Wy, y,|(x) =y, ¥, -V} ¥, satisfiesthefirst order differential

equation Z—W +p(x) W =0.
X

P.T.O.
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i) Let p(x) and g(x) be continuous in the interval (o, B) and let y, and y,

2
be two solutions of the differential equation % + p(x)j—i +q(x)y=0.

Prove that the Wronskian W(x) = W [y4, Y¥,] (X) is either identically
zero or it isnever zero on the interval o <x <f3.

B) Attempt any two of the following :

2
i) Given that y, = x is asolution of x2%+2xj—y—2y20.
X X

Find the another solution y, using y;.

i) Solve (Ds _3D2+ 4)y = e,

iii) Solve x%"+2xy' -6y =0 by changing the variable coefficients to
constant coefficients.

3. A) Attempt any one of the following :

1) Let f(D) be a polynomial in D with constant coefficients and v is a

function of x. Prove that iea" v =e* G# v and hence solve
f(D) f(D +a)

(D2 —1)y = e* cosX -

i) Explain the method of solving the differential equation

2
% + p(X)j—i +0(x) y =r(x) by the method of variation of parameters.

B) Attempt any one of the following :
1) Prove that the function f(z) =z is continuous but not differentiable.
i) @ Determine the analytic function f(z) =u+iv,if v =2xy and f(0) =1.
b) Find all valuesof i'.

10
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4. A) Attempt any one of the following : 6

i) Inametric space C, if G;, G, ....... , G, are open sets in C, then prove
n
that {1Gk isan open setin C.
k=1

i) Prove that the necessary condition that afunction f(z) = u(x, y) +iv (X, y)
to be analytic at a point z = x + iy of itsdomain D is that at (x, y) the
first order partial derivatives of u and v with respect to x and y exist and

they satisfy Cauchy-Riemann equations ~——=""-""=-_""_,

B)Attempt any two of the following : 10
1) Prove that an analytic function with constant modulus is constant.
il) Find the real and imaginary parts of the function Tan (x + iy).

1+i
lii) Find the value of the integral I (x —y +ix?) dx along the real axisfrom
0

z=0to z =1 and then aong parallel to imaginary axisfrom z = 1 to
z=1+1.
5. A) Attempt any one of the following : 6

i) If f(z) is analytic within and on a closed contour C and Z is any point
inside C, then prove that

[ "2 7= omit(z,).
c £7 4

i) State Residue theorem and evaluate

372 +2
i (z-1) (2% +9) az

by contour integration. Where C is the circle | z-2|=2.
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B) Attempt any two of the following :

1) Expand f(z) = -

dz

Z+6
2_

iii) Evaluate [ 2,
C

z

where Cisthecircle \ zZ+2 \ =1.

21 de
iii) Evaluate _([ c+45n8"

for1<‘z‘<2.

10

B/11/10/100
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SY.B.A. Examination, 2010
LOGIC AND METHODOLOGY OF SCIENCE
General — Il : Formal and Relational Logic
(Old) (2004 Pattern)

Time: 3 Hours Max. Marks: 80

N.B. : 1) All questions are compulsory.
2) Figuresto the right indicate full marks.

1. Answer in one or two sentences (any ten) : 20
1) What is meant by a multiply general proposition ?
2) What is meant by a subset ? Give an example.
3) What is the name given for tautologies in predicate logic ?
4) What is meant by a Predicate constant ?
5) State any two wffs.
6) State the rule of El (preliminary version).
7) Interpret the meaning of ‘O’ proposition with the help of Venn Diagram.

8) Give an equivalent proposition based on the rule of Quantificational
Negation (X) (Fx > ~GX).

9) State the example of a Non-transitive relation.
10) State any two propositional functions.
11) What isarelation ?
12) Give an example of a Definite Description.

13) State any two Rules of Formation of PM System.

P.T.O.
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2. Symbolize the following propositions with the help of the symbols given in
brackets (any five) : 10

1) All workers are lazy. (Wx : x isaworker, Lx : x islazy)
2) Some grapes are not sweet. (GX : X isagrape, SX : X IS sweet)
3) Not al executives have secretaries. (Ex : X is a executor, SX : X is a secretary)

4) All girls and boys are very happy. (Gx : x isagirl, Bx : x isaboy, Hx : X is
happy)

5) Some tigers and lions are malnourished. (Tx : x is a tiger, Lx : x is lion,
Mx : x is manourished)

6) No saints have supernatural powers. (Sx : x isasaint, Nx : x has supernatural
powers)

7) Computers and printers are very costly but useful. (Cx : x is a computer,
Px : x isaprinter, Sx : X is costly, Ux : X is useful)

3. Answer any two of the following : 20

I) Prove any three of the following Theorems of the PM System using the
Axioms listed below :

AXxioms :

DPEvp op

a5 (Pvaa

B pPvao>@vp

@ pPv@vn)o@vpvrn)
G)@onNnopPvaospEvn)

Theorems :
D PE>~-p>-p
2 p>~-p

dad>(pP>0
4 pPpo~)>@>~-p
G)pPpo>@onN)>@>(E>1)
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1) If

1)

V)

U={123,5 6,8, 11, 12}

A={23,5 8

B={1 2 4}

C={1, 11, 12}

Then list the elements of the following sets.
1) ~A yC

2) Bn~C

3y (An~B)u ~C

4) CuB

5 ~CNA

Explain briefly any two of following concepts :
1) Independence of an axiomatic system

2) Instantiation and Quantification

3) Definite Description

4) Rule of Ul (revised version)

Prove the Validity of following arguments (any two) :

1) (X) (Ax D BXx)
~Bt /... ~ At
i) (X) Nx o Ox)
(X) Px o Ox)/... (X) [(Nx v Px) o Ox]
i) (x) Ix o Jx)
(3X) (Ix. ~Ix) /.. (IX) (X D 1xX)

[3801] — 676
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4. Answer any two 30

I) Demonstrate the Invalidity of the following arguments (any three) :
1) (3x) (Ax . B2)
Ac/.. Bc
i) (x) (Ex DFx)
(X) Gx © Fx) /.. (X) (Ex o GX)
i) (X) Wx o Hx)
(3X) (Ex . Hx.) /.. (X) (Wx D EX)
iv) (X) (Hx o ~1Ix)
(3X) (X . ~Ix) /-, (X) Hx 2 XX)
I1) Explain the relation of identity as a rule of inference.

I11) What is a set ? Explain types and operations of sets.

V) Prove the validity of the following arguments (any three) :

1) Meena has the same weight as Renu. Renu has the same weight as Komal.
Therefore, Meena has the same weight as Komal.

2) (x) (y) Rxy © ~Ryx/ (x) ~ Rxx
3) (%) (Rx 5 SX) /... Rx (3x) (Rx . SX)
4) (X) (Ax > BX)

(3y) Ay /.. (3x) Bx

5) (3x) Cx o (y) Dy /.. (x) (Cx = (y) Dy)
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TS EUTR

EAT: ¢) Gd J9T GISI0 ATTTIH TR,
?) ITEIHSIT 37% Ui T G
3) 7@ ZUAI T FIE] TETE,

%. Il Ueh /4 19T 3T &1 (ShIUTET 221) ¢ R0
%) g AT fauH v e 7

R) HIEIUS TR hid ¢ 3Tl AT

3) fag qeheTeITd Tea: T fIeHeeiET S/ e S ?
¥) o899 =R v T 7

4) RIVTCAET & Fafed 3 =,

&) El from (smerfiss wigeft) @im.

) 'O farermTen S7ef S8 TR =T TR T .
¢) TEATIshR gt smem (X) (FX 5 ~ GX) 31 fagmm awes e g,
R) TaraTEt TsterT! Uk 3eTeL .

%0) Il g farerm et .

%%) GEY RN Y 7
%R) Tafsra i 3T an 7

23) o). uH. Yorelidict i Sivae! <1 fH=m g,



[3801] — 676 6- AR AN

2. HATd foctean fareran g @refiet faemmr famee 0 (shTorearg urer) %0
%) Td TR ATt Aed. (WX : X BT FHIETR 3178, LX @ X T T3t 371R.)
R) W 51 e AT, (GX : X § FT& 377, SX : X B HE 3R)

3) Td AR ATeR F9dqTd. (EX : X 81 ATLHRY 31, SX : X & T AR,

¥) Td Heft 31for ot Gu AHfed 3Tmed. (Gx: X Gerft 3112, BX : X Jel 37Te, HX @ X ST
HTR)

W) et are Tfor e it oTd. (Tx : x 3™ o1, Lx : x 8@ 311, Mx © x Faifya o112,
§) UehTe! TdTehe AT fiish Ihl eI, (SX ; X Td 3118, NX : X %8 faafites Ihl 3TR.)

\5) TTuTeR AT fiedd WU Wer uv Iugh ed. (CX @ X T 3R, P 1 x i o1,
SX : X HEWT 3118, UX : X 3T 3TR)

3. WIATAUeh! VTR STt 3T 00 : 0

) ot.um. gomefidicl qeict THY feciedn qermeami= aeram fig U (Siorde §iF) :

HATIR .

D Pvp)op

a5 (Pvaa

B pPvao>@vp

@ pPv@vn)o@vpvrn)
G)@onNnopPvaospEvn)

Tay
D @PE>2~-p>-~p
@Qp>2~~p

3d> (>0
4 Po>~9>@>-~p)
G)Po@2nN)>@>(pE>r)
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1) ST
U={1,235,86,8, 11, 12}
A={2 3,5, 8
B=1{1, 2, 4}

C={1, 11, 12}

I W Glefiel FaTdict Taere ATel T
) ~AC

2)Bn~C

3) (AN ~B)uU~C

4) CuB

5) ~C N A

111) ETciierish! SIvITE! E1 Hohour ol TSR ] :
%) SSITIAT Jg=h Tasrar
R) 3ETETUIERTOT SATIOT TR tehtoT
3) Ffaanha
¥) U.l. = fm (wnefies areofh)

V) SHIvTeTe i FehaTar=i aar &g .
1) (X) (Ax D Bx)
~Bt /... ~ At
i) (X) Nx o Ox)
(X) Px o Ox)/... (X) [(Nx v Px) o Ox]
i) (X) Ix D X)
(3x) (Ix. ~Ix) /... (IX) (X D IX)

[3801] — 676
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¥. ShHIVTCITE! ST 3T : 30
%) G TeTush! SRIvTITET e YRAaTar STl fHg 4 :

1) (3X) (Ax . Bz)
Ac/.. Bc

i) (x) (Ex oFx)
(X) Gx © Fx) /. (X) (Ex o Gx)

i) (X) Wx o HXx)
(3X) (Ex . Hx.) /.. (X) (Wx D EX)

Iv) (X) (Hx © ~1x)
(IX) (X . ~1Ix) /. (X) HXx 2 X)

R) ITIAMTT Ueh T3 FeU[d deadT/ATETe Tyl HfoReal T 3.

3) T TRV 1 ¢ G Ty TR 9 careaTdier STl T .

¥) QTeAIcTieh! SITCTal e FfchaTare Jerad &g o ;

%) HHTE I W1 ISHTEAh T8, [ a9 hiHT<AT asHIgdeh 318, FeUd HHTd a5

I ST TR,
) (X) (Y) Rxy o ~Ryx/ (X) ~ Rxx
3) X) (RX o SX) /.. Rx (3x) (Rx . SX)
¥) (X) (AX > BX)
(3y) Ay /- (3x) Bx
4) (3X) Cx > (y) Dy /.- (x) (Cx > (y) Dy)

B/11/10/100
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SY.B.A. Examination, 2010
ANCIENT INDIAN HISTORY, CULTURE AND ARCHAEOLOGY
General Paper — ||
(Outline of Political, Social and Economic Institutions of Ancient India)
(600B.C.t0 1200 A.D.)
(2004 Pattern)

Time: 3Hours Max. Marks: 80

N.B.: i) All questions are compulsory.
I1) Figures to the right indicate full marks.

1. Answer the following questionsin 20 words each (any 10) : 20
1) What isa*Source' ?
2) Explainthe concept ‘Institution’.
3) Write any two dutiesof a‘King'.
4) Nameany two Ganargjyasin Ancient India
5) State any two sources of the kingship under Mauryas.
6) Write the importance of a‘Minister’.
7) What wasa'‘Divya (ordeal) ?
8) Explain the concept ‘class'.
9) Write the main number of sacraments according to Dharmashashtras.
10) Name any two scholar women in ancient times.
11) What was‘Agrahara’ ?
12) Namethe present statein whichthe university of Vallabhi existed.
13) Defineterm‘Karshapana'.
2. Answer the following questions in 50 words each (any two) : 10
1) Methodsof electionin Ganargjya, elucidate.

2) Write ashort note on the ‘ council of ministers'.
P.T.O.
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3) Explaintheconcept ‘Varnashrama'.
4) Statethedifferent weightsinAncient India.
3. Answer the following questions in 150 words each (any two) : 20
1) Explainthe concept of kingship under the Kushanas.
2) What do you know about the Sabha and Samiti ?
3) Discussthe different types of marriage.

4) Takeareview of theforeign trade on ancient times.

4. Answer the following questions in 300 words each (any two) : 30
1) Writetheimportance of archaeological sourcesfor ancient institutions.
2) Explainthejudicial systemsinancient India
3) Discuss the relevance of Sacraments.

4) Describe the trade and commerce from Mauryas to Guptas.

8T YT
T ;i) Gd J SEEE 3R
ii ) ITFaieeicr 37 qof o7 G
1. Gt ge=ht gesht 20 YeaTd SR =T (FIemel <) 20
1) ‘wreH’ S w7

2) ‘G & et TIse .

3) TSIt shIvTde! & el fote.

4) T TRAT S ShIvTeITal S TURTST=N =1 2,
5) TRIhTe 71 TsTaeT=d STl §H I T,

6) Wt Il HE foral,

7) fo=x’ oo & 7

8) ‘e’ €l HehouHT TUSE AL
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9) THRTRATATIHR JHE GEhRI SET foral.
10) I FAESTdi wiveTel e fagm St 7 .

11) “oTER TS A ¢
12) =gt foremdie <o Stepmft stfedmaTa Bid I eIl SeaTel TSI 1d =l
13) “shrstaur’ 21 Tl ST .
2. WAl TeT Tedisht 50 Treerd 3t foreT (10t 9) : 10
1) “ToRTSHATA SR wEdt fow .
2) ‘wAftuess’ wrer witred 2t forar.,
3) ‘Fuiism’ € HeheuHT T .
4) g araTdie fafae as= amm.

3. Tretiel JeATEl Teeht 150 vreerd W fofet (Fivrde! 3F) 20
1) SHUTOTT=H TSTIET=H HeheHHT TS 3.
2) T AT A} = fereeft qrete s wifedt o112 7
3) faarer=n fafae yerrrh <= #.
4) I TGS Teh SHATIRI=T STETaT 2T,

4. Tt SeATE Tkt 300 YreeTd 3w TRt (FIdE! a) 30

1) ST T QU R e e ot

2) 9T ARATA I e a& T €9 6,

3) TERRI=AT HEw@T=h == .

4) W d T FITESTA SATIR AT W 0 3,

B/11/10/100
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SY.B.A. Examination, 2010
STATISTICS (General —11)
Sampling Designs, Sample Survey and Statistical Quality Control (Old Cour se)
(2004 Pattern)

Time: 3Hours Max. Marks: 80

N.B. : 1) All questions are compulsory.
i) Figuresto the right indicate full marks.
i) Use of statistical tables and calculator is allowed.
Iv) Symbols and abbreviations have their usual meanings.

1. Attempt any ten of thefollowing : (10x2=20)

a) State the unbiased estimator of the population proportion and population
total.

b) What isthe main reason of using an auxiliary variate correlated with the variate
understudy in ratio estimation ?

c) What arethetwo statistical considerationsin determination of the samplesize?

d) State the reason that makes Neyman’'s allocation procedure better than
proportional allocation.

€) Definetheterm sampling frame.

f) Statethereal life situation where systematic sampling is appropriate.
g) Define producer’s risk.

h) Explain the term ‘High spot’ in a Control chart.

I) Definetheterm LTPD.

J) State the stabilized control limitsfor p-chart.

K) Define assignable causes of variation in SQC.

) State two real life situations where c-chart can be used.

m) Definetheterm * ASN’ in acceptance sampling plan.

P.T.O.
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2. Attempt any two of the following : (2x5=10)

a) A simple random sample without replacement (SRSWOR) of 65 girls from
1200 girlsinacertain school showed that 17 were anaemic. Estimatethetotal

number of anaemic girls and obtain standard error (S.E.) of your estimate.

b) For stratified random sampling if n, :n'TNi then obtain an expression for

V [X ] under thisallocation.

c) Explain the meaning of statistical quality control.

d) If the data on 25 samples each of size 4 gave the value of average fraction
defective p as0.03. Determine 3-sigma control limits for p-chart. Can any

point liebelow L.C.L ? Explainyour answer.

3. Attempt any two of the following : (2x10=20)

a) In SRSWOR, show that samplemean X isunbiased estimator of the population

mean. Derivethe expression for V (X).

b) i) Describe the procedure of stratified random sampling.

ii) Derivetheexpression of variance of the unbiased estimator of the population

mean in case of stratified random sampling.

c) Distinguish between :
1) Process control and Lot control
ii) Specification limits and process control limits.

d) Surface defects have been counted on each of the 10 rectangular steel plates
and the following datawas observed :
Plate No. 1 2 3 4 5 6 7 8 9 10
No. of surfacedefects: 12 15 9 14 18 26 8 6 11 12

Draw an appropriate control chart and write your conclusion.



4. Attempt any two of the following :
a) A population is divided in 4 strata. Data about a certain characteristics are

givenbelow :
Sampl
Sratum | Stratum | Sample | Sample mee‘!tone
No. Size Size Mean
square
1 100 10 25 4
2 200 12 28 9
3 250 15 30 9
4 300 20 35 16
Estimate:

I) The Population mean
i) The population total
iii) The variance of X 4.

[3801] — 682
(2x15=30)

b) 1) Explainthe procedure of systematic sampling. State an unbiased estimator

of population mean. State the formulafor its variance.

i) By complete enumeration of 430 units, it was found that the mean was 19
and variance 85.6. How many units must be drawn by SRSWOR to
estimate the popul ation mean within 10 percent margin of error and 95 %
confidence coefficient ?

c) i) Withusual notations, provethat V (Xy) pa <V (Xg) pa <V (X) srswor - 8

i) Distinguish between single sampling plan (SSP) and double sampling plan
(DSP). State the advantages of DSP over SSP.

d) i) Statevarious criterian for detecting lack of control.

i) Subgroups of 4 items each are taken from a manufacturing process at
regular intervals. A certain quality characteristicsismeasuredat X andR
values are computed for each subgroup. After 25 sub groups, it isobserved

that ¥ X=15,350 and ¥ R=411.

I) Compute control limitsfor X chart and R chart.

I1) Ifdlthepointson X and R chartsfdl withincontrol limitsandthespecification
limitsare 610 + 15. Doesthe process meet the specifications ? If not,

estimate the percent defectives of the process.

10

B/11/10/195
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S.Y.B.A. Examination, 2010
STATISTICS (Special —1) (Old Cour se)
M athematical Statistics—|
(2004 Pattern)

Time: 3Hours Max. Marks: 80

N.B. : i) All questions are compulsory.
i) Figures to the right indicate full marks.
lii) Symbols and abbreviations have usual meanings.
Iv) Use of calculator and statistical table is allowed.
V) Graph paper will be provided on request.

1. Attempt any ten of the following : (10x2=20)
a If X— Exp(%) then state its mean and variance.
b) 1f X, X, X,, X, = N(O, 1) then under independence, state the distribution of

16X

Y = _
U2 x2ix?

c) Statethe additive property of gammadistribution.
d) If X =B (2, 5) find E(10 - X?).
2

e) Definedistribution function of acontinuousr.v.x and stateitsany one property.

f) Define F-variate with n_ and n, degrees of freedom.

g) 1f M(t) = ——  find E(X).

(1-4t)
h)y Iff(x,y)=c;0<x,y<1
=0 ; otherwise

then find the value of ‘C’.
P.T.O.
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i) Statethetest statistic for testing Ho: 0° =64 against Hy o # oo When L is
unknown.

J) State any two properties of normal distribution.

K) If X = tg with P (x < &) = 0.05, find the value of ‘a.

) If X3— N (JJ.Z, cf) and X, = N (}12,03) then under independence, state the
distribution of (X;—X5).

m) If X; - N(P’ 02) I =1, 2.... nthen under independence, state the distribution
of X.
2. Attempt any two of the following : (2x5=10)

a) Describeatest of significancefor testing H, : 6;> = 6,2 against Hy : 61° # 657,
state underlying assumptions.

b) Find mode of gammadistribution with parameter (o, A).

c) If (X,Y) havejoint p.d.f.

F(X,y) = é(x+y)

=0 ; otherwise
verify whether X andY are independent r.v.s.

;Xx>0,y>0

d) Inanexperiment on peabreeding ascientist obtained thefollowing frequencies

of seeds:
Shape
Colour Round Wrinkled
Green 109 33
Yellow 316 102

Theory predicts that the frequencies of seeds should be in the proportion
9: 3: 3: 1respectively. Verify prediction at 5%1.0.s.
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3. Attempt any two of the following : (2x10=20)
a) If thejoint p.d.f. of (X,Y)is:

f(x,y)=x+y ;0<x<1
O<y<l1
=0 ; otherwise

Show that Corr (X, Y) = _%1'

b) If X — Exp (%) then obtain its mean deviation about mean.

c) Stateand proveinterrelations between:
1) tand F distribution

i) Fand %~ distribution.

d) If X andY are two independent chi-sgquare variates with n, and n, degrees of

freedomthenshowthatU=X+Yand V = areindependently distributed.

X+Y
4. Attempt any two of the following : (2x15=30)

a) 1) The hours of sleep for 10 patients before and after giving a new drug are
recorded. Test whether thereisasignificant differencein the average hours
of deep at 5% level of significance.

Patient No. 1 2|34 |5|6|7(8)|9]10
Hoursof deep (before) | 6 5 (7| 7 | 8| 9|6 |6 |7 8
-
Hours of deep (after) 7 8|75 9|7 |65 7|8 |85|7
i) Let X be N (,,L 52) variate. Show that all odd ordered central moments are
zero and all even ordered central momentsare given as:
(2[’)! 2r
Mor="—7"6 -r=0,1,23... 3

2r.r!
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b) i) Define student’s t-variate with n-degrees of freedom and deriveits p.d.f. 7

-12
1 —X
II) |ff(X):ﬁez <X <o
=0 ; otherwise
then obtain probability distribution of Y = X2 8

c) i) Let X, X, ... X, bei.i.d. N(5, 10) variates.

O v o2
Calculate P[Z (Xi-5) 2 72-67]. 5
i=1
1
i) If X = F(n, n)) then find the probability distribution of ———. 10

(1+ AL X )
n;
d) i) State and prove lack of memory property of exponential distribution with
mean g . 5

i) Let (X,Y) havejoint p.d.f.:

f(x,y)=2 ;0<x<y<l1
=0 ;otherwise

Find conditional distribution of X givenY =y. 5

i) If X and & denote the mean and variance of arandom sample of size 16
from N(20, 25) population. Find

P(L9< X < 21.5,13.354< S’ < 34.854) 5

B/11/10/190
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SY.B.A. Examination, 2010
PHILOSOPHY
Special Paper — 1 (Old Course) (2004 Patter n)
(Epistemology and M etaphysics : Indian Approaches)

Time: 3 Hours Max. Marks : 80

N.B.: 1) All questions are compulsory.
2) Figuresto the right indicate full marks.

1. Answer any ten of the following questions in one or two sentences (20 words)
each : 20

1) State Avedic systems in Indian Philosophy.
2) Explain the term Purvapaksa — Uttarpaksa.
3) What does Swarthanuman mean ?
4) What is meant by Swatahpramanya ?
5) Give any two conditions of Sad-Hetu.
6) What is meant by Syadvaad ?
7) Name the Nyaya view of Causation.
8) Explain the term Purusha in Samkhya Darshana.
9) Explain the term Pratityasamutpada.
10) State the Trigunas of Prakriti.
11) State the Tatastha Laxan of Brahman.
12) What is the nature of God according to Yog Darshana ?
13) What is the nature Praman according Charvak Darshana.

2. Write short notes on any two of the following in five or six sentences
(50 words) each : 10
1) Bhasya Parmpara
2) Shabda Praman
3) Vivartavada
4) Charvak’s Materialism.

P.T.O.
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3. Answer any two of the following questions in 25 to 30 sentences (200 words)
each : 20

1) Explain with illustration three kinds of Anumana in Nyaya Darshana.

2) State and discuss Anekantvad.

3) Explain fully the nature of Padartha in Vaisheshik Darshana.

4) Describethe relation between Jivaand Brahman in Advait VVedant Darshana.

4. Answer any two of the following questionsin 50 to 60 sentences (500 words) : 30
1) What is meant by Khyativad ? Explain Akhyativad in Mimasa Darshana.
2) Write an essay on Paratahpramanya and Swathapramanya.
3) Critically examine the Buddha Darshana’s theory of causation.
4) Elaborately discuss Samkhya Darshana's theory of Sarga.

AT YT
g : 1) & o7 Gsav T e,
2) IFdiwSIcT 37 qU JoT R,
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w

)
)
)
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)
)
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3
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10) BrperEmE.

11) ‘SEA’ = e AL T,

12) I SIATTER SV T T 3R 7
13) JHTOTorSRt <aieh ST gfseehiF I TR 7

2. WiATAYh! HIVCATR] SR Tcshl Il AT HaT 1T 9 fofeT (=T 31e¢) 10
1) TS W
3) %13
3) foardam
4)

3. WIicAsh! SHIVCATR] 1 3T IR Tcdeh! U=ei| AT o J1eTd & (IS 3168 20
1) AT ISTEMER =T SR STFHHT < TR T .
2) AHTAITE [T ATIOT Tt =t bl

3) AT FRHTIER TaTie T&Y Hiet TIe 3.

4) A QT Siid ST SIE AT HeeT Ui .

4. Gl I 3 T IW Tl U=TTE AYST |18 JTrITd o1 (IrEst 3165 30
1) EfdaTe Teus 1 ¢ HHTETesHTd e STEITdeTe TS .
2) ;IO ST Old: ATHT e et foaa.

EIcIEIE] ‘3-|I|(‘|°h°||d

o

3) g STt HrRiRYT frgr=are ferehieaen udeqor .

4) 9T ST G gt aferedr == o,
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SY.B.A. Examination, 2010
NATIONAL SERVICE SCHEME (N.S.S)
General — |1 : Personality Development, L eader ship and Communication
(2004 Pattern) (Old Pattern)

Time: 3Hours Max. Marks: 80

N.B.: 1) All questions are compulsory.
2) Figuresto the right side indicate full marks.

1. Answer in 20 words each (any ten) : 20
1) What ismeant by Personality Development ?
2) State the concept of Human resource.

3) What is meant by village adoption ?

4) State the concept of Government agencies.

5) What ismeant by village leadership ?

6) What is meant by field work ?

7) State the concept of communication.

8) Givefull form'sof N.G.O'S.

9) What ismeant by Special Camp ?
10) State the concept of Moral Devel opment.
11) What is meant by Peopl€’ s Participation ?
12) State the concept of action programme.

13) State the concept of Training.

P.T.O.
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2. Answer in 50 words each (any two) : 10
1) Statethe principles of development.
2) Statethe organisation of personality.
3) Explainthefunctions of leadership.
4) Explainthe Aimsof village adoption.

3. Answer in 150 words each (any two) : 20
1) Explain the social development and social competence.
2) Explainthequalitiesand function’ s of leadership.

3) How can the Government and Non-Government agencies be participated in
N.S.S. activities.

4) Which activities can be arranged by N.S.S. in adopted village ?

4. Answer in 300 words each (any two) : 30
1) Explain the nature and aspects of development.
2) Explain the methods and tools of training of political |eader.
3) Why is the action programme are necessary for field work ?

4) Explain the co-relationship between the political leadership and social
development.
AT YT
o : ¢) & e ISl I 3TE.
?) ITimeicT 3% qUf T S,
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3. T Q4o ITeCTd IR fotaT (Fivrde! aM) ¢ 20

%) TTioTen forehTe STTfoT TTaTiTeR TaTH R TUse .

R) ST TUTET ST R g R
3) UH. ASH=AT HRIHHATT TERRT 9 oA TXATT €T M TR TR SIg ITehard ¢

¥) ek AT U 8. ST HTohd shivTd i TefadT JdTd ?

o

¥. Tl 300 FTeeTd I ot (FIVIaE 2F) 30

%) ToemaTe Taed SATfT Teeh |/ TS T .
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SY.B.A. Examination, 2010
(Vocational Course)
FUNCTIONAL ENGLISH
Paper — 111 : Written Communication in English and Introduction to
Broadcasting in Media (Old Course)
(2004 Pattern)

Time: 3Hours Max. Marks: 60
Instructions. : i) All questions are compulsory.
i) Figures to the right indicate full marks.
1. A) “Commercidisationand privatisationof TV hasnegatively affected thesociety.”
Write a paragraph of about 250 words in support of the above statement. 15

B) Look carefully at the picture‘ Fire at Park Street’. Describe the picture in about
250 words. 12

P.T.O.
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SY. B.A. Examination, 2010
TRAVEL AND TOURISM MANAGEMENT
(Vocational Course)
(Paper — 111 : Tourism Marketing) (Old Syllabus)
(2004 pattern)

Time: 3 Hours Max. Marks : 80

Instructions : 1) Attempt any four questions.
2) Figuresto the right indicate full marks.
3) Draw neat diagrams and sketches wherever
necessary.
4) Use of map stencil is allowed.

1. Explain product mix. 20
2. What role does nutrition play in tourism industry ? 20
3. How is tour package designed ? 20
4. Write a note on marketing implications. 20
5. Linkage between transportation and tourism industry. 20
6. Write short notes on any two. 20

1) Umbrella brochure

i) Shikara

Iil) Geographic segmentation

iv) WTO.

B/11/10/100
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S.Y.B.A. Examination, 2010
TAX PROCEDURE AND PRACTICES (Paper —111)
(Vocational Course) Income Tax
(Old Pattern — 2004 Pattern)

Time: 3Hours Max. Marks: 60

Instructions : 1) All questions are compulsory.
2) Figuresto the right indicate full marks.

1. Answer in 20 words each (any seven) : 14
1) What is meant by ‘ Revenue Receipts and capital receipts ?
2) What ismeant by ‘ Assessment Year’ ?

3) What is meant by ‘Best Judgement Assessment’ ?
4) What is meant by ‘Refund’ ?

5) What ismeant by ‘ Rectification of Mistake' ?

6) Who isrequired to pay ‘Advance Tax’ ?

7) How many Block-of-Assets for depreciation ?

8) Whoiscalled ‘Resident of India ?

9) Discuss deduction u/s 80 U.

10) Who can sign return of income ?

2. Answer in 50 words (any two) : 8
1) Who hasto pay ‘Advance Tax’ ? When ?
2) What ismeant by ‘Revision’ ?Explain kinds of revisionsunder |. T. Act.
3) What is meant by ‘ short term capital gains' ?
4) Who iscaled ‘ Assessee’ ?

P.T.O.
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3. Answer in 150 words (any three) : 18
1) Discuss powers of Income Tax Officer.
2) What is meant by Income from other sources ?
3) Who can make First Appeal ? When ? How ?
4) Explain set-off and carry forward of losses.

5) What are the provisions of clubbing of incomes ?

4. Write long answer in 500 words: 20
1) What is meant by ‘ Assessment’ ? Enumerate and discuss types of
assessments.
OR

Mr. R. submitsfollowing information for year ended 31-03-2010.
1) Sdary Rs. 14,000/-p.m. 20
2) His employers contribution to P.F. 20% of salary he contribute 10% of
sadary.
3) Employer provided motor car of 1.8 Hrs capacity for his personal aswell
as office use.
4) Employer provided 2 domestic servants paid wages Rs. 1000/-each.
5) Employer provided rentfree accommodation in Pune.
Compute his taxable income and tax payable.

B/11/10/100
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S.Y.B.A. Examination, 2010
ADVERTISING, SALES PROMOTION AND SALES MANAGEMENT
Paper — 111 (Vocational)
(Advertising — I1) (2004 Pattern)

Time: 3Hours Max. Marks: 60

N.B.: 1) All questions are compulsory.
2) Each questions carry equal marks.

1. What do you mean by Television Advertising ? Describe the advantages and
disadvantages of advertising in Television.

OR

What do you mean by Outdoor Advertising ? Describe the merits and demerits
of outdoor advertising.

2. Which mediawould you prefer for advertising the following products ? Justify
your answer.

a) Bye-cycles

b) Tubelights

c) Insurance Policy.
OR

Narrate the functions of Ad. Agency.

3. Explainthe concept of Advertising effectiveness. Describe the post-testing
methods of evaluating advertising effectiveness.

OR
Describe the Pre-testing methods of eval uating advertising effectiveness.

4. Write short notes (any three) :
1) MediaPlanning
2) MediaReach and Frequency.
3) ProblemsinReachingRural Audience.
4) Regulationsfor AdvertisinginIndia
5) Agency Commission and Fee.

B/11/10/100



A Y R [3801] — 700-B

SY.B.A. Examination, 2010
TRAVEL AND TOURISM MANAGEMENT
(Vocational Course)

(2004 Pattern)

Paper — 1V : Travel Agency and Tour Operators Business (Old Syllabus)

Time: 3Hours Max. Marks: 80

oo o > w N P

Instructions : 1) Attempt any four questions.
2) Figuresto the right indicate full marks.
3) Draw neat diagrams and sketches wherever necessary.
4) Use of map stencil is allowed.

Elaborate on staff recruitment of travel agency. 20

Explaininbrief Indian Railways. 20

How low cost airlinesare different from full serviceairlines? 20

Writethe definition and importance of atravel agency. 20

How can road transport improve Indian economy ? 20

Write short notes on any two : 20
i) Sealink

i) Types of tour operators
i) Itinerary preparation
Iv) Ground Hostess.

B/11/10/100
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S.Y.B.A. Examination, 2010
TAX PROCEDURE AND PRACTICES (Paper —1V)
(Old Pattern) (2004 Pattern)
(Vocational Course) Wealth Tax, P.Tax, Service Tax and Works Contract Tax

Time: 3Hours Max. Marks: 60

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Answer in 20 words each (any seven) : 14
1) Statethe basic exemption and rate of Wealth Tax.
2) Under which form Wealth Tax Returnisfiled and when ?
3) Statethevariouskinds of return under Wealth Tax Act, 1957.
4) State the various kinds of assessments under the Wealth Tax Act.
5) Statethe short title, extent and commencement of the P.T. Act, 1975.
6) What isthe main object of P.T. ?
7) Who isresponsibleto pay the P.T. ?

8) Under which department and Board, the Service Tax is governed and
administered ?

9) Who is required to apply for registration ? To whom ? And in which form
number ? Under Service Tax.

10) What do you mean by “Valuation” of taxable service ?
2. Answer in 50 words each (any two) : 8
a) Statetheprovisionsfor “Valuation of Jewellery” under W. T. Act, 1957.
b) Which assets are exempted under S. 5 of W. T. Act, 1957 ?
c) Statethe P.T. rates for salaried person.

d) Statethe procedure e.filing the return under Service Tax Act, 1994.
P.T.O.
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3. Answer in 150 words each (any three) : 18
I) Which assets are taxable under Section 2 (ea) of W. T. Act, 1957 ?
I1) State any six “deemed assets’” and explain in brief (S.4 of W.T. Act)
I11) Statethe procedure of filing the return under P. T. Act, 1975.
V) Who can claim for exemption under P.T. ?

V) How the service tax payment is made ?

4. Answer in 500 words (any one) : 20

A) Explain the various provisions under W. T. Act, 1957 in respect of interest,
penalties and prosecution and appeal .

B) Statetheregistration procedure under Service Tax Act, and Rule, 1994 covering
thefollowing points:
1) Applicationform
i) Timelimitfor application
i) Centralised registration
Iv) Documents to be attached
v) Andissue of “Registration Certificate’.

B/11/10/100
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